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от 14 октO5DO 2024 7. N 04-323 

 

$едеD4лL=4O Eлу654 по =4д7оDу 6 EDеDе о5D47о64=8O 8 =4ук8 ( оEо5D=4д7оD) 6 
Eоот6етEт688 E подпу=кто< 2 пу=кт4 20 �оDOдк4 пDо6еде=8O 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 
по о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о о5D47о64=8O, ут6еD6де==о7о пD8к47о< 
�8=пDоE6еIе=8O  оEE88 8  оEо5D=4д7оD4 от 4 4пDелO 2023 7. N 233/552 (74Dе78EтD8Dо64= 
�8=NEто<  оEE88 15 <4O 2023 7., Dе78EтD4F8о==K9 N 73314), =4пD46лOет длO 8EполL7о64=8O 6 
D45оте EледуNI8е <етод8GеEк8е доку<е=тK, Dеко<е=дуе<Kе пD8 оD74=874F88 8 пDо6еде=88 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 2024/25 7оду: 

1) �етод8GеEк8е Dеко<е=д4F88 по оD74=874F88 8 пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6 2024/25 уGе5=о< 7оду; 

2) �D468л4 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 2024/25 уGе5=о<у 7оду; 

3) !5оD=8к отGет=KE DоD< длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 2024/25 7оду. 

'к474==Kе <етод8GеEк8е доку<е=тK <о7ут 5KтL доD45от4=K 8Eпол=8телL=K<8 оD74=4<8 
Eу5Jекто6  оEE89Eко9 $едеD4F88, оEуIеEт6лONI8<8 7оEуд4DEт6е==ое упD46ле=8е 6 EDеDе 
о5D47о64=8O, =о 6=оE8<Kе 87<е=е=8O (допол=е=8O) =е дол6=K пDот86оDеG8тL де9Eт6уNI8< 
=оD<4т86=K< пD46о6K< 4кт4<, Dе7л4<е=т8DуNI8< пDо6еде=8е 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 
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�D8ло6е=8е N 1 

к п8EL<у  оEо5D=4д7оD4 

от 14.10.2024 N 04-323 
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� 2024/25 'Ч���О� �О�' 

 

�еDеGе=L уEло6=KE о5о7=4Gе=89 8 EокD4Iе=89 

 

�KпуEк=8к8 
пDоHлKE лет 

Л8F4, оE6о86H8е о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о 
о5D47о64=8O 6 пDедKдуI8е 7одK, 8<еNI8е доку<е=т о5 о5D47о64=88, 
подт6еD6д4NI89 полуGе=8е EDед=е7о о5Iе7о о5D47о64=8O (8л8 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о (пол=о7о) о5Iе7о о5D47о64=8O - 
длO л8F, полуG86H8E доку<е=т о5 о5D47о64=88, подт6еD6д4NI89 
полуGе=8е EDед=е7о (пол=о7о) о5Iе7о о5D47о64=8O, до 1 Eе=тO5DO 2013 
7од4), 8 (8л8) подт6еD6д4NI89 полуGе=8е EDед=е7о 
пDоDеEE8о=4лL=о7о о5D47о64=8O, 4 т4к6е л8F4, 8<еNI8е EDед=ее 
о5Iее о5D47о64=8е, полуGе==ое 6 8=оEтD4==KE оD74=874F8OE, 
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оEуIеEт6лONI8E о5D47о64телL=уN деOтелL=оEтL 

��� �оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O по о5D47о64телL=K< пDо7D4<<4< 
EDед=е7о о5Iе7о о5D47о64=8O 

Л8F4 Eо EпD46ко9 о5 
о5уGе=88 

Л8F4, допуIе==Kе к ��� 6 пDедKдуI8е 7одK, =о =е пDоHедH8е ��� 
8л8 полуG86H8е =4 ��� =еудо6лет6оD8телL=Kе Dе7улLт4тK 5олее Gе< 
по од=о<у о5O74телL=о<у уGе5=о<у пDед<ету, л85о полуG86H8е 
по6тоD=о =еудо6лет6оD8телL=K9 Dе7улLт4т по од=о<у 87 Mт8E 
пDед<ето6 =4 ��� 6 допол=8телL=K9 пеD8од 

О5уG4NI8еEO О5уG4NI8еEO о5D47о64телL=KE оD74=874F89, оE6о86H8е 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O 6 оG=о9, 
оG=о-74оG=о9 8л8 74оG=о9 DоD<4E 

О5уG4NI8еEO !�О Л8F4, о5уG4NI8еEO по о5D47о64телL=K< пDо7D4<<4< EDед=е7о 

пDоDеEE8о=4лL=о7о о5D47о64=8O 

О�� О7D4=8Gе==Kе 6о7<о6=оEт8 7доDо6LO 

О�� ОD74=K 8Eпол=8телL=о9 6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88, 
оEуIеEт6лONI8е 7оEуд4DEт6е==ое упD46ле=8е 6 EDеDе о5D47о64=8O 

���К �E8Eоло7о-<ед8ко-пед47о78GеEк4O ко<8EE8O 

�оDOдок �оDOдок пDо6еде=8O 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 по 
о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о о5D47о64=8O, 
ут6еD6де==K9 пD8к47о< �8=8EтеDEт64 пDоE6еIе=8O  оEE89Eко9 
$едеD4F88 8 $едеD4лL=о9 Eлу65K по =4д7оDу 6 EDеDе о5D47о64=8O 8 
=4ук8 от 4 4пDелO 2023 7. N 233/552 

�оDOдок пD8е<4 �оDOдок пD8е<4 =4 о5уGе=8е по о5D47о64телL=K< пDо7D4<<4< 
6KEHе7о о5D47о64=8O - пDо7D4<<4< 54к4л46D84т4, пDо7D4<<4< 
EпеF84л8тет4, пDо7D4<<4< <478EтD4туDK, ут6еD6де==K9 пD8к47о< 
�8=8EтеDEт64 =4ук8 8 6KEHе7о о5D47о64=8O  оEE89Eко9 $едеD4F88 от 
21 467уEт4 2020 7. N 1076 

�D8к47 
 оEо5D=4д7оD4 N 
805 

�D8к47  оEо5D=4д7оD4 от 11 8N=O 2021 7. N 805 "О5 ут6еD6де=88 
тDе5о64=89 к EоEт46у 8 DоD<4ту E6еде=89, 6=оE8<KE 8 пеDед464е<KE 6 
пDоFеEEе Dепл8к4F88 6 DедеD4лL=уN 8=DоD<4F8о==уN E8Eте<у 
о5еEпеGе=8O пDо6еде=8O 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 
о5уG4NI8EEO, оE6о86H8E оE=о6=Kе о5D47о64телL=Kе пDо7D4<<K 
оE=о6=о7о о5Iе7о 8 EDед=е7о о5Iе7о о5D47о64=8O, 8 пD8е<4 7D46д4= 6 
о5D47о64телL=Kе оD74=874F88 длO полуGе=8O EDед=е7о 
пDоDеEE8о=4лL=о7о 8 6KEHе7о о5D47о64=8O 8 Dе78о=4лL=Kе 
8=DоD<4F8о==Kе E8Eте<K о5еEпеGе=8O пDо6еде=8O 7оEуд4DEт6е==о9 
8то7о6о9 4ттеEт4F88 о5уG4NI8EEO, оE6о86H8E оE=о6=Kе 
о5D47о64телL=Kе пDо7D4<<K оE=о6=о7о о5Iе7о 8 EDед=е7о о5Iе7о 
о5D47о64=8O, 4 т4к6е к EDок4< 6=еEе=8O 8 пеDед4G8 6 пDоFеEEе 
Dепл8к4F88 E6еде=89 6 ук474==Kе 8=DоD<4F8о==Kе E8Eте<K" 

 еко<е=д4F88 
���К 

ОD878=4л 8л8 =4дле64I8< о5D47о< 746еDе==4O коп8O Dеко<е=д4F89 
пE8Eоло7о-<ед8ко-пед47о78GеEко9 ко<8EE88 

 �!  е78о=4лL=Kе 8=DоD<4F8о==Kе E8Eте<K о5еEпеGе=8O пDо6еде=8O 
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7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 о5уG4NI8EEO, оE6о86H8E 
оE=о6=Kе о5D47о64телL=Kе пDо7D4<<K оE=о6=о7о о5Iе7о 8 EDед=е7о 
о5Iе7о о5D47о64=8O 

 оEо5D=4д7оD $едеD4лL=4O Eлу654 по =4д7оDу 6 EDеDе о5D47о64=8O 8 =4ук8 

 &О�  е78о=4лL=Kе Fе=тDK о5D45отк8 8=DоD<4F88 Eу5Jекто6  оEE89Eко9 
$едеD4F88 

!етL "�=теD=ет" �=DоD<4F8о==о-телеко<<у=8к4F8о==4O EетL "�=теD=ет" 

!пD46к4, 
подт6еD6д4NI4O 
8=64л8д=оEтL 

ОD878=4л 8л8 =4дле64I8< о5D47о< 746еDе==4O коп8O EпD46к8, 
подт6еD6д4NIе9 D4кт уEт4=о6ле=8O 8=64л8д=оEт8, 6Kд4==4O 
DедеD4лL=K< 7оEуд4DEт6е==K< уGDе6де=8е< <ед8ко-EоF84лL=о9 
MкEпеDт87K 

'G4Eт=8к8 8то7о6о7о 
EоG8=е=8O 
(87ло6е=8O) 

О5уG4NI8еEO, MкEтеD=K, 6KпуEк=8к8 пDоHлKE лет, о5уG4NI8еEO !�О, 
о5уG4NI8еEO, полуG4NI8е EDед=ее о5Iее о5D47о64=8е 6 8=оEтD4==KE 
оD74=874F8OE, оEуIеEт6лONI8E о5D47о64телL=уN деOтелL=оEтL 

$��' "$&&" $едеD4лL=ое 7оEуд4DEт6е==ое 5Nд6ет=ое уGDе6де=8е "$едеD4лL=K9 
Fе=тD теEт8Dо64=8O" 

$�! $едеD4лL=4O 8=DоD<4F8о==4O E8Eте<4 о5еEпеGе=8O пDо6еде=8O 
7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 о5уG4NI8EEO, оE6о86H8E 
оE=о6=Kе о5D47о64телL=Kе пDо7D4<<K оE=о6=о7о о5Iе7о 8 EDед=е7о 
о5Iе7о о5D47о64=8O, 8 пD8е<4 7D46д4= 6 о5D47о64телL=Kе 
оD74=874F88 длO полуGе=8O EDед=е7о пDоDеEE8о=4лL=о7о 8 6KEHе7о 
о5D47о64=8O 

'еD=о68к8 Л8EтK 5у<478 длO GеD=о68ко6, 6Kд4==Kе по <еEту пDо6еде=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 

1кEтеD=K Л8F4, оE64864NI8е о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о 
о5D47о64=8O 6 DоD<е E4<оо5D47о64=8O 8л8 Eе<е9=о7о о5D47о64=8O, 
л85о л8F4, о5уG4NI8еEO по =е 8<еNI8< 7оEуд4DEт6е==о9 
4ккDед8т4F88 о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о 
о5D47о64=8O, 6 то< G8Eле о5уG4NI8еEO по о5D47о64телL=K< 
пDо7D4<<4< EDед=е7о пDоDеEE8о=4лL=о7о о5D47о64=8O, полуG4NI8е 
EDед=ее о5Iее о5D47о64=8е по =е 8<еNI8< 7оEуд4DEт6е==о9 
4ккDед8т4F88 о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о 
о5D47о64=8O, пDоEодOI8е ��� MкEтеD=о< 6 оD74=874F88, 
оEуIеEт6лONIе9 о5D47о64телL=уN деOтелL=оEтL по 8<еNI8< 
7оEуд4DEт6е==уN 4ккDед8т4F8N о5D47о64телL=K< пDо7D4<<4< 
EDед=е7о о5Iе7о о5D47о64=8O, 6 DоD<4E, уEт4=о6ле==KE �оDOдко< 

 

1. ОEо5е==оEт8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

1.1. �то7о6ое EоG8=е=8е 

�то7о6ое EоG8=е=8е, E од=о9 EтоDо=K, =оE8т =4дпDед<ет=K9 E4D4ктеD, то еEтL =4Fеле=о =4 
пDо6еDку о5I8E DеGе6KE ко<пете=F89 о5уG4NIе7оEO, 6KO6ле=8е уDо6=O е7о DеGе6о9 кулLтуDK, 
оFе=ку у<е=8O 6KпуEк=8к4 D4EEу6д4тL по 875D4==о9 те<е, 4D7у<е=т8Dо64тL E6оN по78F8N. ! 
дDу7о9 EтоDо=K, о=о O6лOетEO л8теD4туDоFе=тD8G=K<, т4к к4к EодеD68т тDе5о64=8е поEтDое=8O 
4D7у<е=т4F88 E о5O74телL=K< пD86леGе=8е< пD8<еD4(-о6) 87 л8теD4туD=о7о <4теD84л4. 
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�86е пDедEт46ле=4 EтDуктуD4 (=4764=8O D47дело6 8 подD47дело6) 8 ко<<е=т4D88 к 
D47дел4< 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O. 
 

!тDуктуD4 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O 

 

  47делK 8 подD47делK 

1 �уEо6=о-=D46Eт6е==Kе оD8е=т8DK 6 687=8 Gело6ек4 

1.1. �=утDе==89 <8D Gело6ек4 8 е7о л8G=оEт=Kе к4GеEт64 

1.2. От=оHе=8е Gело6ек4 к дDу7о<у Gело6еку (окDу6е=8N), =D46Eт6е==Kе 8де4лK 8 6K5оD 
<е6ду до5Dо< 8 7ло< 

1.3. �о7=4=8е Gело6еко< E4<о7о Eе5O 

1.4. !6о5од4 Gело6ек4 8 ее о7D4=8Gе=8O 

2 !е<LO, о5IеEт6о, ОтеGеEт6о 6 687=8 Gело6ек4 

2.1. !е<LO, Dод; Eе<е9=Kе Fе==оEт8 8 тD4д8F88 

2.2. 'ело6ек 8 о5IеEт6о 

2.3.  од8=4, 7оEуд4DEт6о, 7D46д4=Eк4O по78F8O Gело6ек4 

3 �D8Dод4 8 кулLтуD4 6 687=8 Gело6ек4 

3.1. �D8Dод4 8 Gело6ек 

3.2. �4ук4 8 Gело6ек 

3.3. �EкуEEт6о 8 Gело6ек 

3.4. /7Kк 8 O7Kко64O л8G=оEтL 

 

Ко<<е=т4D88 к D47дел4< 74кDKто7о 54=к4 те< 

8то7о6о7о EоG8=е=8O 

 

 47дел 1. �уEо6=о-=D46Eт6е==Kе оD8е=т8DK 6 687=8 Gело6ек4 

&е<K D47дел4: 

E6O74=K E 6опDоE4<8, котоDKе Gело6ек 74д4ет Eе5е E4<, 6 то< G8Eле 6 E8ту4F88 
=D46Eт6е==о7о 6K5оD4; 

=4Fел864Nт =4 D4EEу6де=8е о =D46Eт6е==KE 8де4л4E 8 <оD4лL=KE =оD<4E, E8N<8=ут=о< 8 
6еG=о<, до5Dе 8 7ле, о E6о5оде 8 от6етEт6е==оEт8; 

к4E4NтEO D47<KHле=89 о E<KEле 687=8, 7у<4==о< 8 4=т87у<4==о< поEтупк4E, 8E <от864E, 
пD8G8=4E 6=утDе==е7о D47л4д4 8 о5 у7DK7е=8OE Eо6еEт8; 

по76олONт 74ду<4тLEO о5 о5D47е 687=8 Gело6ек4, о 6K5оDе 8< 687=е==о7о пут8, 7=4G8<о9 
Fел8 8 EDедEт64E ее доEт86е=8O, лN568 8 дDу65е; 

по5у6д4Nт к E4<о4=4л87у, оE<KEле=8N опKт4 дDу78E лNде9 (8л8 поEтупко6 л8теD4туD=KE 
7еDое6), EтDе<OI8EEO по=OтL Eе5O. 



 

 47дел 2. !е<LO, о5IеEт6о, ОтеGеEт6о 6 687=8 Gело6ек4 

&е<K D47дел4: 

E6O74=K Eо 677лOдо< =4 Gело6ек4 к4к пDедEт468телO Eе<L8, EоF8у<4, =4Dод4, поколе=8O, 
MпоE8; 

=4Fел864Nт =4 D47<KHле=8е о Eе<е9=KE 8 о5IеEт6е==KE Fе==оEтOE, тD4д8F8OE 8 о5KG4OE, 
<е6л8G=оEт=KE от=оHе=8OE 8 6л8O=88 EDедK =4 Gело6ек4; 

к4E4NтEO 6опDоEо6 8EтоD8GеEко7о 6Dе<е=8, 7D46д4=Eк8E 8де4ло6, 646=оEт8 EоED4=е=8O 
8EтоD8GеEко9 п4<Oт8, Dол8 л8G=оEт8 6 8EтоD88; 

по76олONт 74ду<4тLEO о Eл46е 8 5еEEл4688, л8G=о< 8 о5IеEт6е==о<, E6ое< 6кл4де 6 
о5IеEт6е==K9 пDо7DеEE; 

по5у6д4Nт D4EEу6д4тL о5 о5D47о64=88 8 о 6оEп8т4=88, EпоDе поколе=89 8 о5 
о5IеEт6е==о< 5л47ополуG88, о =4Dод=о< под687е 8 =4пD46ле=8OE D4768т8O о5IеEт64. 
 

 47дел 3. �D8Dод4 8 кулLтуD4 6 687=8 Gело6ек4 

&е<K D47дел4: 

E6O74=K E D8лоEоDEк8<8, EоF84лL=K<8, Mт8GеEк8<8, MEтет8GеEк8<8 пDо5ле<4<8, 
6опDоE4<8 Mколо788; 

=4Fел864Nт =4 D4EEу6де=8е о5 8EкуEEт6е 8 =4уке, о Dе=о<е=е т4л4=т4, Fе==оEт8 
Eудо6еEт6е==о7о т6оDGеEт64 8 =4уG=о7о по8Eк4, о Eо5Eт6е==KE пDедпоGте=8OE 8л8 8=теDеE4E 6 
о5л4Eт8 8EкуEEт64 8 =4ук8, о O7Kке (6 то< G8Eле Dод=о<) 8 O7Kко6о9 кулLтуDе; 

к4E4NтEO <8EE88 Eудо6=8к4 8 от6етEт6е==оEт8 Gело6ек4 =4ук8, 7=4Gе=8O 6ел8к8E т6оDе=89 
8EкуEEт64 8 =4уG=KE откDKт89 (6 то< G8Eле 6 E6O78 E N58ле9=K<8 д4т4<8); 

по76олONт оE<KEл864тL DолL кулLтуDK 6 687=8 Gело6ек4, E6O7L O7Kк4 E 8EтоD8е9 EтD4=K, 
646=оEтL 5еDе6=о7о от=оHе=8O к O7Kку, 646=оEтL 8EтоD8GеEко9 п4<Oт8, EоED4=е=8O 
тD4д8F8о==KE Fе==оEте9; 

по5у6д4Nт 74ду<4тLEO о 6748<оде9Eт688 Gело6ек4 8 пD8DодK, =4пD46ле=8OE D4768т8O 
кулLтуDK, 6л8O=88 8EкуEEт64 8 =о6KE теE=оло789 =4 Gело6ек4. 
 

К46дK9 ко<плект 6клNG4ет HеEтL те< (по д6е те<K 87 к46до7о D47дел4 54=к4): 

&е<K 1, 2 "�уEо6=о-=D46Eт6е==Kе оD8е=т8DK 6 687=8 Gело6ек4". 

&е<K 3, 4 "!е<LO, о5IеEт6о, ОтеGеEт6о 6 687=8 Gело6ек4". 

&е<K 5, 6 "�D8Dод4 8 кулLтуD4 6 687=8 Gело6ек4". 

Ко<плектK те< DоD<8DуNтEO отделL=о длO к46до7о G4Eо6о7о поOE4 6 Dе68<е 
ко=D8де=F84лL=оEт8 8 Eт4=о6OтEO о5IедоEтуп=K<8 74 15 <8=ут до =4G4л4 8то7о6о7о EоG8=е=8O. 

�D8 EоEт46ле=88 те< 8то7о6о7о EоG8=е=8O Eо5лNд4NтEO опDеделе==Kе тDе5о64=8O. 

&е<K длO 8то7о6о7о EоG8=е=8O дол6=K: 

Eоот6етEт6о64тL D47дел4< 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O; 



Eоот6етEт6о64тL =4дпDед<ет=о<у E4D4ктеDу 8то7о6о7о EоG8=е=8O (=е =4Fел864тL =4 
л8теD4туDо6едGеEк89 4=4л87 ко=кDет=о7о пDо876еде=8O); 

Eоот6етEт6о64тL л8теD4туDоFе=тD8G=о<у E4D4ктеDу 8то7о6о7о EоG8=е=8O (д464тL 
6о7<о6=оEтL H8Dоко7о 6K5оD4 л8теD4туD=о7о <4теD84л4, =4 котоDK9 уG4Eт=8к 5удет оп8D4тLEO 6 
E6о8E D4EEу6де=8OE); 

=4Fел864тL =4 D4EEу6де=8е (=4л8G8е пDо5ле<K 6 DоD<ул8Dо6ке); 

Eоот6етEт6о64тL 6о7D4Eт=K< оEо5е==оEтO< 6KпуEк=8ко6, 6Dе<е=8, от6еде==о<у =4 
=4п8E4=8е EоG8=е=8O (3 G 55 <8=.); 

5KтL OE=K<8, 7D4<от=K<8 8 D47=оо5D47=K<8 по DоD<ул8Dо6к4<. 

&е<K по76олONт уG4Eт=8ку 6K58D4тL л8теD4туD=K9 <4теD84л, =4 котоDK9 о= 5удет 
оп8D4тLEO 6 E6о8E D4EEу6де=8OE. 

� к4GеEт6е пD8<еD4 =86е пD86еде= о5D47еF ко<плект4 те<. 
 

�о<еD те<K &е<4 

147 О Gе< лNд8 G4Iе 6Eе7о <еGт4Nт? 

249 'е< оп4E=о D46=одуH8е? 

311 К4к4O 87 <KEле9 �... ЛеD<о=то64 �4< 5л86е: "/ 8Iу E6о5одK 8 покоO" 8л8 
"&4к 687=L EкуG=4, ко7д4 5оDе=LO =ет"? 

411 'то 7=4G8т 5KтL 7D46д4=8=о<? 

501 'ело6ек =4ук8 - к4к8< о= дол6е= 5KтL? 

629  47делOете л8 �K <=е=8е о то<, Gто DеGе64O кулLтуD4 Gело6ек4 - 7еDк4ло е7о 
дуEо6=о9 кулLтуDK? 

 

&е<K пD86O74=K к опDеделе==K< D47дел4< 8 подD47дел4< 54=к4, =о EоG8=е=8е уG4Eт=8к4 
<о6ет 5KтL =4п8E4=о т4к, Gто по EодеD64=8N о=о ок46етEO 5л86е дDу7о<у D47делу. 'G4Eт=8к 
6пD46е 6K58D4тL E6о9 D4куDE D4EкDKт8O те<K, котоDK9 <о6ет Eо6п4EтL 8л8 =е Eо6п4EтL E 
ко<<е=т4D8O<8 к D47делу, 6 D4<к4E котоDо7о EDоD<ул8Dо64=4 те<4. �4пD8<еD, D4EEу6д4O =4 
те<у "К4к, по-�4Hе<у, E6O74=K по=Oт8O GеEт8 8 Eо6еEт8?" (те<4 пD8кDепле=4 к D47делу 1) уG4Eт=8к 
<о6ет 6K9т8 =4 пDо5ле<4т8ку D47дел4 2 8 D4EE<отDетL E6O7L ук474==KE по=Oт89 6 D4куDEе 
Eе<е9=KE 8л8 о5IеEт6е==KE Fе==оEте9.  4EEу6д4O о GеEт8 8 Eо6еEт8, уG4Eт=8к 6пD46е п8E4тL о5 
от6етEт6е==оEт8 Gело6ек4 =4ук8, о =4уG=о9 Eо6еEт8 (E<. ко<<е=т4D89 к D47делу 3). 

'то5K о5еEпеG8тL пDо7D4G=оEтL 8 OE=оEтL пDедJO6лOе<KE тDе5о64=89 к EоG8=е=8N 
(п4D4<етDK оFе=к8) к46дK9 ко<плект EопDо6о6д4етEO 8=EтDукF8е9 длO уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (E<. �D8ло6е=8е 1). 

 

1.2. �то7о6ое 87ло6е=8е 

�то7о6ое 87ло6е=8е пDо6од8тEO E 8EполL7о64=8е< текEто6 87 откDKто7о 54=к4 текEто6 длO 
8то7о6о7о 87ло6е=8O (д4лее - 54=к 87ло6е=89). �4=к 87ло6е=89 Eо7д4= 6 FелOE пDо6еде=8O 
8то7о6о7о 87ло6е=8O 8 Eо7д4=8O 5л47опD8Oт=KE уEло689 длO под7ото6к8 к =е<у. 

�4=к 87ло6е=89 D47<еI4етEO 6 откDKто< доEтупе =4 оD8F84лL=о< E49те $���' "$���". 



� 54=к 87ло6е=89 6клNGе=K текEтK отеGеEт6е==KE 46тоDо6, D47D45от4==Kе 6 2014 - 2024 

7од4E. &екEтK D4EпDеделе=K по тDе< D47дел4< E уGето< 8E EодеD64телL=о-те<4т8GеEко9 
=4пD46ле==оEт8. 

 

 47дел 1. �D46Eт6е==Kе Fе==оEт8 

�клNGе=K текEтK о до5Dе, EG4EтLе, лN568, пD46де, дDу65е, <8лоEеDд88, т6оDGеEт6е; 6 =8E 
под=8<4NтEO 6опDоEK, E6O74==Kе E дуEо6=K<8 Fе==оEтO<8, =D46Eт6е==K< 6K5оDо< Gело6ек4, 
<е6л8G=оEт=K<8 от=оHе=8O<8. 
 

 47дел 2. �8D пD8DодK 

�клNGе=K текEтK о кD4Eоте окDу64NIе7о <8D4, по64дк4E 686от=KE, 8E дDу65е E Gело6еко<; 
текEтK по5у6д4Nт 74ду<4тLEO о5 Mколо78GеEк8E пDо5ле<4E, 687=е==KE уDок4E, котоDKе пD8Dод4 
пDепод4ет Gело6еку. 
 

 47дел 3. !о5Kт8O 8EтоD88 

�клNGе=K EтD4=8FK 58о7D4D89 6Kд4NI8EEO деOтеле9 кулLтуDK, =4ук8 8 теE=8к8, 4 т4к6е 
текEтK, по76олONI8е 6Eпо<=8тL 646=Kе Eо5Kт8O отеGеEт6е==о9 8EтоD88 <8D=о7о 8 6ое==о7о 
6Dе<е=8, под6878 =4 DDо=те 8 6 тKлу. 

&екEтK длO 8то7о6о7о 87ло6е=8O ото5D4=K 87 пDо876еде=89 отеGеEт6е==KE 46тоDо6. 

&екEт длO 8то7о6о7о 87ло6е=8O =е пDе6KH4ет о5Jе< 300 - 380 Eло6 8 Eоот6етEт6ует 
опDеделе==K< тDе5о64=8O<. &екEт дол6е=: 

о5л4д4тL E<KEло6о9 746еDHе==оEтLN (к4к пD468ло, Mто DD47<е=т л8теD4туD=о7о 
пDо876еде=8O, 4д4пт8Dо64==K9 под 74д4Gу); 

5KтL по6еEт6о64телL=K<, о5л4д4тL ODко 6KD46е==K< EN6ето< (оп8E4=8е 8 D4EEу6де=8е =е 
дол6=о до<8=8Dо64тL; текEт =е дол6е= EодеD64тL D476еD=утKE д84ло7о6 8 <о=оло7о6, 
допуEк4етEO =еEколLко Dепл8к); 

5KтL по=Oт=K< длO о5уG4NI8EEO E О�� (текEт дол6е= 5KтL =4п8E4= 6 пD86KG=о< Eт8ле E 
опоDо9 =4 =еEло6=K9 E8=т4кE8E, 6клNG4тL <8=8<у< Eло6 Eо 7=4Gе=8е< 76ук4, E пеDе=оE=K< 
7=4Gе=8е<); 

Eоот6етEт6о64тL 6о7D4Eт=K< оEо5е==оEтO< 6KпуEк=8ко6 (текEт =е дол6е= 5KтL Eл8Hко< 
Eло6=K< 8л8 87л8H=е пD8<8т86=K<, =е дол6е= EтDо8тLEO =4 Eк47оG=KE 8л8 D4=т4Eт8GеEк8E 
EN6ет4E); 

о5л4д4тL 6оEп8т4телL=K< поте=F84ло<: Eоде9Eт6о64тL DоD<8Dо64=8N у о5уG4NI8EEO 
по78т86=KE 687=е==KE оD8е=т8Dо6; 

5KтL коDDект=K< 8 4дек64т=K< E8ту4F88 ко=тDолO (текEт =е дол6е= д8EкD8<8=8Dо64тL 
уG4Eт=8ко6 E О��, EодеD64тL пE8Eоло78GеEк8 тD46<8DуNI8е =4туD4л8Eт8GеEк8е подDо5=оEт8, 
5KтL 8Dо=8G=K<). 

'то5K о5еEпеG8тL пDо7D4G=оEтL 8 OE=оEтL пDедJO6лOе<KE тDе5о64=89 к 87ло6е=8N 
(п4D4<етDK оFе=к8) к46дK9 ко<плект EопDо6о6д4етEO 8=EтDукF8е9 длO уG4Eт=8ко6 8то7о6о7о 
87ло6е=8O (E<. �D8ло6е=8е 2). 

 

2. О5I8е поло6е=8O по оD74=874F88 8 пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

О5уG4NI8еEO X кл4EEо6, уG4Eт6уNI8е 6 Mк74<е=4E по отделL=K< уGе5=K< пDед<ет4<, 



оE6ое=8е котоDKE 746еDH8лоEL D4=ее, =е уG4Eт6уNт 6 8то7о6о< EоG8=е=88 (87ло6е=88) по 
око=G4=88 X кл4EE4. 

�лO уG4Eт8O 6 8то7о6о< EоG8=е=88 (87ло6е=88) уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
под4Nт 74O6ле=8O, о5D47FK котоDKE пD86еде=K 6 пD8ло6е=8OE 3 8 4. 

�Dодол68телL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет 3 G4E4 55 <8=ут 
(235 <8=ут). 

� пDодол68телL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =е 6клNG4етEO 6Dе<O, 
6Kделе==ое =4 под7ото68телL=Kе <еDопD8Oт8O (8=EтDукт46 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 

(87ло6е=8O), 74пол=е=8е 8<8 Dе78EтD4F8о==KE поле9 5л4=ко6 8 дD.), 4 т4к6е =4 пеDе=оE 
4EE8Eте=то< 6 Eт4=д4Dт=Kе 5л4=к8 74п8E8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6Kпол=е==о7о 
EлепK<8 8 Eл45о68дOI8<8 уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 EпеF84лL=о 
пDедуE<отDе==KE тетD4дOE, 6Kпол=е==о7о 6 5л4=к4E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
у6ел8Gе==о7о D47<еD4, 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6Kпол=е==о7о =4 ко<пLNтеDе, уEт=KE 
8то7о6KE EоG8=е=89 (87ло6е=89) 87 4уд8о74п8Eе9. 

�D8 пDодол68телL=оEт8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 5олее GетKDеE G4Eо6 
оD74=87уетEO п8т4=8е уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 поDOдке, опDеделе==о< 
О��. 

О5уG4NI8еEO 8 MкEтеD=K, полуG86H8е по 8то7о6о<у EоG8=е=8N (87ло6е=8N) 
=еудо6лет6оD8телL=K9 Dе7улLт4т ("=е74Gет"), <о7ут 5KтL по6тоD=о допуIе=K к уG4Eт8N 6 
8то7о6о< EоG8=е=88 (87ло6е=88) 6 текуIе< уGе5=о< 7оду, =о =е 5олее д6уE D47 8 толLко 6 
допол=8телL=Kе д4тK, уEт4=о6ле==Kе �оDOдко<. 

 

2.1. О7=4ко<ле=8е E Dе7улLт4т4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O), EDок де9Eт68O 
8то7о6о7о EоG8=е=8O 8 пDедоEт46ле=8е 8то7о6о7о EоG8=е=8O 6 о5D47о64телL=Kе оD74=874F88 
6KEHе7о о5D47о64=8O 6 к4GеEт6е 8=д868ду4лL=о7о доEт86е=8O: 

2.1.1. ! Dе7улLт4т4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) <о7ут о7=4ко<8тLEO 6 о5D47о64телL=KE оD74=874F8OE 8л8 6 <еEт4E Dе78EтD4F88 длO 
уG4Eт8O 6 8то7о6о< EоG8=е=88 (87ло6е=88). �о DеHе=8N О�� о7=4ко<ле=8е уG4Eт=8ко6 E 
Dе7улLт4т4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о6ет 5KтL оD74=87о64=о 6 Eет8 "�=теD=ет" 6 
Eоот6етEт688 E тDе5о64=8O<8 74ко=од4телLEт64  оEE89Eко9 $едеD4F88 6 о5л4Eт8 74I8тK 
пеDEо=4лL=KE д4==KE. 

2.1.2. �то7о6ое EоG8=е=8е (87ло6е=8е) к4к допуEк к ��� де9Eт6ует 5еEEDоG=о. 

2.1.3. �KпуEк=8к8 пDоHлKE лет, о5уG4NI8еEO !�О, 4 т4к6е о5уG4NI8еEO, полуG4NI8е 
EDед=ее о5Iее о5D47о64=8е 6 8=оEтD4==KE ОО, <о7ут уG4Eт6о64тL 6 8то7о6о< EоG8=е=88, 6 то< 
G8Eле пD8 =4л8G88 у =8E 8то7о6о7о EоG8=е=8O пDоHлKE лет. 

2.1.4. &е<K 8то7о6о7о EоG8=е=8O 8 о5D47K оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O 
уG4Eт=8ко6 доEтуп=K о5D47о64телL=K< оD74=874F8O< 6KEHе7о о5D47о64=8O GеDе7 $�!. 
 

2.2. ОD74=874F8O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 DедеD4лL=о< уDо6=е, 
Dе78о=4лL=о< уDо6=е 8 =4 уDо6=е о5D47о64телL=KE оD74=874F89: 

 

2.2.1. ОD74=874F8O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 DедеD4лL=о< уDо6=е 

 оEо5D=4д7оD 6 D4<к4E оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
оEуIеEт6лOет EледуNI8е Dу=кF88: 

оEуIеEт6лOет <етод8GеEкое о5еEпеGе=8е пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

https://login.consultant.ru/link/?req=doc&base=LAW&n=475036&dst=100013


оD74=87ует D47D45отку 8 Dу=кF8о=8Dо64=8е 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O 8 
откDKто7о 54=к4 текEто6 длO 8то7о6о7о 87ло6е=8O; 

оD74=87ует D47D45отку те< 8то7о6о7о EоG8=е=8O длO попол=е=8O 74кDKто7о 54=к4 те< 
8то7о6о7о EоG8=е=8O, текEто6 длO 8то7о6о7о 87ло6е=8O длO попол=е=8O откDKто7о 54=к4 текEто6 
длO 8то7о6о7о 87ло6е=8O, кD8теD8е6 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. 
�D8ло6е=8е 9); 

оD74=87ует о5еEпеGе=8е О�� те<4<8 8то7о6о7о EоG8=е=8O, EDоD<8Dо64==K<8 87 74кDKто7о 
54=к4 те< 8то7о6о7о EоG8=е=8O, 8 текEт4<8 длO 8то7о6о7о 87ло6е=8O 87 откDKто7о 54=к4 текEто6 
длO 8то7о6о7о 87ло6е=8O; 

D47D454тK64ет ед8=Kе DоD<4тK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

D47D454тK64ет ед8=Kе пD468л4 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

D47D454тK64ет ед8=K9 E5оD=8к отGет=KE DоD< длO пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O); 

опDеделOет допол=8телL=уN д4ту пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
оE=о64=88 <от868Dо64==KE о5D4Iе=89 О�� 6 EлуG4е =е6о7<о6=оEт8 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 6 д4тK, уEт4=о6ле==Kе пу=кт4<8 22 8 30 �оDOдк4. 
 

2.2.2. ОD74=874F8O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 Dе78о=4лL=о< уDо6=е 

2.2.2.1. О�� 6 D4<к4E оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

опDеделONт поDOдок пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), поDOдок пDо6еDк8 
8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пD8=8<4Nт DеHе=8е о5 оD74=874F88 под4G8 74O6ле=89 о5 уG4Eт88 6 8то7о6о< EоG8=е=88 
(87ло6е=88) E 8EполL7о64=8е< 8=DоD<4F8о==о-ко<<у=8к4F8о==KE теE=оло789 E Eо5лNде=8е< 
тDе5о64=89 74ко=од4телLEт64  оEE89Eко9 $едеD4F88 6 о5л4Eт8 74I8тK пеDEо=4лL=KE д4==KE; 

пD8=8<4Nт DеHе=8е о5 о5оDудо64=88 <еEт пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
Eт4F8о=4D=K<8 8 (8л8) пеDе=оE=K<8 <ет4лло8Eк4телO<8, EDедEт64<8 68део=45лNде=8O, 
EDедEт64<8 под46ле=8O E87=4ло6 под686=о9 E6O78, о 6еде=88 6о 6Dе<O пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 68део74п8E8; 

опDеделONт <еEт4 Dе78EтD4F88 длO уG4Eт8O 6 8то7о6о< EоG8=е=88 длO л8F, пеDеG8Eле==KE 6 
подпу=кте 2.1.3 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F89; 

опDеделONт теE=8GеEкуN EEе<у о5еEпеGе=8O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

опDеделONт поDOдок т8D468Dо64=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

опDеделONт поDOдок пеDед4G8 (доEт46к8) ко<плект4 те< 8то7о6о7о EоG8=е=8O (текEто6 длO 
8то7о6о7о 87ло6е=8O) 6 о5D47о64телL=Kе оD74=874F88 8 (8л8) <еEт4 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

опDеделONт поDOдок 8 EEе<у коп8Dо64=8O 5л4=ко6 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) длO оD74=874F88 пDо6еDк8 л8F4<8, 6EодOI8<8 6 EоEт46 ко<8EE88 по пDо6еDке 
8то7о6о7о EоG8=е=8O (87ло6е=8O); 

опDеделONт поDOдок оD74=874F88 п8т4=8O длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
E О��, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6; 
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опDеделONт поDOдок оEуIеEт6ле=8O пDо6еDк8 Eо5лNде=8O уG4Eт=8к4<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O)"; 

опDеделONт поDOдок Eк4=8Dо64=8O оD878=4ло6 5л4=ко6 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O); 

опDеделONт <еEт4, поDOдок 8 EDок8 ED4=е=8O, у=8Gто6е=8O оD878=4ло6 5л4=ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), 4уд8о74п8Eе9 уEт=KE 8то7о6KE EоG8=е=89 (87ло6е=89) (6 EлуG4е 
пDоEо6де=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уEт=о9 DоD<е уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) E О��, уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) - детL<8-8=64л8д4<8 8 
8=64л8д4<8), отGет=KE DоD<; 

опDеделONт EDок8, <еEт4 8 поDOдок о7=4ко<ле=8O уG4Eт=8ко6 E Dе7улLт4т4<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

опDеделONт поDOдок пDо6еде=8O по6тоD=о9 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
о5уG4NI8EEO, MкEтеD=о6 ко<8EE8е9 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) дDу7о9 
о5D47о64телL=о9 оD74=874F88 8л8 ко<8EE8е9 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
опDеделе==о9 О�� 6 EлуG4OE, пDедуE<отDе==KE подпу=кто< 5.3 =4EтоOI8E �етод8GеEк8E 
Dеко<е=д4F89; 

оD74=87уNт DоD<8Dо64=8е 8 6еде=8е  �!, 6=еEе=8е E6еде=89 6  �!; 

оD74=87уNт 8=DоD<8Dо64=8е уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 8E Dод8теле9 
(74ко==KE пDедEт468теле9) по 6опDоE4< оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) GеDе7 о5D47о64телL=Kе оD74=874F88, оD74=K <еEт=о7о E4<оупD46ле=8O, 
оEуIеEт6лONI8е упD46ле=8е 6 EDеDе о5D47о64=8O, 4 т4к6е путе< 6748<оде9Eт68O Eо EDедEт64<8 
<4EEо6о9 8=DоD<4F88, оD74=874F88 D45отK телеDо=о6 7оDOG8E л8=89 8 6еде=8O D47дел4, 
поE6OIе==о7о 8то7о6о<у EоG8=е=8N (87ло6е=8N), =4 оD8F84лL=KE E49т4E О�� 6 Eет8 "�=теD=ет" 
8л8 Eоот6етEт6уNI8E EпеF84л878Dо64==KE E49т4E; 

о5еEпеG864Nт пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=KE 
оD74=874F8OE 8 (8л8) <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), опDеделе==KE О��, 6 
Eоот6етEт688 E тDе5о64=8O<8, уEт4=о6ле==K<8 �оDOдко<; 

о5еEпеG864Nт теE=8GеEкуN 7ото6=оEтL о5D47о64телL=KE оD74=874F89 к пDо6еде=8N 8 
пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

о5еEпеG864Nт пеDед4Gу ко<плект4 те< 8то7о6о7о EоG8=е=8O (текEто6 длO 8то7о6о7о 
87ло6е=8O) 6 <еEт4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

о5еEпеG864Nт 8=DоD<4F8о==уN 5е7оп4E=оEтL пD8 ED4=е=88, 8EполL7о64=88 8 пеDед4Gе 
текEто6 длO 8то7о6о7о 87ло6е=8O; 

о5еEпеG864Nт ED4=е=8е текEто6 длO 8то7о6о7о 87ло6е=8O, 6 то< G8Eле опDеделONт <еEт4 
ED4=е=8O 8 л8F, 8<еNI8E доEтуп к текEт4< длO 8то7о6о7о 87ло6е=8O; 

о5еEпеG864Nт о7=4ко<ле=8е уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E Dе7улLт4т4<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 EDок8, уEт4=о6ле==Kе О��; 

=4пD46лONт <от868Dо64==ое о5D4Iе=8е 6  оEо5D=4д7оD 6 EлуG4OE у7Dо7K 6о7=8к=о6е=8O 
GDе76KG49=о9 E8ту4F88, =е6о7<о6=оEт8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
теDD8тоD88 Eу5Jект4  оEE89Eко9 $едеD4F88 E пDоEL5о9 D4EE<отDетL 6о7<о6=оEтL уEт4=о6ле=8O 
допол=8телL=о9 д4тK пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6=е д4т пDо6еде=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O), уEт4=о6ле==KE �оDOдко<. 
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2.2.2.2.  &О� 6 D4<к4E оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

оEуIеEт6лOет оD74=874F8о==ое 8 теE=оло78GеEкое о5еEпеGе=8е пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

оEуIеEт6лOет деOтелL=оEтL по MкEплу4т4F88  �! 8 6748<оде9Eт68N E $�!; 

6Kпол=Oет 8=Kе Dу=кF88 по оD74=874F88 8 пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
6о7ло6е==Kе О��. 
 

2.2.3. ОD74=874F8O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 уDо6=е 
о5D47о64телL=KE оD74=874F89 

О5D47о64телL=Kе оD74=874F88 6 D4<к4E оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O): 

под подп8EL 8=DоD<8DуNт D45от=8ко6, пD86лек4е<KE к пDо6еде=8N 8 пDо6еDке 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), о поDOдке пDо6еде=8O 8 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
теDD8тоD88 Eу5Jект4  оEE89Eко9 $едеD4F88, уEт4=о6ле==о< О��; 

под подп8EL 8=DоD<8DуNт уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 8E Dод8теле9 
(74ко==KE пDедEт468теле9) о <еEт4E 8 EDок4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), о 
поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 теDD8тоD88 Eу5Jект4  оEE89Eко9 
$едеD4F88, уEт4=о6ле==о< О��, о5 оE=о64=8OE длO уд4ле=8O E 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
о 6еде=88 6о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 68део74п8E8 (6 EлуG4е, еEл8 
Eоот6етEт6уNIее DеHе=8е 5Kло пD8=Oто О��), о 6Dе<е=8 8 <еEте о7=4ко<ле=8O E Dе7улLт4т4<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е о Dе7улLт4т4E 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
полуGе==KE о5уG4NI8<8EO 8 MкEтеD=4<8; 

под подп8EL оD74=87уNт о7=4ко<ле=8е о5уG4NI8EEO, MкEтеD=о6 8 8E Dод8теле9 (74ко==KE 
пDедEт468теле9) E �4<Oтко9 о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. 
�D8ло6е=8е 5); 

о5еEпеG864Nт уG4Eт=8ко6 8то7о6о7о EоG8=е=8O оDDо7D4D8GеEк8<8 Eло64DO<8 пD8 
пDо6еде=88 8то7о6о7о EоG8=е=8O; 

о5еEпеG864Nт уG4Eт=8ко6 8то7о6о7о 87ло6е=8O оDDо7D4D8GеEк8<8 8 толко6K<8 Eло64DO<8 
пD8 пDо6еде=88 8то7о6о7о 87ло6е=8O. 
 

2.2.4. $оD<8Dо64=8е ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 
ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

2.2.4.1. Ко<8EE8O по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 ко<8EE8O по пDо6еDке 
8то7о6о7о EоG8=е=8O (87ло6е=8O) Eо7д4NтEO =4 уDо6=е о5D47о64телL=KE оD74=874F89 8 (8л8) =4 
уDо6=е О�� 6 7468E8<оEт8 от поDOдк4 пDо6еде=8O 8 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
опDеделе==о7о О��. 

!оEт46K ук474==KE ко<8EE89 DоD<8DуNтEO 87 HколL=KE уG8теле9-пDед<ет=8ко6, 
4д<8=8EтD4F88 HколK. Ко<8EE88 дол6=K EоEтоOтL =е <е=ее Gе< 87 тDеE Gело6ек 6 7468E8<оEт8 
от кол8GеEт64 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 ко=кDет=о9 о5D47о64телL=о9 
оD74=874F88. �о DеHе=8N о5D47о64телL=KE оD74=874F89, 6 котоDKE о5уG4NI8еEO оE64864Nт 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O, 8 (8л8) О�� допуEк4етEO Eо7д4=8е 
ед8=о9 ко<8EE88 по пDо6еде=8N 8 пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O). � FелOE 
полуGе=8O о5Jект86=KE Dе7улLт4то6 пD8 пDо6еде=88 8 пDо6еDке 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) =е Dеко<е=дуетEO пD86лек4тL уG8теле9, о5уG4NI8E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 



2.2.4.2. � EоEт46 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6=K 
6Eод8тL: 

Gле=K ко<8EE88, уG4Eт6уNI8е 6 оD74=874F88 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

Gле= ко<8EE88, от6етEт6е==K9 74 полуGе=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) (6 
EлуG4е полуGе=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E, опDеделе==KE О��), 4 
т4к6е 74 пеDед4Gу <4теD84ло6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4, опDеделе==Kе О��; 

Gле= ко<8EE88 - теE=8GеEк89 EпеF84л8Eт, ок47K64NI89 8=DоD<4F8о==о-теE=оло78GеEкуN 
по<оIL, 6 то< G8Eле по оD74=874F88 пеG4т8 (6 EлуG4е пеG4т8 5л4=ко6 6 о5D47о64телL=о9 
оD74=874F88) 8 коп8Dо64=8N (Eк4=8Dо64=8N) 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

Gле=K ко<8EE88 - де6уD=Kе, уG4Eт6уNI8е 6 оD74=874F88 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
6=е уGе5=KE к458=ето6. 

Ко<8EE8O по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEуIеEт6лOет EледуNI8е 
Dу=кF88 6 D4<к4E под7ото6к8 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

оD74=87ует пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 Eоот6етEт688 E тDе5о64=8O<8 
�оDOдк4, поDOдко< пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), опDеделе==K< О��; 

о5еEпеG864ет теE=8GеEкуN поддеD6ку пDо6еде=8O 8 пDо6еDк8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), 6 то< G8Eле 6 Eоот6етEт688 E  еко<е=д4F8O<8 по теE=8GеEко<у о5еEпеGе=8N 
оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. �D8ло6е=8е 10); 

полуG4ет те<K EоG8=е=89 (текEтK длO 8то7о6о7о 87ло6е=8O) (E<. �=EтDукF8N длO 
теE=8GеEко7о EпеF84л8Eт4 по полуGе=8N ко<плекто6 те< 8то7о6о7о EоG8=е=8O 6 �D8ло6е=88 6) 8 
о5еEпеG864ет 8=DоD<4F8о==уN 5е7оп4E=оEтL. 

2.2.4.3. � EоEт46 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6=K 6Eод8тL 
EпеF84л8EтK, Eоот6етEт6уNI8е EледуNI8< тDе5о64=8O< (д4лее - MкEпеDтK): 

4) 6л4де=8е =ео5Eод8<о9 =оD<4т86=о9 547о9: 

=оD<4т86=K<8 пD46о6K<8 4кт4<8, Dе7л4<е=т8DуNI8<8 пDо6еде=8е 8то7о6о7о EоG8=е=8O 
(87ло6е=8O); 

<етод8GеEк8<8 Dеко<е=д4F8O<8 по оD74=874F88 8 пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O); 

5) 6л4де=8е =ео5Eод8<K<8 пDед<ет=K<8 ко<пете=F8O<8: 

8<етL 6KEHее о5D47о64=8е по EпеF84лL=оEт8 " уEEк89 O7Kк 8 л8теD4туD4" E к64л8D8к4F8е9 
"'G8телL DуEEко7о O7Kк4 8 л8теD4туDK"; 

6) =4л8G8е опKт4 пDо6еDк8 EоG8=е=89 (87ло6е=89) 6 6KпуEк=KE кл4EE4E о5D47о64телL=KE 
оD74=874F89, Dе4л87уNI8E пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O; 

7) 6л4де=8е EодеD64=8е< пD8<еD=KE о5D47о64телL=KE пDо7D4<< оE=о6=о7о о5Iе7о 8 
EDед=е7о о5Iе7о о5D47о64=8O; 

д) 6л4де=8е ко<пете=F8O<8, =ео5Eод8<K<8 длO пDо6еDк8 EоG8=е=8O (87ло6е=8O): 

7=4=8е о5I8E =4уG=о-<етод8GеEк8E подEодо6 к пDо6еDке 8 оFе=864=8N EоG8=е=8O 
(87ло6е=8O); 
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у<е=8е о5Jект86=о оFе=864тL EоG8=е=8O (87ло6е=8O); 

у<е=8е пD8<е=OтL уEт4=о6ле==Kе кD8теD88 8 =оD<4т86K оFе=к8; 

у<е=8е D477D4=8G864тL оH85к8 8 =едоGетK D47л8G=о7о т8п4; 

у<е=8е 6KO6лOтL 6 D45оте од=от8п=Kе 8 =е7Dу5Kе оH85к8; 

у<е=8е кл4EE8D8F8Dо64тL оH85к8 6 EоG8=е=8OE (87ло6е=8OE); 

у<е=8е оDоD<лOтL Dе7улLт4тK пDо6еDк8, Eо5лNд4O уEт4=о6ле==Kе тDе5о64=8O; 

у<е=8е о5о5I4тL Dе7улLт4тK. 

� EоEт46 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о7ут 6клNG4тLEO 
=е7468E8<Kе MкEпеDтK, котоDKе т4к6е дол6=K Eоот6етEт6о64тL тDе5о64=8O< к MкEпеDт4<, 
пеDеG8Eле==K< 6KHе. �е7468E8<Kе MкEпеDтK - EпеF84л8EтK, =е D45от4NI8е 6 о5D47о64телL=о9 
оD74=874F88, 6 котоDо9 пDо6од8тEO 8 пDо6еDOетEO 8то7о6ое EоG8=е=8е (87ло6е=8е), =о 8<еNI8е 
=ео5Eод8<уN к64л8D8к4F8N длO пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O). �е7468E8<K<8 
MкEпеDт4<8 =е <о7ут 5KтL 5л87к8е DодEт6е==8к8 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�е7468E8<Kе MкEпеDтK пD86лек4NтEO к пDо6еDке EоG8=е=89 (87ло6е=89) по DеHе=8N 
о5D47о64телL=о9 оD74=874F88 8 (8л8) О��. �е7468E8<Kе MкEпеDтK о5O74телL=о пD86лек4NтEO 6 
EлуG4е, еEл8 о5D47о64телL=4O оD74=874F8O =е о5л4д4ет доEт4тоG=K< к4дDо6K< поте=F84ло< длO 
о5еEпеGе=8O пDо6еDк8 EоG8=е=89 (87ло6е=89). �е7468E8<Kе MкEпеDтK <о7ут пD86лек4тLEO т4к6е 
длO по6KHе=8O о5Jект86=оEт8 оFе=864=8O D45от уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
�е7468E8<Kе MкEпеDтK пD87л4H4NтEO =4 о7о6оDе==KE E =8<8 оD74=874F8о==KE 8 D8=4=Eо6KE (=4 
6о7<е7д=о9 8л8 5е76о7<е7д=о9 оE=о6е) уEло68OE уG4Eт8O 6 пDо6еDке 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 

Ко<8EE8O по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEуIеEт6лOет EледуNI8е Dу=кF88 
6 D4<к4E пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

оD74=87ует 8 пDо6од8т пDо6еDку 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 Eоот6етEт688 E 
кD8теD8O<8 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), D47D45от4==K<8  оEо5D=4д7оDо<; 

оD74=87ует 8 пDо6од8т по6тоD=уN пDо6еDку 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5уG4NI8EEO 
по поDуGе=8N О�� <1>. 

-------------------------------- 

<1> � FелOE пDедот6D4Iе=8O ко=Dл8кт4 8=теDеEо6 8 о5еEпеGе=8O о5Jект86=о7о оFе=864=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) о5уG4NI8<EO, MкEтеD=4< пD8 полуGе=88 по6тоD=о7о 
=еудо6лет6оD8телL=о7о Dе7улLт4т4 ("=е74Gет") 74 8то7о6ое EоG8=е=8е (87ло6е=8е) 
пDедоEт46лOетEO пD46о под4тL 6 п8EL<е==о9 DоD<е 74O6ле=8е =4 пDо6еDку Eд4==о7о 8<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) ко<8EE8е9 дDу7о9 о5D47о64телL=о9 оD74=874F88 8л8 
ко<8EE8е9 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O), опDеделе==о9 О��. �оDOдок под4G8 
т4ко7о 74O6ле=8O 8 оD74=874F88 по6тоD=о9 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) ук474==о9 
к4те7оD88 о5уG4NI8EEO, MкEтеD=о6 опDеделOет О��. 
 

2.2.4.4. � EлуG4е еEл8 ко<8EE88 DоD<8DуNтEO =4 уDо6=е О��, о5D47о64телL=Kе оD74=874F88 
о5еEпеG864Nт от5оD 8 под7ото6ку EпеF84л8Eто6 длO 6клNGе=8O 8E 6 EоEт46 ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), Eо7д464е<KE О��. �е по7д=ее Gе< 74 д6е =едел8 до пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) о5D47о64телL=4O оD74=874F8O =4пD46лOет 8=DоD<4F8N о к4=д8д4туD4E 6 
О�� длO DоD<8Dо64=8O О�� Eоот6етEт6уNI8E ко<8EE89. 
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2.2.4.5. � EлуG4е еEл8 ко<8EE88 DоD<8DуNтEO =4 уDо6=е о5D47о64телL=о9 оD74=874F88, 
Dуко6од8телL о5D47о64телL=о9 оD74=874F88 =е по7д=ее Gе< 74 д6е =едел8 до пDо6еде=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) оEуIеEт6лOет от5оD 8 под7ото6ку EпеF84л8Eто6 длO 6клNGе=8O 
8E 6 EоEт46 к46до9 87 ко<8EE89, пD8к47о< DоD<8Dует EоEт46K ук474==KE ко<8EE89. 

2.2.4.6. О�� <о6ет 5KтL пDедуE<отDе=4 8=4O EEе<4 поDOдк4 DоD<8Dо64=8O ук474==KE 
ко<8EE89. 
 

3. �оDOдок E5оD4 8EEод=KE E6еде=89 8 под7ото6к8 к пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 

 

3.1. !6еде=8O о5 уG4Eт=8к4E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6=оEOтEO  &О� 6  �!. !оEт46 
E6еде=89 8 EDок8 8E 6=еEе=8O 6  �! ут6еD6де=K пD8к47о<  оEо5D=4д7оD4 N 805. 

3.2. !6еде=8O о5 уG4Eт=8к4E 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDедоEт46лONт оD74=K 
<еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONI8е упD46ле=8е 6 EDеDе о5D47о64=8O, 8 (8л8) 
о5D47о64телL=Kе оD74=874F88, 6 котоDKE о5уG4NI8еEO полуG4Nт EDед=ее о5Iее о5D47о64=8е. 

3.3. Ко<плектK 5л4=ко6 длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6<еEте E 
отGет=K<8 DоD<4<8 длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. !5оD=8к отGет=KE 
DоD< длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) пеG4т4NтEO 8 доEт46лONтEO  &О� 8л8 
оD74=4<8 <еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONI8<8 упD46ле=8е 6 EDеDе о5D47о64=8O, 6 <еEт4 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8л8 пеG4т4NтEO 6 <еEт4E пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) (пD8 8E доEт46ке 6 MлектDо==о< 68де) =е по7д=ее Gе< 74 де=L до 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). Коп8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) пD8 =еE64тке D4EпеG4т4==KE 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пDеIе=о, т4к к4к 5л4=к8 8<еNт у=8к4лL=K9 код 
D45отK 8 D4EпеG4тK64NтEO поEDедEт6о< EпеF84л878Dо64==о7о пDо7D4<<=о7о о5еEпеGе=8O. 

3.4. Ко<плектK те< 8то7о6о7о EоG8=е=8O 74 15 <8=ут до пDо6еде=8O 8то7о6о7о EоG8=е=8O по 
<еEт=о<у 6Dе<е=8 D47<еI4NтEO =4 8=DоD<4F8о==о< поDт4ле topic.rustest.ru, EEKлк4 =4 д4==K9 
DеEуDE т4к6е D47<еI4етEO =4 оD8F84лL=о< E49те $��' "$&&" (http://rustest.ru/). 

� EлуG4е 6о7=8к=о6е=8O =еHт4т=KE E8ту4F89 (=едоEтуп=оEтL 8л8 =еD45отоEпоEо5=оEтL 
ук474==о7о 8=DоD<4F8о==о7о поDт4л4) по 74пDоEу EпеF84л8Eт4 О��, от6етEт6е==о7о 74 6опDоEK, 
E6O74==Kе E пDо6еде=8е< 8то7о6о7о EоG8=е=8O (87ло6е=8O), ко<плектK те< 8то7о6о7о EоG8=е=8O 
=4пD46лONтEO $��' "$&&" =4 MлектDо==Kе 4дDеE4 ук474==о7о EпеF84л8Eт4 О��. 

�4пD46ле=8е ко<плекто6 те< 8то7о6о7о EоG8=е=8O оEуIеEт6лOетEO 6 Eоот6етEт688 E 
пD86O7ко9 Eу5Jекто6  оEE89Eко9 $едеD4F88 к G4Eо6K< поOE4<. �лO теDD8тоD89, от=оEOI8EEO к 
D47=K< G4Eо6K< поOE4<  оEE89Eко9 $едеD4F88, отделL=Kе ко<плектK те< 8то7о6о7о EоG8=е=8O 
=4пD46лONтEO длO к46до7о G4Eо6о7о поOE4 EтDо7о 6 опDеделе==ое 6Dе<O. 

�олуGе==K9 ко<плект те< 8то7о6о7о EоG8=е=8O пу5л8куетEO О�� ( &О�) =4 Dе78о=4лL=KE 
о5D47о64телL=KE 8=теD=ет-DеEуDE4E О�� ( &О�) 8 =4пD46лOетEO 6 <еEт4 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) =е D4=ее Gе< 74 15 <8=ут до =4G4л4 пDо6еде=8O 8то7о6о7о EоG8=е=8O по 
<еEт=о<у 6Dе<е=8. 

3.5. &екEтK длO 8то7о6о7о 87ло6е=8O 6 MлектDо==о< 68де D47<еI4NтEO $��' "$&&" =4 
теE=оло78GеEко< поDт4ле под7ото6к8 8 пDо6еде=8O ��1, =4EодOIе<EO 6 74I8Iе==о9 
коDпоD4т86=о9 Eет8 пеDед4G8 д4==KE ��1 по 4дDеEу portal.ege.rustest.ru (IP-4дDеE 10.0.6.21), =е 
D4=ее Gе< 74 тD8 D45оG8E д=O до =4G4л4 пDо6еде=8O 8то7о6о7о 87ло6е=8O. 

3.6. � <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6KделOетEO по<еIе=8е, 
о5оDудо64==ое телеDо==о9 E6O7LN, пD8=теDо<, пеDEо=4лL=K< ко<пLNтеDо< E 6KEодо< 6 EетL 
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"�=теD=ет" длO полуGе=8O ко<плекто6 те< 8то7о6о7о EоG8=е=8O (текEто6 длO 8то7о6о7о 
87ло6е=8O), теE=8GеEк8< о5оDудо64=8е< длO пDо6еде=8O Eк4=8Dо64=8O, коп8Dо64=8O 8то7о6KE 
EоG8=е=89 (87ло6е=89) 8 дDу78E <4теD84ло6 6 Eоот6етEт688 E теE=оло78е9 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), опDеделе==о9 О��. 
 

4. �оDOдок пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=KE 
оD74=874F8OE 8 (8л8) <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

4.1. Л8F4, пD86лек4е<Kе к пDо6еде=8N 8 пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

4.1.1. �лO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD86лек4NтEO Gле=K ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е 4EE8Eте=тK длO уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 
8=64л8до6 (пD8 =ео5Eод8<оEт8), <ед8F8=Eк8е D45от=8к8. �лO пDо6еDк8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) пD86лек4NтEO Gле=K ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�=EтDукт86=Kе <4теD84лK длO л8F, пD86лек4е<KE к пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), пDедEт46ле=K 6 �D8ло6е=88 8. 

4.1.2. � де=L пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) т4к6е <о7ут пD8EутEт6о64тL: 

пDедEт468тел8 EDедEт6 <4EEо6о9 8=DоD<4F88 <2>; 

-------------------------------- 

<2> �DедEт468тел8 EDедEт6 <4EEо6о9 8=DоD<4F88 пD8EутEт6уNт 6 уGе5=KE к458=ет4E толLко 
до <о<е=т4 6Kд4G8 уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) <4теD84ло6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 
 

дол6=оEт=Kе л8F4  оEо5D=4д7оD4, 8=Kе л8F4, опDеделе==Kе  оEо5D=4д7оDо<, 4 т4к6е 
дол6=оEт=Kе л8F4 оD74=4 8Eпол=8телL=о9 6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, 
оEуIеEт6лONIе7о пеDед4==Kе пол=о<оG8O  оEE89Eко9 $едеD4F88 6 EDеDе о5D47о64=8O. 

�опуEк пеDеG8Eле==KE 6KHе л8F 6 <еEт4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
оEуIеEт6лOетEO толLко пD8 =4л8G88 у =8E доку<е=то6, удоEто6еDONI8E л8G=оEтL, 8 доку<е=то6, 
подт6еD6д4NI8E 8E пол=о<оG8O. 
 

4.2. �Dо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

4.2.1. �о =4G4л4 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телL о5D47о64телL=о9 
оD74=874F88, 6 котоDо9 пDо6од8тEO 8то7о6ое EоG8=е=8е (87ло6е=8е), D4EпDеделOет уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) по уGе5=K< к458=ет4< 6 пDо876олL=о< поDOдке (DоD<4 �!-04 

"!п8Eок уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 ОО (<еEте пDо6еде=8O)"). 

4.2.2. 'G4Eт=8к8 8то7о6о7о 87ло6е=8O, котоDK< текEт длO 87ло6е=8O 6Kд4етEO длO Gте=8O =4 
40 <8=ут, дол6=K 5KтL D4EпDеделе=K 6 отделL=K9 уGе5=K9 к458=ет длO пDо6еде=8O 8то7о6о7о 
87ло6е=8O. К4те7оD8GеEк8 =е Dеко<е=дуетEO D4EпDеделOтL уG4Eт=8ко6 8то7о6о7о 87ло6е=8O, 
котоDK< текEт длO 87ло6е=8O 6Kд4етEO длO Gте=8O =4 40 <8=ут, 6 од8= уGе5=K9 к458=ет 6<еEте E 
уG4Eт=8к4<8 8то7о6о7о 87ло6е=8O, котоDK< текEт длO 8то7о6о7о 87ло6е=8O 74G8тK64етEO Gле=о< 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.2.3. �Eод уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) =4G8=4етEO E 09:00 по <еEт=о<у 6Dе<е=8. 'G4Eт=8к8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) D4EE46864NтEO 74 D45оG8е EтолK 6 уGе5=о< к458=ете 6 пDо876олL=о< поDOдке (по 
од=о<у Gело6еку 74 D45оG89 Eтол). �о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 



уGе5=о< к458=ете дол6=K пD8EутEт6о64тL =е <е=ее д6уE Gле=о6 ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.2.4. �то7о6ое EоG8=е=8е (87ло6е=8е) =4G8=4етEO 6 10:00 по <еEт=о<у 6Dе<е=8. 

4.2.5. �Eл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) опо7д4л, о= допуEк4етEO к =4п8E4=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O), пD8 Mто< 6Dе<O око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), 74D8кE8Dо64==ое =4 доEке (8=DоD<4F8о==о< Eте=де) Gле=4<8 ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 Eоот6етEт688 E подпу=кто< 4.2.12 =4EтоOI8E 
�етод8GеEк8E Dеко<е=д4F89, =е пDодле64етEO. �о6тоD=K9 о5I89 8=EтDукт46 длO опо7д46H8E 
уG4Eт=8ко6 =е пDо6од8тEO (74 8EклNGе=8е<, ко7д4 6 уGе5=о< к458=ете =ет дDу78E уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O). 'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) пDедоEт46лONт =ео5Eод8<уN 8=DоD<4F8N длO 74пол=е=8O Dе78EтD4F8о==KE поле9 
5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.2.6. �о =4G4л4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете Gле=K ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDо6одOт 8=EтDукт46 уG4Eт=8ко6 (E<. �D8ло6е=8е 
7). �=EтDукт46 EоEто8т 87 д6уE G4Eте9. �еD64O G4EтL 8=EтDукт464 пDо6од8тEO до 10:00 по <еEт=о<у 
6Dе<е=8 8 6клNG4ет 6 Eе5O 8=DоD<8Dо64=8е уG4Eт=8ко6 о поDOдке пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), 6 то< G8Eле о EлуG4OE уд4ле=8O E 8то7о6о7о EоG8=е=8O (87ло6е=8O), о 
пDоFедуDе доEDоG=о7о 746еDHе=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< 
пD8G8=4<, пDодол68телL=оEт8 =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), о 6Dе<е=8 8 <еEте 
о7=4ко<ле=8O E Dе7улLт4т4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е о то<, Gто 74п8E8 =4 
GеD=о68к4E =е о5D454тK64NтEO 8 =е пDо6еDONтEO. 

4.2.7. 'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6Kд4Nт уG4Eт=8к4< 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8, GеD=о68к8, 
оDDо7D4D8GеEк8е Eло64D8 (оDDо7D4D8GеEк8е 8 толко6Kе Eло64D8 длO уG4Eт=8ко6 8то7о6о7о 
87ло6е=8O), 8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. �D8ло6е=8O 1, 2). 

4.2.8. �4G8=4O E 09:45 по <еEт=о<у 6Dе<е=8 Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) пD8=8<4ет у Dуко6од8телO те<K EоG8=е=8O (текEтK длO 8то7о6о7о 
87ло6е=8O). &е<K EоG8=е=8O <о7ут 5KтL D4EпеG4т4=K =4 к46до7о уG4Eт=8к4 8л8 D47<еIе=K =4 
доEке (8=DоD<4F8о==о< Eте=де), текEт длO 87ло6е=8O 6Kд4етEO Gле=у ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) длO пDоGте=8O уG4Eт=8к4< 8то7о6о7о 87ло6е=8O. �=EтDукF88 
длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) D4EпеG4тK64NтEO =4 к46до7о уG4Eт=8к4 
отделL=о (E<. �D8ло6е=8O 1, 2). 

4.2.9. �D8 пDо6еде=88 6тоDо9 G4Eт8 8=EтDукт464, котоD4O =4G8=4етEO =е D4=ее 10:00 по 
<еEт=о<у 6Dе<е=8, Gле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6=K 
о7=4ко<8тL уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E те<4<8 8то7о6о7о EоG8=е=8O 
(=4764=8O<8 текEто6 длO 8то7о6о7о 87ло6е=8O) (EодеD64телL=ое ко<<е=т8Dо64=8е те< 8то7о6о7о 
EоG8=е=8O 8 текEто6 длO 8то7о6о7о 87ло6е=8O =е допуEк4етEO). 

4.2.10. �о ук474=8N Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пол=ONт Dе78EтD4F8о==Kе полO 5л4=ко6, 6 то< 
G8Eле ук47K64Nт код 68д4 D45отK (20 - EоG8=е=8е, 21 - 87ло6е=8е), =48<е=о64=8е 68д4 D45отK 
(EоG8=е=8е 8л8 87ло6е=8е), =о<еD те<K 8то7о6о7о EоG8=е=8O (текEт4 длO 8то7о6о7о 87ло6е=8O) 
<3>. � 5л4=ке 74п8E8 уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) пеDеп8EK64Nт =4764=8е 
6K5D4==о9 8<8 те<K EоG8=е=8O (текEт4 длO 8то7о6о7о 87ло6е=8O). 

-------------------------------- 

<3> �о<еD4 те< 8то7о6о7о EоG8=е=8O 8 текEто6 длO 8то7о6о7о 87ло6е=8O у=8к4лL=K. 
К46дK9 =о<еD EоEто8т 87 тDеE F8DD. 100-е 8 200-е =о<еD4 пD8E64864NтEO те<4< 8то7о6о7о 



EоG8=е=8O 87 D47дел4 I 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O; 300-е 8 400-е =о<еD4 - те<4< 87 
D47дел4 II 74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O; 500-е 8 600-е =о<еD4 - те<4< 87 D47дел4 III 
74кDKто7о 54=к4 те< 8то7о6о7о EоG8=е=8O; 900-е =о<еD4 пD8E64864NтEO текEт4< длO 8то7о6о7о 
87ло6е=8O. �тоD4O 8 тDетLO F8DD4 =о<еD4 8то7о6о7о EоG8=е=8O 8 8то7о6о7о 87ло6е=8O 
Eоот6етEт6ует поDOдко6о<у =о<еDу, котоDK9 пD8E64864етEO 6 D4<к4E опDеделе==KE EDоко6 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 

4.2.11. 'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDо6еDONт 
пD468лL=оEтL 74пол=е=8O уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dе78EтD4F8о==KE поле9 
5л4=ко6. 'ле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) т4к6е =ео5Eод8<о 
пDо6еD8тL 5л4=к Dе78EтD4F88 8 5л4=к8 74п8E8 к46до7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) =4 коDDект=оEтL 6п8E4==о7о уG4Eт=8ко< 8то7о6о7о EоG8=е=8O (87ло6е=8O) код4 68д4 
D45отK, =48<е=о64=8O 68д4 D45отK, =о<еD4 те<K 8то7о6о7о EоG8=е=8O (текEт4 длO 8то7о6о7о 
87ло6е=8O). 

4.2.12. �оEле пDо6еде=8O 6тоDо9 G4Eт8 8=EтDукт464 Gле=K ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) о5JO6лONт =4G4ло, пDодол68телL=оEтL <4> 8 6Dе<O око=G4=8O 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 D8кE8DуNт 8E =4 доEке (8=DоD<4F8о==о< Eте=де), 
поEле Gе7о уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8Eтуп4Nт к =4п8E4=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 

-------------------------------- 

<4> !<. 4574F Gет6еDтK9 пу=кт4 2 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F89. 
 

�D8 пDо6еде=88 87ло6е=8O поEле о5JO6ле=8O =4G4л4 пDо6еде=8O 8то7о6о7о 87ло6е=8O 
Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) D475оDG86о G8т4ет текEт длO 
87ло6е=8O тD86дK. �=теD64л <е6ду Gте=8е< EоEт46лOет 2 <8=утK. 

4.2.13. � EлуG4е =еE64тк8 <еEт4 6 5л4=к4E 74п8E8, 6Kд4==KE D4=ее, по 74пDоEу уG4Eт=8к4 
8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6Kд4Nт еIе од8= 5л4=к 74п8E8 допол=8телL=о (д4лее - допол=8телL=K9 5л4=к 
74п8E8). 'ле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6п8E4тL 
код D45отK 6 допол=8телL=K9 5л4=к 74п8E8 (код D45отK дол6е= Eо6п4д4тL E кодо< D45отK =4 
5л4=ке Dе78EтD4F88). �о <еDе =ео5Eод8<оEт8 уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
6Kд4NтEO допол=8телL=Kе GеD=о68к8. 

4.2.14. 'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), =4DуH86H8е уEт4=о6ле==Kе �оDOдко< 

тDе5о64=8O, уд4лONтEO E 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=о< ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O). 

'ле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет "�кт о5 
уд4ле=88 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O)" (DоD<4 �!-09), 6=оE8т Eоот6етEт6уNIуN 
от<етку 6 DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< 
к458=ете ОО (<еEте пDо6еде=8O)" (уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е= поEт468тL 
E6оN подп8EL 6 ук474==о9 DоD<е). � 5л4=ке Dе78EтD4F88 ук474==о7о уG4Eт=8к4 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6=еEт8 от<етку "X" 6 поле "'д4ле=". �=еEе=8е от<етк8 6 поле 
"'д4ле=" подт6еD6д4етEO подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 

4.2.15. � EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) по EоEтоO=8N 7доDо6LO 8л8 
дDу78< о5Jект86=K< пD8G8=4< =е <о6ет 746еDH8тL =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
о= <о6ет пок8=утL <еEто пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лONт "�кт о 
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доEDоG=о< 746еDHе=88 =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< 
пD8G8=4<" (DоD<4 �!-08), 6=оEOт Eоот6етEт6уNIуN от<етку 6 DоD<у �!-05 "�едо<оEтL 

пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете ОО (<еEте пDо6еде=8O)" 
(уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е= поEт468тL E6оN подп8EL 6 ук474==о9 DоD<е). 
� 5л4=ке Dе78EтD4F88 ук474==о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6=еEт8 
от<етку "X" 6 поле "�е 74ко=G8л" длO уGет4 пD8 оD74=874F88 пDо6еDк8, 4 т4к6е длO поEледуNIе7о 
допуEк4 ук474==KE уG4Eт=8ко6 к по6тоD=о9 Eд4Gе 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
допол=8телL=Kе д4тK. �=еEе=8е от<етк8 6 поле "�е 74ко=G8л" подт6еD6д4етEO подп8ELN Gле=4 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.2.16. �4 30 <8=ут 8 74 5 <8=ут до око=G4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) Eоо5I4Nт уG4Eт=8к4< 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) о EкоDо< 746еDHе=88 =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 о 
=ео5Eод8<оEт8 пеDе=еEт8 =4п8E4==Kе EоG8=е=8O (87ло6е=8O) 87 GеD=о68ко6 6 5л4=к8 74п8E8 (6 
то< G8Eле 6 допол=8телL=Kе 5л4=к8 74п8E8). 

4.2.17. 'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), доEDоG=о 746еDH86H8е =4п8E4=8е 
8то7о6о7о EоG8=е=8O (87ло6е=8O), Eд4Nт 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 
5л4=к8 74п8E8), GеD=о68к8 8 пок8д4Nт <еEто пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е 
до68д4OEL уEт4=о6ле==о7о 6Dе<е=8 746еDHе=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.2.18. �о 8EтеGе=88 уEт4=о6ле==о7о 6Dе<е=8 746еDHе=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
Gле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5JO6лONт о5 око=G4=88 
6Kпол=е=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 Eо58D4Nт у уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 5л4=к8 74п8E8), GеD=о68к8. 

4.2.19. 'ле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) Eт468т "Z" <5> 6 
о5л4Eт8 5л4=к4 74п8E8 (8л8 допол=8телL=о7о 5л4=к4 74п8E8), оEт46Hе9EO =е74пол=е==о9. 

-------------------------------- 

<5> К4к пD468ло, д4==K9 7=4к "Z" E68детелLEт6ует о 746еDHе=88 =4п8E4=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), котоDое оDоD<лOетEO =4 5л4=к4E 74п8E8 (допол=8телL=KE 5л4=к4E 
74п8E8 - пD8 8E 8EполL7о64=88), 4 т4к6е E68детелLEт6ует о то<, Gто д4==K9 уG4Eт=8к 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 746еDH8л =4п8E4=8е E6ое7о 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 5олее =е 
5удет 6о76D4I4тLEO к оDоD<ле=8N E6ое7о 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 Eоот6етEт6уNI8E 
5л4=к4E (пDодол6е=8N оDоD<ле=8O). 

'к474==K9 7=4к пDоEт46лOетEO =4 поEлед=е< л8Eте Eоот6етEт6уNIе7о 5л4=к4 74п8E8. 
�4пD8<еD, уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) 746еDH8л =4п8E4=8е 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), оDоD<8л E6ое 8то7о6ое EоG8=е=8е (87ло6е=8е) =4 од=оEтоDо==е< 5л4=ке 74п8E8 8 
од=оEтоDо==е< допол=8телL=о< 5л4=ке 74п8E8, т4к8< о5D47о<, 7=4к "Z" Eт468тEO =4 
од=оEтоDо==е< допол=8телL=о< 5л4=ке 74п8E8 6 о5л4Eт8 ук474==о7о 5л4=к4, оEт46Hе9EO 
=е74пол=е==о9 уG4Eт=8ко< 8то7о6о7о EоG8=е=8O (87ло6е=8O). �=4к "Z" 6 д4==о< EлуG4е =4 
од=оEтоDо==е< 5л4=ке 74п8E8 =е Eт468тEO, д46е еEл8 =4 од=оEтоDо==е< 5л4=ке 74п8E8 8<еетEO 
=е5олLH4O =е74пол=е==4O о5л4EтL. 
 

4.2.20. � 5л4=к4E Dе78EтD4F88 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K ко<8EE88 
по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пол=ONт поле "Кол8GеEт6о 5л4=ко6 74п8E8". � 
ук474==ое поле 6п8EK64етEO то кол8GеEт6о 5л4=ко6 74п8E8, 6клNG4O допол=8телL=Kе 5л4=к8 
74п8E8 (6 EлуG4е еEл8 т4к8е 6Kд464л8EL по 74пDоEу уG4Eт=8к4), котоDое 5Kло 6Kд4=о уG4Eт=8ку. 

4.2.21. 'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пол=ONт 
отGет=Kе DоD<K, 8EполL7о64==Kе 6о 6Dе<O пDо6еде=8O EоG8=е=8O (87ло6е=8O), 4 т4к6е DоD<у 
�!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете ОО (<еEте 



пDо6еде=8O)". � E6оN оGеDедL, уG4Eт=8к пDо6еDOет E6о8 д4==Kе, 6=еEе==Kе 6 6едо<оEтL, 
подт6еD6д4O 8E л8G=о9 подп8ELN. 

4.2.22. !о5D4==Kе 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 5л4=к8 74п8E8), 
GеD=о68к8, 4 т4к6е отGет=Kе DоD<K длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) пеDед4Nт Dуко6од8телN 
о5D47о64телL=о9 оD74=874F88. 

4.2.23. �о ук474=8N Dуко6од8телO о5D47о64телL=о9 оD74=874F88 теE=8GеEк89 EпеF84л8Eт 
пDо876од8т коп8Dо64=8е 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 74п8E8 (допол=8телL=KE 5л4=ко6 
74п8E8) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). Коп8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) E 6=еEе==о9 6 5л4=к Dе78EтD4F88 от<етко9 "X" 6 поле "�е 74ко=G8л" ("'д4ле="), 
подт6еD6де==о9 подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е 
пDо876од8тEO, пDо6еDк4 т4к8E EоG8=е=89 (87ло6е=89) =е оEуIеEт6лOетEO. 

4.2.24. 'к474==Kе 5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6<еEте E DоD<о9 �!-08 "�кт о 
доEDоG=о< 746еDHе=88 =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< 
пD8G8=4<" 8л8 DоD<о9 �!-09 "�кт о5 уд4ле=88 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 
пеDед4NтEO Dуко6од8телN о5D47о64телL=о9 оD74=874F88 длO уGет4, 4 т4к6е длO поEледуNIе7о 
допуEк4 ук474==KE уG4Eт=8ко6 к по6тоD=о9 Eд4Gе 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
допол=8телL=Kе д4тK. 

4.2.25. &еE=8GеEк89 EпеF84л8Eт пеDед4ет коп88 5л4=ко6 74п8E8 =4 пDо6еDку 8 коп88 
5л4=ко6 Dе78EтD4F88 длO 6=еEе=8O Dе7улLт4то6 пDо6еDк8 MкEпеDт4<. 

4.2.26. � FелOE оEуIеEт6ле=8O пDо6еDк8 8 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5еEпеG864NтEO =ео5Eод8<K<8 
теE=8GеEк8<8 EDедEт64<8 (кEеDокE, Eк4=еD, ко<пLNтеD E 6о7<о6=оEтLN 6KEод4 6 EетL "�=теD=ет", 
4 т4к6е E уEт4=о6ле==K<8 =4 =е7о EпеF84л878Dо64==K<8 пDо7D4<<4<8, по76олONI8<8 
пDо6еDOтL текEтK =4 =4л8G8е 748<Eт6о64=89, 8 дD.). 

4.2.27. &еE=8GеEк89 EпеF84л8Eт т4к6е <о6ет оEуIеEт6лOтL пDо6еDку Eо5лNде=8O 
уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O)" 6 Eоот6етEт688 E поDOдко<, опDеделе==K< О��. � т4ко< 
EлуG4е к MкEпеDт4< поEтуп4Nт 8то7о6Kе EоG8=е=8O (87ло6е=8O), пDоHедH8е пDо6еDку =4 =4л8G8е 
(отEутEт68е) 748<Eт6о64=89 6 FелOE 6Kпол=е=8O тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O)". 

4.2.28. � EлуG4е Eд4G8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< EоG8=е=8O (87ло6е=8O) 
6 уEт=о9 DоD<е =ео5Eод8<о о5D4т8тL 6=8<4=8е =4 то, Gто 6 поле "� уEт=о9 DоD<е" дол6=4 5KтL 
пDоEт46ле=4 от<етк4 "X", подт6еD6де==4O подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), длO поEледуNIе9 коDDект=о9 пDо6еDк8 8 о5D45отк8 5л4=ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) т4ко7о уG4Eт=8к4. 
 

4.3. ОEо5е==оEт8 оD74=874F88 8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) длO 
уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 

4.3.1. �лO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6, 4 т4к6е л8F, о5уG4NI8EEO по EоEтоO=8N 
7доDо6LO =4 до<у 6 о5D47о64телL=KE оD74=874F8OE, 6 то< G8Eле E4=4тоD=о-куDоDт=KE, 6 котоDKE 
пDо6одOтEO =ео5Eод8<Kе леGе5=Kе, Dе458л8т4F8о==Kе 8 о7доDо68телL=Kе <еDопD8Oт8O длO 
=у6д4NI8EEO 6 дл8телL=о< леGе=88, О�� оD74=87уNт пDо6еде=8е 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6 уEло68OE, уG8тK64NI8E EоEтоO=8е 8E 7доDо6LO, оEо5е==оEт8 пE8EоD878GеEко7о 
D4768т8O. 



4.3.2. �4теD84лL=о-теE=8GеEк8е уEло68O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
о5еEпеG864Nт 6о7<о6=оEтL 5еEпDепOтEт6е==о7о доEтуп4 т4к8E уG4Eт=8ко6 EоG8=е=8O (87ло6е=8O) 
6 уGе5=Kе к458=етK, ту4лет=Kе 8 8=Kе по<еIе=8O, 4 т4к6е 8E пDе5K64=8O 6 ук474==KE 
по<еIе=8OE (=4л8G8е п4=дуEо6, поDуG=е9, D4EH8Dе==KE д6еD=KE пDое<о6, л8Dто6 (пD8 
отEутEт688 л8Dто6 уGе5=K9 к458=ет D4Eпол474етEO =4 пеD6о< Mт46е), =4л8G8е EпеF84лL=KE кDеEел 
8 дDу78E пD8EпоEо5ле=89). 

4.3.3. � <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6KделONтEO по<еIе=8O длO 
оD74=874F88 п8т4=8O 8 пеDеDK6о6 длO пDо6еде=8O =ео5Eод8<KE <ед8ко-пDоD8л4кт8GеEк8E 
пDоFедуD. �оDOдок оD74=874F88 п8т4=8O длO ук474==KE уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) опDеделOетEO О��. 

4.3.4. �D8 пDо6еде=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8 =ео5Eод8<оEт8 пD8EутEт6уNт 
4EE8Eте=тK <6>, ок47K64NI8е уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8к4< 
8то7о6о7о EоG8=е=8O (87ло6е=8O) - детO<-8=64л8д4< 8 8=64л8д4< =ео5Eод8<уN теE=8GеEкуN 
по<оIL E уGето< EоEтоO=8O 8E 7доDо6LO, оEо5е==оEте9 пE8EоD878GеEко7о D4768т8O 8 
8=д868ду4лL=KE оEо5е==оEте9: 

-------------------------------- 

<6> � к4GеEт6е 4EE8Eте=то6 пD86лек4NтEO л8F4, пDоHедH8е Eоот6етEт6уNIуN под7ото6ку. 
�EE8Eте=то< <о6ет 5KтL опDеделе= D45от=8к о5D47о64телL=о9 оD74=874F88, EоF84лL=K9 
D45от=8к, 4 т4к6е 6 8EклNG8телL=KE EлуG4OE - Dод8телL (74ко==K9 пDедEт468телL) уG4Eт=8к4 
8то7о6о7о EоG8=е=8O (87ло6е=8O). �EE8Eте=т4<8 =е <о7ут 5KтL EпеF84л8EтK по DуEEко<у O7Kку 8 
л8теD4туDе, 6 к4GеEт6е 4EE8Eте=то6 =е допуEк4етEO пD86лек4тL пед47о78GеEк8E D45от=8ко6, 
O6лONI8EEO уG8телO<8 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O), уG4Eт6уNIе7о 6 8то7о6о< 
EоG8=е=88 (87ло6е=88) 6 о5D47о64телL=о9 оD74=874F88, 6 котоDо9 о5уG4NI89EO оE64864ет 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O (74 8EклNGе=8е< о5D47о64телL=KE 
оD74=874F89, D4Eполо6е==KE 6 тDуд=одоEтуп=KE 8 отд4ле==KE <еEт=оEтOE, 6 о5D47о64телL=KE 
оD74=874F8OE, D4Eполо6е==KE 74 пDедел4<8 теDD8тоD88  оEE89Eко9 $едеD4F88, 
747D4=уGDе6де=8OE, 4 т4к6е 6 уGDе6де=8OE у7оло6=о-8Eпол=8телL=о9 E8Eте<K) 
 

ок47K64Nт теE=8GеEкуN по<оIL 6 G4Eт8 пеDед686е=8O по <еEту пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), оD8е=т4F88 (6 то< G8Eле по<о74Nт 8< 74=OтL D45оGее <еEто 6 уGе5=о< 
к458=ете) 8 полуGе=88 8=DоD<4F88 (=е от=оEOIе9EO к EодеD64=8N 8 6Kпол=е=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

ок47K64Nт теE=8GеEкуN по<оIL 6 о5еEпеGе=88 ко<<у=8к4F88 (E Dуко6од8теле< 
о5D47о64телL=о9 оD74=874F88, Gле=4<8 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), 6 то< G8Eле E 8EполL7о64=8е< ко<<у=8к4т86=KE уEтDо9Eт6, EDедEт6 4лLтеD=4т86=о9 
ко<<у=8к4F88 (74 8EклNGе=8е< EDедEт6 E6O78, Dото-, 4уд8о- 8 68део4пп4D4туDK); 

ок47K64Nт по<оIL 6 8EполL7о64=88 теE=8GеEк8E EDедEт6, =ео5Eод8<KE длO 6Kпол=е=8O 
74д4=89, теE=8GеEк8E EDедEт6 (87дел89) Dе458л8т4F88 8 о5уGе=8O; 

ок47K64Nт по<оIL 6 6еде=88 74п8Eе9, Gте=88 (ок47K64Nт по<оIL 6 D8кE4F88 поло6е=8O 
тел4, DуGк8 6 к8Eт8 Dук8; по<о74Nт пD8 оDоD<ле=88 Dе78EтD4F8о==KE поле9 5л4=ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), пD86еде=88 6 поDOдок D45оGе7о <еEт4 8 под7ото6ке =ео5Eод8<KE 
пD8=4дле6=оEте9; D8кE4F88 EтDок8/4574F4 (длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 
=4DуHе=8е< опоD=о-д6874телL=о7о 4пп4D4т4); 

пеDе=оEOт 8то7о6ое EоG8=е=8е (87ло6е=8е) 6 5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

ок47K64Nт теE=8GеEкуN по<оIL пD8 6Kпол=е=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
ко<пLNтеDе (=4EтDо9к4 =4 MкD4=е, 87<е=е=8е (у6ел8Gе=8е) HD8Dт4 8 дD.); 



6K7K64Nт <едпеDEо=4л (пD8 =ео5Eод8<оEт8). 

4.3.5. 'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8к8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) - дет8-8=64л8дK 8 8=64л8дK E уGето< 8E 8=д868ду4лL=KE 6о7<о6=оEте9 полL7уNтEO 
6 пDоFеEEе =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<K<8 8< EпеF84лL=K<8 
теE=8GеEк8<8 EDедEт64<8. 

4.3.5.1. �лO Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

уGе5=Kе к458=етK длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5оDудуNтEO 
76укоуE8л864NIе9 4пп4D4туDо9 к4к коллект86=о7о, т4к 8 8=д868ду4лL=о7о полL7о64=8O; 

пD8 =ео5Eод8<оEт8 пD86лек4етEO 4EE8Eте=т-EуDдопеDе6одG8к. 

4.3.5.2. �лO 7луE8E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

пD8 =ео5Eод8<оEт8 пD86лек4етEO 4EE8Eте=т-EуDдопеDе6одG8к; 

под7от46л864NтEO 6 =ео5Eод8<о< кол8GеEт6е 8=EтDукF88, 74G8тK64е<Kе Gле=4<8 ко<8EE88 
по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), длO 6Kд4G8 8E ук474==K< уG4Eт=8к4< E FелLN 
E4<оEтоOтелL=о7о пDоGте=8O уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

4.3.5.3. �лO уG4Eт=8ко6 E =4DуHе=8е< опоD=о-д6874телL=о7о 4пп4D4т4: 

пD8 =ео5Eод8<оEт8 8то7о6ое EоG8=е=8е (87ло6е=8е) <о6ет 6Kпол=OтLEO =4 ко<пLNтеDе Eо 
EпеF84л878Dо64==K< пDо7D4<<=K< о5еEпеGе=8е< (пDедоEт46лOетEO О��). � уGе5=KE к458=ет4E 
уEт4=46л864NтEO ко<пLNтеDK, =е 8<еNI8е 6KEод4 6 EетL "�=теD=ет". 

�то7о6ое EоG8=е=8е (87ло6е=8е), 6Kпол=е==ое =4 ко<пLNтеDе, 6 пD8EутEт688 Dуко6од8телO 
о5D47о64телL=о9 оD74=874F88 пеDе=оE8тEO 4EE8Eте=то< 6 5л4=к8 EоG8=е=8O (87ло6е=8O) <7>. 

-------------------------------- 

<7> �еDе=оE 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 5л4=к8 74п8E8 пDо876од8тEO 4EE8Eте=то< 
поEле то7о, к4к уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) 746еDH8л =4п8E4=8е 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). !<. т4к6е 4574F Gет6еDтK9 пу=кт4 2 =4EтоOI8E �етод8GеEк8E 
Dеко<е=д4F89. 
 

4.3.5.4. �лO EлепKE уG4Eт=8ко6: 

те<K 8то7о6о7о EоG8=е=8O (текEтK длO 8то7о6о7о 87ло6е=8O) оDоD<лONтEO DелLеD=о-

тоGеG=K< HD8Dто< �D49лO 8л8 6 68де MлектDо==о7о доку<е=т4, доEтуп=о7о E по<оILN 
ко<пLNтеD4; 

текEтK длO EлепKE уG4Eт=8ко6 87ло6е=8O D47D454тK64NтEO т4к8< о5D47о<, Gто5K 6 =8E =е 
5Kло EEKлок =4 687у4лL=Kе E6о9Eт64 D47л8G=KE о5Jекто6, 6 текEтK =е 6клNG4NтEO Mп87одK, 6 
котоDKE 7еDо8 =4 Gто-то E<отDOт, DD47<е=тK, EтDоOI8еEO =4 687у4лL=о< оп8E4=88 лNде9, 
686от=KE, пD8DодK 8 т.д.; отEутEт6ует 87л8H=OO дет4л874F8O, 8EполL7уNтEO е<к8е DоD<ул8Dо6к8 
длO о5ле7Gе=8O Gте=8O; 

пDедуE<4тD864етEO доEт4тоG=ое кол8GеEт6о EпеF84лL=KE пD8=4дле6=оEте9 длO 
оDоD<ле=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) DелLеD=о-тоGеG=K< HD8Dто< �D49лO 
(5D49ле6Eк89 пD85оD 8 7D8DелL, 5D49ле6Eк4O пеG4т=4O <4H8=к4, EпеF84лL=Kе GеDте6=Kе 
8=EтDу<е=тK), ко<пLNтеD (пD8 =ео5Eод8<оEт8); 

8то7о6ое EоG8=е=8е (87ло6е=8е) 6Kпол=OетEO DелLеD=о-тоGеG=K< HD8Dто< �D49лO 6 
EпеF84лL=о пDедуE<отDе==KE тетD4дOE 8л8 =4 ко<пLNтеDе. 



�то7о6ое EоG8=е=8е (87ло6е=8е), 6Kпол=е==ое 6 EпеF84лL=о пDедуE<отDе==KE тетD4дOE 
8л8 =4 ко<пLNтеDе, 6 пD8EутEт688 Dуко6од8телO о5D47о64телL=о9 оD74=874F88 пеDе=оE8тEO 
4EE8Eте=то< 6 5л4=к8 EоG8=е=8O (87ло6е=8O). 

4.3.5.5. �лO Eл45о68дOI8E: 

те<K 8то7о6о7о EоG8=е=8O (текEтK длO 8то7о6о7о 87ло6е=8O), 5л4=к8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) коп8DуNтEO 6 у6ел8Gе==о< D47<еDе (DоD<4т A4 E D47<еDо< HD8Dт4 =е <е=ее 18 Bold 
(полу68D=K9); 

оE6еIе==оEтL к46до7о D45оGе7о <еEт4 6 уGе5=о< к458=ете дол6=4 5KтL D46=о<еD=о9 8 =е 
<е=ее 300 лNкE. �о7<о6=о 8EполL7о64=8е 8=д868ду4лL=KE E6етод8од=KE EDедEт6 оE6еIе=8O 
(=4EтолL=Kе л4<пK) E Dе7ул8Dо6ко9 оE6еIе=8O 6 д8=4<8GеEко< д84п47о=е до 600 лNкE, =о =е 
<е=ее 300 лNкE пD8 отEутEт688 д8=4<8GеEко9 Dе7ул8Dо6к8. 

�то7о6ое EоG8=е=8е (87ло6е=8е), 6Kпол=е==ое 6 5л4=к4E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
у6ел8Gе==о7о D47<еD4, 6 пD8EутEт688 Dуко6од8телO о5D47о64телL=о9 оD74=874F88 пеDе=оE8тEO 
4EE8Eте=то< 6 Eт4=д4Dт=Kе 5л4=к8 EоG8=е=8O (87ло6е=8O). 

4.3.5.6. �оEле о5JO6ле=8O =4G4л4 пDо6еде=8O 8то7о6о7о 87ло6е=8O длO уG4Eт=8ко6 
8то7о6о7о 87ло6е=8O E D4EEтDо9Eт64<8 4ут8Eт8GеEко7о EпектD4, E =4DуHе=8O<8 опоD=о-

д6874телL=о7о 4пп4D4т4, EлепKE, Eл45о68дOI8E, 7луE8E, по7д=оо7лоH8E 8 Eл45оEлKH4I8E 
уG4Eт=8ко6 8то7о6о7о 87ло6е=8O текEт длO 8то7о6о7о 87ло6е=8O 6Kд4етEO длO Gте=8O 8 
пDо6еде=8O под7ото68телL=о9 D45отK =4 40 <8=ут. � Mто 6Dе<O уG4Eт=8к8 <о7ут D45от4тL E 
л8Eт4<8 5у<478 длO GеD=о68ко6, 6Kп8EK64O клNGе6Kе Eло64, EоEт46лOO пл4= 87ло6е=8O 
(пеDеп8EK64тL текEт длO 8то7о6о7о 87ло6е=8O 6 GеD=о68к8 =е допуEк4етEO). �о 8EтеGе=88 40 
<8=ут Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 7458D4ет текEт длO 
8то7о6о7о 87ло6е=8O, 8 уG4Eт=8к8 пеDеEодOт к =4п8E4=8N 8то7о6о7о 87ло6е=8O. 

�лO 7луE8E, по7д=оо7лоH8E 8 Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O пD8 
=ео5Eод8<оEт8 (6<еEто 6Kд4G8 текEт4 длO 8то7о6о7о 87ло6е=8O =4 40 <8=ут) <о6ет 5KтL 
оEуIеEт6ле= EуDдопеDе6од текEт4 длO 8то7о6о7о 87ло6е=8O (о =ео5Eод8<оEт8 о5еEпеGе=8O 
EуDдопеDе6од4 текEт4 длO 8то7о6о7о 87ло6е=8O Eоо5I4етEO 6о 6Dе<O под4G8 74O6ле=8O =4 
уG4Eт8е 6 8то7о6о< 87ло6е=88). 

4.3.5.7. ОE=о64=8е< длO оD74=874F88 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 до<у, 6 
<ед8F8=Eко9 оD74=874F88 O6лOетEO 74клNGе=8е <ед8F8=Eко9 оD74=874F88 8 Dеко<е=д4F88 
���К. 

�то7о6ое EоG8=е=8е (87ло6е=8е) оD74=87уетEO по <еEту 68телLEт64 уG4Eт=8к4 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), по <еEту =4Eо6де=8O <ед8F8=Eко9 оD74=874F88, 6 котоDо9 уG4Eт=8к 
8то7о6о7о EоG8=е=8O (87ло6е=8O) =4Eод8тEO =4 дл8телL=о< леGе=88, E 6Kпол=е=8е< 
<8=8<4лL=KE тDе5о64=89 к пDоFедуDе пDо6еде=8O. 

4.3.5.8. �лO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 8то7о6ое EоG8=е=8е (87ло6е=8е) <о6ет 
по 8E 6ел4=8N 8 пD8 =4л8G88 Eоот6етEт6уNI8E <ед8F8=Eк8E пок474=89 пDо6од8тLEO 6 уEт=о9 
DоD<е. 

'Eт=ое 8то7о6ое EоG8=е=8е (87ло6е=8е) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
74п8EK64етEO =4 DлеH-=оE8телL. �уд8о74п8E8 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
пеDед4NтEO 4EE8Eте=ту, котоDK9 6 пD8EутEт688 Dуко6од8телO о5D47о64телL=о9 оD74=874F88 
пеDе=оE8т уEт=Kе 8то7о6Kе EоG8=е=8O (87ло6е=8O) 87 4уд8о74п8Eе9 6 5л4=к8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 

� EлуG4е Eд4G8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< EоG8=е=8O (87ло6е=8O) 6 



уEт=о9 DоD<е Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6=оE8т 6 5л4=к 
Dе78EтD4F88 ук474==о7о уG4Eт=8к4 от<етку "X" 6 поле "� уEт=о9 DоD<е" 8 746еDOет E6ое9 
подп8ELN 6=еEе=8е ук474==о9 от<етк8 6 EпеF84лL=о от6еде==о< поле длO поEледуNIе9 
коDDект=о9 пDо6еDк8 8 о5D45отк8 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) т4ко7о уG4Eт=8к4. � 
DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете 
о5D47о64телL=о9 оD74=874F88 (<еEте пDо6еде=8O)" =ео5Eод8<о т4к6е 6=еEт8 от<етку 6 поле 
"!д464л 6 уEт=о9 DоD<е (О��)". 
 

5. �оDOдок пDо6еDк8 8 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

5.1. О5I8е Dеко<е=д4F88 

5.1.1. �Dо6еDк4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 746еDH4етEO 6 EDок, уEт4=о6ле==K9 
пу=кто< 29 �оDOдк4. 

5.1.2. �то7о6Kе EоG8=е=8O (87ло6е=8O) оFе=864NтEO по E8Eте<е "74Gет" 8л8 "=е74Gет" по 
кD8теD8O<, D47D45от4==K<  оEо5D=4д7оDо< (E<. �D8ло6е=8е 9): 

5.1.3. К46дое 8то7о6ое EоG8=е=8е (87ло6е=8е) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
пDо6еDOетEO од=8< MкEпеDто< од8= D47. 

5.1.4. �D8 оEуIеEт6ле=88 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 е7о оFе=864=88 
пеDEо=4лL=Kе д4==Kе уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о7ут 5KтL доEтуп=K 
MкEпеDт4<. 

5.1.5. К пDо6еDке по кD8теD8O< оFе=864=8O, D47D45от4==K<  оEо5D=4д7оDо<, допуEк4NтEO 
8то7о6Kе EоG8=е=8O (87ло6е=8O), Eоот6етEт6уNI8е уEт4=о6ле==K< тDе5о64=8O<. 
 

&Dе5о64=8е N 1. "О5Jе< 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 

 

&Dе5о64=8е N 1 к 8то7о6о<у EоG8=е=8N: 

 еко<е=дуе<ое кол8GеEт6о Eло6 - от 350. 

�4кE8<4лL=ое кол8GеEт6о Eло6 6 8то7о6о< EоG8=е=88 =е уEт4=46л864етEO. �Eл8 6 8то7о6о< 
EоG8=е=88 <е=ее 250 Eло6 (6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле 8 Eлу6е5=Kе), то 
6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 1 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 
8то7о6ое EоG8=е=8е =е пDо6еDOетEO по тDе5о64=8N N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O)" 8 кD8теD8O< оFе=864=8O). 

� клетк8 по 6Eе< тDе5о64=8O< (N 1 8 N 2) 8 кD8теD8O< оFе=864=8O 6KEт46лOетEO "=е74Gет". � 
поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO "=е74Gет". 
 

&Dе5о64=8е N 1 к 8то7о6о<у 87ло6е=8N: 

 еко<е=дуе<ое кол8GеEт6о Eло6 - от 200. 

�4кE8<4лL=ое кол8GеEт6о Eло6 6 8то7о6о< 87ло6е=88 =е уEт4=46л864етEO: уG4Eт=8к 
8то7о6о7о 87ло6е=8O дол6е= 8EEод8тL 87 EодеD64=8O 8EEод=о7о текEт4. �Eл8 6 8то7о6о< 
87ло6е=88 <е=ее 150 Eло6 (6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле 8 Eлу6е5=Kе), то 
6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 1 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 
8то7о6ое 87ло6е=8е =е пDо6еDOетEO по тDе5о64=8N N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O)" 8 кD8теD8O< оFе=864=8O). 

� клетк8 по 6Eе< тDе5о64=8O< (N 1 8 N 2) 8 кD8теD8O< оFе=864=8O 6KEт46лOетEO "=е74Gет". � 
поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO "=е74Gет". 
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&Dе5о64=8е N 2. "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 

 

&Dе5о64=8е N 2 к 8то7о6о<у EоG8=е=8N: 

�то7о6ое EоG8=е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е EоG8=е=8O 
(DD47<е=то6 EоG8=е=8O) 87 к4ко7о-л85о 8EтоG=8к4 8л8 6оEпDо876еде=8е по п4<Oт8 Gу6о7о текEт4 
(D45от4 дDу7о7о уG4Eт=8к4, текEт, опу5л8ко64==K9 6 5у<46=о< 8 (8л8) MлектDо==о< 68де, 8 дD.). 

�опуEк4етEO пDO<ое 8л8 коE6е==ое F8т8Dо64=8е E о5O74телL=о9 EEKлко9 =4 8EтоG=8к 
(EEKлк4 д4етEO 6 E6о5од=о9 DоD<е). О5Jе< F8т8Dо64=8O =е дол6е= пDе6KH4тL о5Jе< 
Eо5Eт6е==о7о текEт4 уG4Eт=8к4 8то7о6о7о EоG8=е=8O. 

�Eл8 8то7о6ое EоG8=е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 
=е6Kпол=е=8е тDе5о64=8O N 2 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 8то7о6ое EоG8=е=8е =е 
пDо6еDOетEO по кD8теD8O< оFе=864=8O). 

�KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 2. � клетк8 по 6Eе< кD8теD8O< 
оFе=864=8O 6KEт46лOетEO "=е74Gет". � поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO 
"=е74Gет". 
 

&Dе5о64=8е N 2 к 8то7о6о<у 87ло6е=8N: 

�то7о6ое 87ло6е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е 87ло6е=8O 
87 к4ко7о-л85о 8EтоG=8к4 (D45от4 дDу7о7о уG4Eт=8к4, 8EEод=K9 текEт 8 дD.). 

�Eл8 8то7о6ое 87ло6е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 
=е6Kпол=е=8е тDе5о64=8O N 2 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 87ло6е=8е =е пDо6еDOетEO по 
кD8теD8O< оFе=864=8O). 

�KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 2. � клетк8 по 6Eе< кD8теD8O< 
оFе=864=8O 6KEт46лOетEO "=е74Gет". � поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO 
"=е74Gет". 

�Eл8 EоG8=е=8е (87ло6е=8е) =е Eоот6етEт6ует тDе5о64=8N N 1 8 (8л8) тDе5о64=8N N 2, то 
6KEт46лOетEO "=е74Gет" 74 Eоот6етEт6уNIее тDе5о64=8е 8 "=е74Gет" 74 6EN D45оту 6 Fело<. � 
клетк8 по 6Eе< кD8теD8O< оFе=864=8O 6KEт46лOетEO "=е74Gет". � поле " е7улLт4т пDо6еDк8 
EоG8=е=8O (87ло6е=8O)" Eт468тEO "=е74Gет". 

�то7о6ое EоG8=е=8е (87ло6е=8е), Eоот6етEт6уNIее уEт4=о6ле==K< тDе5о64=8O<, 
оFе=864етEO по кD8теD8O<. 

КD8теD88 оFе=864=8O 8то7о6о7о EоG8=е=8O 8 87ло6е=8O о5D47о64телL=K<8 оD74=874F8O<8, 
Dе4л87уNI8<8 о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O, E5л86е=K, Gто 68д=о 
87 пD86еде==о9 =86е EопоEт468телL=о9 т45л8FK: 
 

!оG8=е=8е �7ло6е=8е 

1. !оот6етEт68е те<е 1. !одеD64=8е 87ло6е=8O 

2. �D7у<е=т4F8O. �D86леGе=8е 
л8теD4туD=о7о <4теD84л4 

2. Ло78G=оEтL 87ло6е=8O 

3. Ко<по78F8O 8 ло78к4 D4EEу6де=8O 
3. �EполL7о64=8е Mле<е=то6 Eт8лO 8EEод=о7о 

текEт4 



4. К4GеEт6о п8EL<е==о9 DеG8 

5. �D4<от=оEтL 

 

�лO полуGе=8O оFе=к8 "74Gет" =ео5Eод8<о 8<етL поло68телL=K9 Dе7улLт4т по тDе< 
кD8теD8O< (по кD8теD8O< N 1 8 N 2 - 6 о5O74телL=о< поDOдке), 4 т4к6е "74Gет" по од=о<у 87 
дDу78E кD8теD8е6. 

5.1.6. �D8 пDо6еде=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уEт=о9 DоD<е MкEпеDту поEтуп4Nт 
коп88 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) от уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
E 6=еEе==о9 6 5л4=к Dе78EтD4F88 от<етко9 "X" 6 поле "� уEт=о9 DоD<е", подт6еD6де==о9 
подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� т4ко< EлуG4е оFе=864=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) ук474==о9 к4те7оD88 
уG4Eт=8ко6 пDо6од8тEO по д6у< уEт4=о6ле==K< тDе5о64=8O< "О5Jе< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O)" 8 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)". �то7о6ое 
EоG8=е=8е (87ло6е=8е), Eоот6етEт6уNIее уEт4=о6ле==K< тDе5о64=8O<, оFе=864етEO по 
кD8теD8O<. �лO полуGе=8O "74Gет4" 74 8то7о6ое EоG8=е=8е (87ло6е=8е) =ео5Eод8<о полуG8тL 
"74Gет" по кD8теD8O< N 1 8 N 2, 4 т4к6е допол=8телL=о "74Gет" по од=о<у 87 кD8теD8е6 N 3 8л8 N 

4. �то7о6ое EоG8=е=8е (87ло6е=8е) 6 уEт=о9 DоD<е по кD8теD8N N 5 =е пDо6еDOетEO, от<етк4 6 
Eоот6етEт6уNIее поле "КD8теD89 5" =е 6=оE8тEO (оEт4етEO пуEтK<). 
 

5.2. �Dо6еDк4 8 оFе=864=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) MкEпеDт4<8 

5.2.1. &еE=8GеEк89 EпеF84л8Eт пеDед4ет коп88 5л4=ко6 74п8E8 =4 пDо6еDку 8 коп88 5л4=ко6 
Dе78EтD4F88 длO 6=еEе=8O Dе7улLт4то6 пDо6еDк8 MкEпеDт4<. 

5.2.2. 1кEпеDтK пеDед оEуIеEт6ле=8е< пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) по 
кD8теD8O< оFе=864=8O, D47D45от4==K<  оEо5D=4д7оDо<, пDо6еDONт Eо5лNде=8е уG4Eт=8к4<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) тDе5о64=89 "О5Jе< EоG8=е=8O (87ло6е=8O)" 8 
"!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" <8>. 

-------------------------------- 

<8> � EлуG4е еEл8 тDе5о64=8е "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O)" пDо6еDOетEO MкEпеDто<, 4 =е теE=8GеEк8< EпеF84л8Eто< Eо7л4E=о подпу=кту 4.2.27 
пу=кт4 4.2 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F89. 
 

5.2.3. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) по тDе5о64=8N N 1 "О5Jе< EоG8=е=8O 
(87ло6е=8O)" Eледует уG8тK64тL пD468л4 подEGет4 Eло6, котоDKе Eо6п4д4Nт E пD468л4<8 подEGет4 
Eло6 пD8 пDо6еDке EоG8=е=89, =4п8E4==KE 6 D4<к4E ед8=о7о 7оEуд4DEт6е==о7о Mк74<е=4 (��1) 8 
оE=о6=о7о 7оEуд4DEт6е==о7о Mк74<е=4 (О�1) по DуEEко<у O7Kку 8 л8теD4туDе. � ��1 8 О�1 по 
DуEEко<у O7Kку 8 л8теD4туDе, 4 т4к6е 6 8то7о6о< EоG8=е=88 (87ло6е=88) пD8=OтK ед8=Kе 
подEодK к подEGету Eло6. �D8 подEGете Eло6 6 EоG8=е=88 (87ло6е=88) уG8тK64NтEO к4к 
E4<оEтоOтелL=Kе, т4к 8 Eлу6е5=Kе G4Eт8 DеG8. �одEG8тK64етEO лN54O поEледо64телL=оEтL Eло6, 
=4п8E4==KE 5е7 пDо5ел4 (=4пD8<еD, "6Eе-т4к8" - од=о Eло6о, "6Eе 6е" - д64 Eло64). �=8F84лK E 
D4<8л8е9 EG8т4NтEO од=8< Eло6о< (=4пD8<еD, "�... ЛеD<о=то6" - од=о Eло6о). ЛN5Kе дDу78е 
E8<6олK, 6 G4Eт=оEт8 F8DDK, пD8 подEGете =е уG8тK64NтEO (=4пD8<еD, "5 лет" - од=о Eло6о, "пOтL 
лет" - д64 Eло64). 

�е7уEло6=о, 6 л8=768Eт8ке по=Oт8е "Eло6о" 7=4G8телL=о Eло6=ее. Од=у лекE8ко-

7D4<<4т8GеEкуN 8л8 Eе<4=т8GеEкуN ед8=8Fу <о7ут о5D47о64тL =еEколLко Eло6. �86е пD86еде=K 
=екотоDKе пD8<еDK: 

Eло6оDоD<K: по6ел8телL=ое =4кло=е=8е ("пуEтL =4п8Hут"), 5удуIее 6Dе<O ("5уду 87D4тL"), 



ED46=8телL=4O Eтепе=L ("<е=ее 7Dо<ко"); 

G4Eт8 DеG8: EоEт46=Kе пDедло78 ("6 теGе=8е"); EоEт46=Kе EоN7K ("=еE<отDO =4 то, Gто"); 
EоEт46=Kе G8Eл8телL=Kе ("тD8Eт4 тD8дF4тL пOтL"); 

8<е=4 Eо5Eт6е==Kе: 8<е=4 лNде9 ("�8кол49 �4E8лLе68G �о7олL"); =4764=8O пDо876еде=89 
("�о9=4 8 <8D"), топо=8<K (�ело7оDEк4O кDепоEтL); 

DD47еоло787<K: "дуH4 6 дуHу"; 

Gле=K пDедло6е=8O: оEло6=е==Kе Eк47уе<Kе ("7=49 Eе5е отдKE4ет", "7о6оDOт =е 
=47о6оDOтEO). 

�D8 подEGете Eло6 =е Eледует D4EE<4тD864тL Eло6о к4к лекE8ко-7D4<<4т8GеEкуN 8л8 
Eе<4=т8GеEкуN ед8=8Fу, =ео5Eод8<о уG8тK64тL 46тоDEкуN оDDо7D4D8N ("�ело7оDEк4O кDепоEтL" - 
2 Eло64; "�лекE4=дD !еD7ее68G �уHк8=" - 3 Eло64; "�.!. �уHк8=" - 1 Eло6о; "длO то7о Gто5K" - 3 

Eло64; "6 6о7D4Eте д64дF4т8 д6уE лет" - 5 Eло6; "6 6о7D4Eте 22 лет" - 3 Eло64; "6леEу (оH85оG=ое 
Eл8т=ое =4п8E4=8е)" - 1 Eло6о; "GеD=о 5елK9 (оH85оG=ое D47делL=ое =4п8E4=8е)" - 2 Eло64). 

� подEGет Eло6 6клNG4NтEO Eло64 87 F8т4т. 

&е<4 8то7о6о7о EоG8=е=8O, 6K=еEе==4O 6 747оло6ок, 8л8 747л468е 8то7о6о7о 87ло6е=8O =е 
O6лONтEO G4EтLN 46тоDEко7о текEт4 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O), поMто<у Eло64, 
6K=еEе==Kе 6 747оло6ок, =е уG8тK64NтEO пD8 подEGете Eло6 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8 
пD8=Oт88 DеHе=8O о5 8E оFе=864=88 по тDе5о64=8N 1. �<еEте E те<, еEл8 те<4 8то7о6о7о 
EоG8=е=8O 8л8 747л468е 8то7о6о7о 87ло6е=8O =епоEDедEт6е==о 6клNGе=K 6 текEт 8то7о6о7о 
EоG8=е=8O 8л8 8то7о6о7о 87ло6е=8O, то о=8 Eт4=о6OтEO G4EтLN Eо5Eт6е==о7о текEт4 уG4Eт=8к4 
EоG8=е=8O (87ло6е=8O). � Mто< EлуG4е Eло64, 6клNGе==Kе 6 DоD<ул8Dо6ку те<K 8то7о6о7о 
EоG8=е=8O (747л468е 8то7о6о7о 87ло6е=8O), подEG8тK64NтEO пD8 пD8=Oт88 DеHе=8O о5 
оFе=864=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) по тDе5о64=8N N 1. 

5.2.4. �оEле пDо6еDк8 уEт4=о6ле==KE тDе5о64=89 N 1 8 N 2 MкEпеDтK пD8Eтуп4Nт к пDо6еDке 
EоG8=е=8O (87ло6е=8O) по кD8теD8O< оFе=864=8O 8л8, =е пD8Eтуп4O к пDо6еDке 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) по кD8теD8O< оFе=864=8O, 6KEт46лONт "=е74Gет" по 6Eе9 D45оте 6 Fело< 6 
EлуG4е =еEо5лNде=8O EотO 5K од=о7о 87 уEт4=о6ле==KE тDе5о64=89. 

5.2.5. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O по КD8теD8N N 1 "!оот6етEт68е те<е" =у6=о 
уG8тK64тL, Gто уG4Eт=8к 8то7о6о7о EоG8=е=8O 6пD46е 6K5D4тL оD878=4лL=K9 путL ее D4EкDKт8O. �е 
Eледует о68д4тL от уG4Eт=8к4 D4EкDKт8O те<K E уGето< ко<<е=т4D8O к то<у 8л8 8=о<у D47делу 
54=к4 те< (Mтот 4кFе=т у6е Eдел4= 6 D47деле 1 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F89). &е<K 
74кDепле=K 74 опDеделе==K< D47дело< 6 ко<плекте те<, =о уG4Eт=8к 6пD46е 6K58D4тL E6о9 
D4куDE D4EкDKт8O те<K, котоDK9 <о6ет Eо6п4EтL 8л8 =е Eо6п4EтL E ко<<е=т4D8O<8 к D47делу 
54=к4, 6 D4<к4E котоDо7о EDоD<ул8Dо64=4 те<4. �4пD8<еD, D4EEу6д4O =4 те<у 87 D47дел4 2 "� 
Gе< <о6ет пDоO6лOтLEO лN5о6L к ОтеGеEт6у?", уG4Eт=8к <о6ет 6K9т8 =4 пDо5ле<4т8ку D47дел4 3 8 
D4EEу6д4тL о п4тD8от87<е Gело6ек4 =4ук8 (8л8 кулLтуDK). &е<4 "'то �K 6кл4дK64ете 6 по=Oт8е 
"EG4EтLе"?" уEло6=о 74кDепле=4 74 D47дело< 1 54=к4 те<, =о о=4 пDеделL=о H8Dок4 8 <о6ет 
6K6еEт8 уG4Eт=8к4 =4 D47<KHле=88 о Eе<е9=о< EG4EтLе, о EG4EтLе 7D46д4=8=4 8 п4тD8от4, о 
EG4EтLе, котоDое д4DуNт =4уG=Kе откDKт8O, Eлу6е=8е 8EкуEEт6у 8 пD8о5Iе=8е к Fе==оEтO< 
кулLтуDK. 'G4Eт=8к 6пD46е D4EEу6д4тL о D47=KE 8EтоG=8к4E EG4EтLO 8л8 Eу78тL те<у до од=о7о 87 
6о7<о6=KE D4куDEо6 D4EE<отDе=8O пDо5ле<K EG4EтLO. 

"�е74Gет" Eт468тEO толLко 6 EлуG4е, еEл8 EоG8=е=8е =е Eоот6етEт6ует те<е, 6 =е< =ет от6ет4 
=4 6опDоE, поEт46ле==K9 6 те<е, 8л8 6 EоG8=е=88 =е пDоEле6864етEO ко=кDет=о9 Fел8 
6KEк47K64=8O. �D8 оFе=ке EоG8=е=8O по д4==о<у кD8теD8N =е уG8тK64NтEO ло78GеEк8е оH85к8 
(о=8 6KO6лONтEO пD8 оFе=ке EоG8=е=8O по КD8теD8N N 3). 



5.2.6. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O по КD8теD8N N 2 "�D7у<е=т4F8O. 

�D86леGе=8е л8теD4туD=о7о <4теD84л4" =у6=о уG8тK64тL EледуNIее. 

� Eоот6етEт688 E д4==K< кD8теD8е< уG4Eт=8к 8то7о6о7о EоG8=е=8O подкDеплOет 4D7у<е=тK 
пD8<еD4<8 87 опу5л8ко64==KE (8<еNI8E 6KEод=Kе E6еде=8O) л8теD4туD=KE пDо876еде=89 
(6клNG4O пеG4т=Kе 8 MлектDо==Kе 87д4=8O). 

�D8 =4п8E4=88 8то7о6о7о EоG8=е=8O уG4Eт=8к дол6е= EтDо8тL D4EEу6де=8е, DоD<ул8DуO 

Eо5Eт6е==уN по78F8N (те78E), 4D7у<е=т8DуO E6о8 ут6еD6де=8O. �D7у<е=тK <о7ут 5KтL 
пDо8ллNEтD8Dо64=K пD8<еD4<8 87 о5л4Eт8 кулLтуDK, E6еде=8O<8 87 D47=KE о5л4Eте9 7=4=89, 
Eо5Kт8O<8 87 687=е==о7о опKт4). �KпуEк=8к <о6ет 6KEк47K64тLEO =е толLко о л8теD4туDе, =о 8 о 
<у7Kке, те4тDе, к8=о, =4уке, EпоDте (еEл8 DоD<ул8Dо6к4 те<K Mто по76олOет). �D8 Mто< 
о5O74телL=K< тDе5о64=8е< O6лOетEO подкDепле=8е 4D7у<е=то6 EотO 5K од=8< пD8<еDо< 87 
опу5л8ко64==о7о л8теD4туD=о7о пDо876еде=8O (доEт4тоG=о од=о7о пD8<еD4 87 од=о7о 
пDо876еде=8O). 'G4Eт=8к <о6ет пD86лек4тL пDо876еде=8O уEт=о7о =4Dод=о7о т6оDGеEт64 (<4лKE 
64=Dо6 уEт=о7о =4Dод=о7о т6оDGеEт64 =е 74EG8тK64NтEO 6 к4GеEт6е л8теD4туD=о7о пD8<еD4), 
Eудо6еEт6е==уN, доку<е=т4лL=уN, <е<у4D=уN, пу5л8F8Eт8GеEкуN, =4уG=уN 8 =4уG=о-

популOD=уN л8теD4туDу (6 то< G8Eле D8лоEоDEкуN, пE8Eоло78GеEкуN, л8теD4туDо6едGеEкуN, 
8EкуEEт6о6едGеEкуN), EFе=4D88, д=е6=8к8, оGеDк8, л8теD4туD=уN кD8т8ку 8 дDу78е пDо876еде=8O 
отеGеEт6е==о9 8 <8Dо6о9 л8теD4туDK. 

�Eе пеDеG8Eле==Kе 6KHе 64=DK, 68дK, т8пK пDо876еде=89 от=оEOтEO к л8теD4туD=K< 
пD8<еD4<. �4EG8тK64O 8E 6 к4GеEт6е л8теD4туD=KE пD8<еDо6, MкEпеDт Dуко6одEт6уетEO 
пD86еде==K<8 д4лее тDе5о64=8O<8. 

� КD8теD88 N 2 =е =4764=K 6 к4GеEт6е 8EтоG=8к4 пD8<еDо6 пD8 4D7у<е=т4F88 пDо876еде=8O 
4DE8тектуDK, EкулLптуDK, <у7Kк8, к8=о8EкуEEт64, 87о5D478телL=о7о 8EкуEEт64 (=4пD8<еD, 
к4Dт8=K, к4D8к4туDK, 7D4D8к4, ко<8кEK, 7D4D8GеEк89 Dо<4=, <4=74 8 дD.). �Eл8 6Eе пD86еде==Kе 
пD8<еDK 6 EоG8=е=88 E6O74=K, =4пD8<еD, E 87о5D478телL=K< 8EкуEEт6о<, то по КD8теD8N N 2 74 
EоG8=е=8е Eт468тEO =е74Gет. 

�Eл8 6 EоG8=е=88 пD86еде= EотO 5K од8= пD8<еD 87 опу5л8ко64==о7о л8теD4туD=о7о 
пDо876еде=8O, 4 пD8 д4лL=е9H8E D4EEу6де=8OE пD8 4D7у<е=т4F88 уG4Eт=8к оп8D4етEO =4 
пD8<еDK 87 дDу78E о5л4Eте9 кулLтуDK (D47=Kе 68дK 8EкуEEт6, =4ук4, EпоDт 8 т.п.) 8л8 87 
687=е==о7о опKт4, то т4кое EоG8=е=8е по КD8теD8N N 2 <о6ет 5KтL оFе=е=о 74Gето<. �л46=ое, 
Gто5K пD8<еDK 5Kл8 E6O74=K E 4D7у<е=т4<8, =4пD46ле==K<8 =4 D4EкDKт8е те<K EоG8=е=8O. 

'8Eло 4D7у<е=то6 =е Dе7л4<е=т8DуетEO. � КD8теD88 N 2 употDе5ле=о <=о6еEт6е==ое G8Eло 
(4D7у<е=тK), 7=4G8т д64 8 5олее. �Eл8 пD86еде= од8= 4D7у<е=т, =о <KEлL D476еD=ут4 8 
подкDепле=4 л8теD4туD=K< пD8<еDо< (о= <о6ет 6Kпол=OтL Dу=кF8N 4D7у<е=т4, 4 =е пDоEто9 
8ллNEтD4F88 к те78Eу), то MкEпеDт <о6ет поEт468тL 74Gет 8 пD8 од=о< 4D7у<е=те. �л46=ое =е 
G8Eло 4D7у<е=то6, 4 док474телL=оEтL D4EEу6де=8O. 

Л8теD4туD=K9 пD8<еD <о6ет 5KтL 74EG8т4=, еEл8 уGе=8к =е6еD=о ук474л D4<8л8N 
46тоD4/=4764=8е пDо876еде=8O/7еDоO, =о 87 ко<<е=т4D8O по=Oт=о, о ко< 8л8 о Gе< 8<е==о 8дет 
DеGL. �D8 Mто< л8теD4туD=K9 пD8<еD дол6е= Eоот6етEт6о64тL те<е (6Kпол=OтL DолL 8ллNEтD4F88 
к 4D7у<е=ту 8л8 O6лOтLEO док474телLEт6о< те78E4). 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 EоG8=е=8е =е EодеD68т 4D7у<е=т4F88, =4п8E4=о 5е7 
опоDK =4 л8теD4туD=K9 <4теD84л, 8л8 6 =е< EуIеEт6е==о 8Eк46е=о EодеD64=8е 6K5D4==о7о 
текEт4, 8л8 л8теD4туD=K9 <4теD84л л8HL упо<8=4етEO 6 D45оте (4D7у<е=тK пD8<еD4<8 =е 
подкDеплONтEO). 

�Eл8 6 8то7о6о< EоG8=е=88 оEуIеEт6ле=4 опоD4 =4 DD47<е=т текEт4 87 поEо589 длO 
под7ото6к8 к ��1 по DуEEко<у O7Kку (пDо876еде=8е =е =47K64етEO, 4 л8HL пеDед4етEO EодеD64=8е 



DD47<е=т4), то т4ко9 л8теD4туD=K9 пD8<еD =е 74EG8тK64етEO. 

&4к6е =ео5Eод8<о уG8тK64тL, Gто уG4Eт=8к8 8то7о6о7о EоG8=е=8O <о7ут оD8е=т8Dо64тLEO =4 
тDе5о64=8O =е толLко HколL=KE кD8теD8е6, =о 8 о5D47о64телL=KE оD74=874F89 6KEHе7о 
о5D47о64=8O, котоDKе <о7ут EуIеEт6е==о отл8G4тLEO от HколL=KE кD8теD8е6. �4пD8<еD, 
о5D47о64телL=4O оD74=874F8O 6KEHе7о о5D47о64=8O <о6ет тDе5о64тL пD86леGе=8O =еEколLк8E 
л8теD4туD=KE 4D7у<е=то6 8л8 опоDK =е толLко =4 л8теD4туD=K9 4D7у<е=т, =о 8 =4 пDо876еде=8O 
дDу78E 68до6 8EкуEEт64 8л8 =4 8EтоD8GеEк8е D4ктK. &4к8< о5D47о<, 6 8то7о6о< EоG8=е=88, к4к 
Eк474=о 6KHе, кDо<е опоDK =4 л8теD4туD=K9 <4теD84л, <о7ут 5KтL пD8<еDK, E6O74==Kе E 
те4тDо<, к8=о, 686оп8ELN, 8EтоD8GеEк8<8 доку<е=т4<8 (8E =у6=о D4EE<4тD864тL к4к оD74=8G=уN 
G4EтL EоG8=е=8O). 

5.2.7. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O по КD8теD8N N 3 "Ко<по78F8O 8 ло78к4 
D4EEу6де=8O" Eледует оFе=864тL ло78G=оEтL D4EEу6де=8O =4 пDедло6е==уN те<у, Eоот=оHе=8е 
<е6ду те78Eо< 8 док474телLEт64<8. �е O6лOетEO о5O74телL=K< тDе5о64=8е< =4л8G8е 6 
EоG8=е=88 6Eтупле=8O 8л8 74клNGе=8O. ОтEутEт68е Mт8E G4Eте9 6 EоG8=е=88 =е дол6=о 6л8OтL =4 
е7о оFе=864=8е по кD8теD8N N 3. 

5.2.8. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O по КD8теD8N N 4 "К4GеEт6о п8EL<е==о9 DеG8" 
8EполL7уетEO =е кол8GеEт6е==K9, 4 к4GеEт6е==K9 пок474телL DеGе6о9 кулLтуDK 6KпуEк=8к4, т.е. 
MкEпеDт =е подEG8тK64ет G8Eло допуIе==KE DеGе6KE оH85ок, 4 опDеделOет, 74тDуд=Oет л8 
по=8<4=8е E<KEл4 EоG8=е=8O =87кое к4GеEт6о DеG8. 

5.2.9. �D8 пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) по КD8теD8N N 5 "�D4<от=оEтL" 
Eледует о5D4т8тL 6=8<4=8е =4 то, Gто 6 кD8теD88 =е ук474=о, к4к дол6=K лок4л87о64тLEO оH85к8 
6 D45оте 6KпуEк=8к4. &4к, еEл8 под46лONIее 5олLH8=Eт6о оH85ок D4Eпол474етEO 6 к4ко9-то 
од=о9 G4Eт8 D45отK, 6 D4EGет 5еDетEO о5Iее кол8GеEт6о Eло6, =4п8E4==KE уG4Eт=8ко< 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). �D8 пDо6еDке EоG8=е=8O (87ло6е=8O) Dеко<е=дуетEO тD4д8F8о==K< 
EпоEо5о< от<ет8тL 6Eе оH85к8 =4 полOE коп89 5л4=ко6, 6KO68тL од=от8п=Kе 8 =е7Dу5Kе оH85к8 
8, пDо876едO поEле Mто7о подEGет, Eоот=еEт8 полуGе==уN F8DDу E кол8GеEт6о< Eло6 6 D45оте 
(DеGе6Kе оH85к8 6 д4==о< кD8теD88 =е уG8тK64NтEO). �Eл8 =4 100 Eло6 пD8Eод8тEO 6 Eу<<е 5олее 
пOт8 оH85ок, то =4 20 Eло6 - од=4 оH85к4. О5Iее кол8GеEт6о Eло6 6 ко=кDет=о< EоG8=е=88 
дел8тEO =4 20. �олуGе==ое G8Eло окDу7лOетEO. �4пD8<еD, 6 D45оте 370 Eло6. �D8 деле=88 =4 20 
полуG4етEO 18,5. ОкDу7лOе< до 19. 'G4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о6ет полуG8тL 
"74Gет" по КD8теD8N N 5 пD8 19 оH85к4E. �D8 20 оH85к4E 6KEт46лOетEO "=е74Gет". 

�D8 Eоот=еEе=88 кол8GеEт64 оH85ок 8 кол8GеEт64 Eло6 6 8то7о6о< EоG8=е=88 (87ло6е=88) 
5еDутEO ко=еG=Kе G8Eл4, полуGе==Kе пD8 подEGете по 8то74< пDо6еDк8 6Eе7о 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6 Fело<. 

!Dед8 оH85ок Eледует 6KделOтL =е7Dу5Kе, т.е. =е 8<еNI8е EуIеEт6е==о7о 7=4Gе=8O длO 
E4D4ктеD8Eт8к8 7D4<от=оEт8. �D8 подEGете оH85ок =е7Dу5Kе оH85к8 =е уG8тK64NтEO. 

К =е7Dу5K< от=оEOтEO, =4пD8<еD, EледуNI8е оH85к8 (пD8<еDK 6 Eко5к4E д4=K 6 
=е8Eк46е==о< =4п8E4=88): 

=4п8E4=8е =ео5IеупотDе58телL=KE Eо5Eт6е==KE 8<е= (!64=те �DDе=8уE, (ле7687 
�олLHте9=) <9>; 

-------------------------------- 

<9> ОH85к4 6 8=8F84л4E 46тоD4/7еDоO 8EEод=о7о текEт4 8/8л8 46тоD4/7еDоO пDо876еде=8O 
O6лOетEO D4кт8GеEко9 оH85ко9. $4кт8GеEко9 оH85ко9 O6лOетEO EлуG49 т8п4: %DуEт4ле6 (6<еEто 
%леEт4ко64). 

�опуEт8<о упо<8=4=8е 876еEт=KE п8E4теле9 8 поMто6 E од=8< 8=8F84ло< 8л8 5е7 



8=8F84ло6 (=е EG8т4етEO оH85ко9 употDе5ле=8е Л. &олEто9 6<еEто Л.�. &олEто9). 
 

употDе5ле=8е пDоп8E=о9 5ук6K 6 EоEт46=KE Eо5Eт6е==KE 8<е=4E (плоI4дL �8к8тEк8е 
6оDот4, EтD4=4 6оEEодOIе7о Eол=F4, до= �едDо, �о= К8Eот, �е6ду=4Dод=K9 4EтDо=о<8GеEк89 
EоN7, �ел8к4O ОтеGеEт6е==4O 6о9=4), 6 Eо5Eт6е==KE 8<е=4E, 8EполL7о64==KE 6 пеDе=оE=о< 
7=4Gе=88 (о5ло<о6K); =ео5оE=о64==ое =4п8E4=8е 8<е= пD8л474телL=KE =4 -Eк89 E пDоп8E=о9 
5ук6K (HекEп8Dо6Eк8е тD47ед88); 

5ук6K M/е 6 8=оO7KG=KE Eло64E (DMкет, пле=MD, �4D8етт4; D8елтоD, �Mл4, �елл4, �еD8, 
!Mл8=д6еD); 

=4п8E4=8е -=- 8 -==- 6 пD8G4Eт8OE 8 от7л47олL=KE пD8л474телL=KE, о5D47о64==KE от 
д6у68до6KE 7л47оло6 (746еI4==K9, о5еI4==K9, к47=е==K9, Dо6де==K9, кDеIе=K9 Gело6ек, 
кDеIе==K9 6GеD4 Gело6ек), 4 т4к6е 6 кD4тк8E DоD<4E от7л47олL=KE пD8л474телL=KE 8 
Eоот=оE8<KE E =8<8 кD4тк8E пD8G4Eт89 (�е де9Eт68O опD46д4==K. - �е де9Eт68O опD46д4=K.); 

=4п8E4=8е =е E от7л47олL=K<8 пD8л474телL=K<8 8 пD8G4Eт8O<8 =4 -<K9 (=едел8<K9 =4 
G4Eт8 - =е дел8<K9 лNдL<8); 

=4п8E4=8е Eло6=KE EуIеEт68телL=KE 5е7 Eоед8=8телL=о9 7л4E=о9, о5D47о64==KE E 
по<оILN 748<Eт6о64==KE Mле<е=то6 (=оу-E4у, Dок-<у7Kк4, <8=8-<4Dкет, EупеD<4Dкет, 
улLтD476ук); 

=4п8E4=8е Eло6=KE 8<е= пD8л474телL=KE, котоDое пDот86оDеG8т HколL=о<у пD468лу 
(7луEо=е<о9, =еDте747о6K9, 6ое==о-8EтоD8GеEк89, 7D46д4=Eко-пD46о6о9, л8теD4туD=о-

Eудо6еEт6е==K9, 8=дое6Dопе9Eк89, =4уG=о-8EEледо64телLEк89, Eле5о5улоG=K9); =4п8E4=8е 
Eло6=KE 8<е= пD8л474телL=KE 8 пD8G4Eт89, котоDое 7468E8т от ко=текEт4 (E8лL=оде9Eт6уNIее 
EDедEт6о - E8лL=о де9Eт6уNIее =4 <е=O EDедEт6о); 

пу=кту4F8о==ое оDоD<ле=8е пDедло6е=89 E 66од=K< Eло6о<, EтоOI8< 6 =4G4ле 8л8 ко=Fе 
о5оEо5ле==о7о о5оDот4 (�оEDед8 полO=K DоEло 5олLHое деDе6о, EудO по 6Eе<у 6O7.); 

отEутEт68е о5оEо5ле=8O ED46=8телL=о7о о5оDот4, еEл8 е<у пDедHеEт6уNт отD8F4=8е =е 8л8 
G4Eт8FK Eо6Eе<, Eо6еDHе==о, поGт8, 8<е==о, пDO<о 8 т.п. (�Kло E6етло, поGт8 к4к д=е<.); 

пDопуEк 8л8 до546ле=8е од=о7о 87 EоGет4NI8EEO 6 ко=Fе пDедло6е=8O 7=4ко6 пDеп8=4=8O 
(74 8EклNGе=8е< к46KGек) 8л8 =4DуHе=8е 8E поEледо64телL=оEт8 6 ко=Fе пDедло6е=8O (�.�. 
'еEо6 п8E4л: "� Gело6еке дол6=о 5KтL 6Eе пDекD4E=о...") <10>. 

-------------------------------- 

<10> "�е74к46KGе==4O" Gу64O DеGL (6 лN5о< кол8GеEт6е) - Mто пу=кту4F8о==4O оH85к4 
(6клNG4O EлуG49, ко7д4 п8HуI89 4кт86=о 8EполL7ует 8EEод=K9 текEт, 5еDет 87 =е7о тоG=Kе 
F8т4тK, пD8 Mто< к46KGк8 =е 8EполL7ует Eо6Eе<). 
 

�ео5Eод8<о уG8тK64тL т4к6е по6тоDOе<оEтL 8 од=от8п=оEтL оH85ок. �Eл8 оH85к4 
по6тоDOетEO 6 од=о< 8 то< 6е Eло6е 8л8 6 коD=е од=окоDе==KE Eло6, то о=4 EG8т4етEO 74 од=у 
оH85ку. 

Од=от8п=K<8 EG8т4NтEO оH85к8 =4 од=о пD468ло, еEл8 уEло68O 6K5оD4 пD468лL=о7о 
=4п8E4=8O 74клNGе=K 6 7D4<<4т8GеEк8E (6 4D<88, 6 DоIе; колNт, 5оDNтEO) 8 Dо=ет8GеEк8E 
(п8Dо6ок, E6еDGок) оEо5е==оEтOE д4==о7о Eло64. 

�е EG8т4NтEO од=от8п=K<8 оH85к8 =4 т4кое пD468ло, 6 котоDо< длO 6KOE=е=8O 
пD468лL=о7о =4п8E4=8O од=о7о Eло64 тDе5уетEO подо5D4тL дDу7ое (опоD=ое) Eло6о 8л8 е7о DоD<у 
(6од4 - 6одK; Dот - Dот8к; 7DуEт=K9 - 7DуEт8тL; Dе7к89 - Dе7ок). 



�еD6Kе тD8 од=от8п=Kе оH85к8 EG8т4NтEO 74 од=у оH85ку, к46д4O EледуNI4O подо5=4O 
оH85к4 уG8тK64етEO к4к E4<оEтоOтелL=4O. �Eл8 6 од=о< =епDо6еDOе<о< Eло6е допуIе=K д6е 8 
5олее оH85к8, то 6Eе о=8 EG8т4NтEO 74 од=у оH85ку. 

�о=Oт8е о по6тоDONI8EEO 8 од=от8п=KE оH85к4E =е D4EпDоEтD4=OетEO =4 пу=кту4F8о==Kе 
оH85к8. 

�одDо5=Kе D47JOE=е=8O о =е7Dу5KE, од=от8п=KE 8 по6тоDONI8EEO оH85к4E д4=K 6 
�етод8GеEк8E <4теD84л4E длO пDедEед4теле9 8 Gле=о6 пDед<ет=KE ко<8EE89 Eу5Jекто6 
 оEE89Eко9 $едеD4F88 по пDо6еDке 6Kпол=е=8O 74д4=89 E D476еD=утK< от6ето< 
Mк74<е=4F8о==KE D45от ��1 по DуEEко<у O7Kку (пу5л8куNтEO =4 оD8F84лL=о< E49те $���' 
"$���") (http://www.fipi.ru/). 

�D8 6KO6ле=88 оH85ок, 6л8ONI8E =4 6KEт46ле=8е "74Gет4" 74 8то7о6ое EоG8=е=8е 
(87ло6е=8е) по КD8теD8N N 5, пDедл474етEO т4к6е 8EполL7о64тL "�етод8GеEк8е Dеко<е=д4F88 по 
под7ото6ке к 8то7о6о<у EоG8=е=8N" 8л8 "�етод8GеEк8е Dеко<е=д4F88 по под7ото6ке к 
8то7о6о<у 87ло6е=8N" (доку<е=тK опу5л8ко64=K =4 оD8F84лL=о< E49те $���' "$���") 
(http://www.fipi.ru/). 

5.2.10.  е7улLт4тK пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) по тDе5о64=8O< 8 кD8теD8O< 
оFе=864=8O ("74Gет"/"=е74Gет") 6=оEOтEO MкEпеDто< 6 коп8N 5л4=к4 Dе78EтD4F88. 

5.2.11. Коп88 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) MкEпеDтK пеDед4Nт теE=8GеEко<у EпеF84л8Eту, котоDK9 пеDе=оE8т Dе7улLт4тK 
пDо6еDк8 по тDе5о64=8O< 8 кD8теD8O< оFе=864=8O ("74Gет"/"=е74Gет") 87 коп89 5л4=ко6 
Dе78EтD4F88 6 оD878=4лK 5л4=ко6 Dе78EтD4F88 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

5.2.12. ! Dе7улLт4т4<8 4=4л874 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 <етод8ко9 под7ото6к8 к 
=е<у <о6=о о7=4ко<8тLEO =4 оD8F84лL=о< E49те $���' "$���" "(D47дел "�то7о6ое EоG8=е=8е 
(87ло6е=8е)") (https://fipi.ru/itogovoe-sochinenie). 

 

5.3. �Dо6еде=8е по6тоD=о9 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

� FелOE пDедот6D4Iе=8O ко=Dл8кт4 8=теDеEо6 8 о5еEпеGе=8O о5Jект86=о7о оFе=864=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) о5уG4NI8<EO, MкEтеD=4< пD8 полуGе=88 по6тоD=о7о 
=еудо6лет6оD8телL=о7о Dе7улLт4т4 ("=е74Gет") 74 8то7о6ое EоG8=е=8е (87ло6е=8е) 
пDедоEт46лOетEO пD46о под4тL 6 п8EL<е==о9 DоD<е 74O6ле=8е =4 пDо6еDку Eд4==о7о 8<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) ко<8EE8е9 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
дDу7о9 о5D47о64телL=о9 оD74=874F88 8л8 ко<8EE8е9 по пDо6еDке 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), опDеделе==о9 О��. �оDOдок под4G8 т4ко7о 74O6ле=8O 8 оD74=874F88 по6тоD=о9 
пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) ук474==о9 к4те7оD88 о5уG4NI8EEO, MкEтеD=о6 
опDеделOет О��. 
 

6. О5D45отк4 Dе7улLт4то6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

6.1. ОD878=4лK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) E 6=еEе==K<8 6 =8E Dе7улLт4т4<8 пDо6еDк8, 6 то< G8Eле оD878=4лK 5л4=ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 от<етко9 "X" 6 полO "�е 74ко=G8л" 8л8 "'д4ле=", 
подт6еD6де==о9 подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
доEт46лONтEO Dуко6од8телO<8 о5D47о64телL=KE оD74=874F89 (8л8 8=KE оD74=874F89, 6 котоDKE 
пDо6од8л4EL пDо6еDк4 по DеHе=8N О��) 6  &О� длO поEледуNIе9 о5D45отк8 (74 8EклNGе=8е< 
оD74=874F89, 6 котоDKE пDо6од8тEO Eк4=8Dо64=8е оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) поEле пDо6еде=8O пDо6еDк8 8 оFе=864=8O MкEпеDт4<8 ко<8EE89 по пDо6еDке 
8то7о6о7о EоG8=е=8O (87ло6е=8O). 

http://www.fipi.ru/
http://www.fipi.ru/
https://fipi.ru/itogovoe-sochinenie


6.2. О5D45отк4 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEуIеEт6лOетEO  &О� E 
8EполL7о64=8е< EпеF84лL=KE 4пп4D4т=о-пDо7D4<<=KE EDедEт6. 

6.3. О5D45отк4 пDо6еDе==KE 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6клNG4ет 6 Eе5O: 

Eк4=8Dо64=8е пDо6еDе==KE оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

D4Eпо7=464=8е 8=DоD<4F88, 6=еEе==о9 6 пDо6еDе==Kе оD878=4лK 5л4=ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

E6еDку D4Eпо7=4==о9 8=DоD<4F88 E оD878=4лL=о9 8=DоD<4F8е9, 6=еEе==о9 6 пDо6еDе==Kе 
оD878=4лK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

6.4. О5D45отк4 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6=4 746еDH8тLEO 6 EDок8, 
уEт4=о6ле==Kе пу=кто< 29 �оDOдк4. 

6.5. !к4=8Dо64=8е оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) поEле пDо6еде=8O пDо6еDк8 8 оFе=864=8O 
MкEпеDт4<8 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 то< G8Eле оD878=4ло6 
5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 от<етко9 "X" 6 полO "�е 74ко=G8л" 8л8 
"'д4ле=", подт6еD6де==о9 подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), пDо6од8тEO теE=8GеEк8< EпеF84л8Eто< 6 пD8EутEт688 Dуко6од8телO 
о5D47о64телL=о9 оD74=874F88. !к4=8Dо64=8N подле64т 6Eе 6Kд4==Kе уG4Eт=8к4< 5л4=к8 
8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 то< G8Eле =е74пол=е==Kе. ОтEк4=8Dо64==Kе 87о5D46е=8O 
5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) пеDед4NтEO 6  &О� длO поEледуNIе9 о5D45отк8. 

6.6. !к4=8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о6ет по DеHе=8N О�� 
пDо6од8тLEO 6 оD74=4E <еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONI8E упD46ле=8е 6 EDеDе 
о5D47о64=8O, E поEледуNIе9 пеDед4Gе9 о5D47о6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
 &О�. 

6.7. �у<46=Kе оD878=4лK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4уд8о74п8E8 уEт=KE 
8то7о6KE EоG8=е=89 (87ло6е=89) (6 EлуG4е пDоEо6де=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
уEт=о9 DоD<е уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) E О��, уG4Eт=8к4<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) - детL<8-8=64л8д4<8 8 8=64л8д4<8) =4пD46лONтEO =4 ED4=е=8е 6 <еEт4, 
опDеделе==Kе О��. �у<46=Kе оD878=4лK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
4уд8о74п8E8 уEт=KE 8то7о6KE EоG8=е=89 (87ло6е=89) ED4=OтEO поEле пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), 4 74те< у=8Gто64NтEO л8F4<8, опDеделе==K<8 О��. !Dок8 ED4=е=8O 
5у<46=KE оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4уд8о74п8Eе9 уEт=KE 8то7о6KE 
EоG8=е=89 (87ло6е=89) опDеделONтEO О��. 

6.8. О5D47K оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O)  &О� D47<еI4ет =4 
Dе78о=4лL=KE EеD6еD4E. 

6.9. &е<K 8то7о6о7о EоG8=е=8O 8 о5D47K оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O 
уG4Eт=8ко6 доEтуп=K о5D47о64телL=K< оD74=874F8O< 6KEHе7о о5D47о64=8O GеDе7 $�!. 
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�K5еD8те толLко О��' 87 пDедло6е==KE те< 8то7о6о7о EоG8=е=8O, 6 5л4=ке Dе78EтD4F88 8 
5л4=ке 74п8E8 ук468те =о<еD 6K5D4==о9 те<K 8то7о6о7о EоG8=е=8O, 6 5л4=ке 74п8E8 8то7о6о7о 
EоG8=е=8O пеDеп8H8те =4764=8е 6K5D4==о9 те<K 8то7о6о7о EоG8=е=8O. �4п8H8те EоG8=е=8е-

D4EEу6де=8е =4 Mту те<у.  еко<е=дуе<K9 о5Jе< - от 350 Eло6. �Eл8 6 EоG8=е=88 <е=ее 250 Eло6 
(6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле Eлу6е5=Kе), то 74 т4куN D45оту Eт468тEO "=е74Gет". 

�то7о6ое EоG8=е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е EоG8=е=8O 
(DD47<е=то6 EоG8=е=8O) 87 к4ко7о-л85о 8EтоG=8к4 8л8 6оEпDо876еде=8е по п4<Oт8 Gу6о7о текEт4 
(D45от4 дDу7о7о уG4Eт=8к4, текEт, опу5л8ко64==K9 6 5у<46=о< 8 (8л8) MлектDо==о< 68де, 8 дD.). 

�опуEк4етEO пDO<ое 8л8 коE6е==ое F8т8Dо64=8е E о5O74телL=о9 EEKлко9 =4 8EтоG=8к 
(EEKлк4 д4етEO 6 E6о5од=о9 DоD<е). О5Jе< F8т8Dо64=8O =е дол6е= пDе6KH4тL о5Jе< �4Hе7о 
Eо5Eт6е==о7о текEт4. �Eл8 EоG8=е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 
D45оту 6 Fело< (т4кое EоG8=е=8е =е пDо6еDOетEO по кD8теD8O< оFе=864=8O). 

� D4<к4E 74O6ле==о9 те<K EDоD<ул8Dу9те E6оN по78F8N, док468те ее, подкDеплOO 
4D7у<е=тK пD8<еD4<8 87 опу5л8ко64==KE л8теD4туD=KE пDо876еде=89. �о6=о пD86лек4тL 
пDо876еде=8O уEт=о7о =4Dод=о7о т6оDGеEт64 (74 8EклNGе=8е< <4лKE 64=Dо6), 4 т4к6е 
Eудо6еEт6е==уN, доку<е=т4лL=уN, <е<у4D=уN, пу5л8F8Eт8GеEкуN, =4уG=уN 8 =4уG=о-

популOD=уN л8теD4туDу (6 то< G8Eле D8лоEоDEкуN, пE8Eоло78GеEкуN, л8теD4туDо6едGеEкуN, 
8EкуEEт6о6едGеEкуN), д=е6=8к8, оGеDк8, л8теD4туD=уN кD8т8ку 8 дDу78е пDо876еде=8O 
отеGеEт6е==о9 8 <8Dо6о9 л8теD4туDK. �оEт4тоG=о опоDK =4 од8= текEт (кол8GеEт6о пD86леGе==KE 
текEто6 =е т4к 646=о, к4к 7лу58=4 D4EкDKт8O те<K E опоDо9 =4 л8теD4туD=K9 <4теD84л). 

�Dоду<49те ко<по78F8N EоG8=е=8O. !о5лNд49те DеGе6Kе 8 оDDо7D4D8GеEк8е =оD<K 
(D47DеH4етEO полL7о64тLEO оDDо7D4D8GеEк8< Eло64Dе<). !оG8=е=8е п8H8те Gетко 8 D475оDG86о. 

�D8 оFе=ке EоG8=е=8O оEо5ое 6=8<4=8е уделOетEO Eо5лNде=8N тDе5о64=89 о5Jе<4 8 
E4<оEтоOтелL=оEт8 =4п8E4=8O EоG8=е=8O, е7о Eоот6етEт68N 6K5D4==о9 те<е, у<е=8O< 
4D7у<е=т8Dо64тL по78F8N 8 о5оE=о64==о пD86лек4тL л8теD4туD=K9 <4теD84л. 
 

 

 

 

 

�D8ло6е=8е 2 

 

��!& 'К&�/ 

�Л/ 'Ч�!&��К� �&О�О�О�О ��ЛО����/ К &�К!&' 

�Л/ �&О�О�О�О ��ЛО����/ 

 

�DоEлуH49те (пDоG8т49те) текEт. � 5л4=ке Dе78EтD4F88 8 5л4=ке 74п8E8 ук468те =о<еD 
текEт4 8то7о6о7о 87ло6е=8O, 6 5л4=ке 74п8E8 8то7о6о7о 87ло6е=8O пеDеп8H8те =4764=8е текEт4 
длO 87ло6е=8O. �4п8H8те подDо5=ое 87ло6е=8е.  еко<е=дуе<K9 о5Jе< - от 200 Eло6. �Eл8 6 
87ло6е=88 <е=ее 150 Eло6 (6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле 8 Eлу6е5=Kе), то 74 
т4куN D45оту Eт468тEO "=е74Gет". 

�то7о6ое 87ло6е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е 87ло6е=8O 
87 к4ко7о-л85о 8EтоG=8к4 (D45от4 дDу7о7о уG4Eт=8к4, 8EEод=K9 текEт 8 дD.). 

�Eл8 87ло6е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 D45оту 6 Fело< 
(т4кое 87ло6е=8е =е пDо6еDOетEO по кD8теD8O< оFе=864=8O). 

!т4D49теEL тоG=о 8 пол=о пеDед4тL EодеD64=8е 8EEод=о7о текEт4, EоED4=O9те Mле<е=тK е7о 



Eт8лO (87ло6е=8е <о6=о п8E4тL от 1-7о 8л8 3-7о л8F4). 

О5D4I49те 6=8<4=8е =4 ло78ку 87ло6е=8O. !о5лNд49те DеGе6Kе 8 оDDо7D4D8GеEк8е =оD<K 
(D47DеH4етEO полL7о64тLEO оDDо7D4D8GеEк8< 8 толко6K< Eло64DO<8). 

�7ло6е=8е п8H8те Gетко 8 D475оDG86о. 

�D8 оFе=ке 87ло6е=8O оEо5ое 6=8<4=8е уделOетEO Eо5лNде=8N тDе5о64=89 о5Jе<4 8 
E4<оEтоOтелL=оEт8 =4п8E4=8O 87ло6е=8O, е7о EодеD64=8N 8 ло78G=оEт8. 
 

 

 

 

 

�D8ло6е=8е 3 

 

О� ���& ��/�Л���/ 

О� ''�!&�� � �&О�О�О� !О'������ (��ЛО�����) �/�'!К��К� 

&�К')��О ''���О�О �О�� 

 

  уко6од8телN 
о5D47о64телL=о9 

оD74=874F88 

  

 

  

�4O6ле=8е о5 уG4Eт88 6 8то7о6о< EоG8=е=88 (87ло6е=88) 

 

                    

($4<8л8O) 

                    

(�<O) 

                    

(ОтGеEт6о) 

  ·   ·      

(�4т4 Dо6де=8O)  

               

(Ко=т4кт=K9 телеDо=)  

�48<е=о64=8е доку<е=т4, удоEто6еDONIе7о л8G=оEтL: 

 



 

 ек6878тK доку<е=т4, удоEто6еDONIе7о л8G=оEтL: 

 

!еD8O     �о<еD            

 

�ол:  �у6Eко9  �е=Eк89 

 

!��Л!            

 

�DоHу 74Dе78EтD8Dо64тL <е=O длO уG4Eт8O 6 8то7о6о< 

 

EоG8=е=88  87ло6е=88  

 

длO полуGе=8O допуEк4 к 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 по о5D47о64телL=K< 
пDо7D4<<4< EDед=е7о о5Iе7о о5D47о64=8O. 

�DоHу оD74=87о64тL пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уEло68OE, уG8тK64NI8E 
EоEтоO=8е <ое7о 7доDо6LO, оEо5е==оEт8 пE8EоD878GеEко7о D4768т8O, подт6еD6д4е<Kе: 

 
 оD878=4ло< 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп8е9 Dеко<е=д4F89 

���К 

 
 оD878=4ло< 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп8е9 EпD46к8, 

подт6еD6д4NIе9 D4кт уEт4=о6ле=8O 8=64л8д=оEт8, 6Kд4==о9 $�' �!1 

�ео5Eод8<Kе уEло68O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

 
  

 

 
  

 

 

! �4<Oтко9 о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) о7=4ко<ле=(-4) 

 

�одп8EL 74O68телO ______________/____________________ ($.�.О.) 

"__" ____________ 20__ 7. 

�одп8EL Dод8телO (74ко==о7о пDедEт468телO) =еEо6еDHе==олет=е7о уG4Eт=8к4 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) ___________/__________________ ($.�.О.) 

"__" ____________ 20__ 7. 

 

 е78EтD4F8о==K9 =о<еD             



 

 

 

 

 

�D8ло6е=8е 4 

 

О� ���& ��/�Л���/ 

О� ''�!&�� � �&О�О�О� !О'������ �/�'!К��К� � О(Л/% Л�& 

 

 Ко<у 

  

 

  

�4O6ле=8е о5 уG4Eт88 6 8то7о6о< EоG8=е=88 

 

                   

($4<8л8O) 

                   

(�<O) 

                   

(ОтGеEт6о) 

  ·   ·     

(�4т4 Dо6де=8O)  

              

(Ко=т4кт=K9 телеDо=)  

�48<е=о64=8е доку<е=т4, удоEто6еDONIе7о л8G=оEтL: 

 

 

 ек6878тK доку<е=т4, удоEто6еDONIе7о л8G=оEтL: 

 

!еD8O     �о<еD            

 

�ол:  �у6Eко9  �е=Eк89 

 

!��Л!            



 

�DоHу 74Dе78EтD8Dо64тL <е=O длO уG4Eт8O 6 8то7о6о< EоG8=е=88 (от<ет8тL д4ту уG4Eт8O 6 
8то7о6о< EоG8=е=88): 

 

  6 пеD6уN EDеду дек45DO; 

  

  6 пеD6уN EDеду Dе6D4лO; 

  

  6о 6тоDуN EDеду 4пDелO 

 

длO 8EполL7о64=8O е7о пD8 пD8е<е 6 о5D47о64телL=Kе оD74=874F88 6KEHе7о о5D47о64=8O. 

�DоHу оD74=87о64тL пDо6еде=8е 8то7о6о7о EоG8=е=8O 6 уEло68OE, уG8тK64NI8E EоEтоO=8е 
<ое7о 7доDо6LO, оEо5е==оEт8 пE8EоD878GеEко7о D4768т8O, подт6еD6д4е<Kе: 

 
 оD878=4ло< 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп8е9 Dеко<е=д4F89 

���К 

 
 оD878=4ло< 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп8е9 EпD46к8, 

подт6еD6д4NIе9 D4кт уEт4=о6ле=8O 8=64л8д=оEт8, 6Kд4==о9 $�' �!1 

�ео5Eод8<Kе уEло68O пDо6еде=8O 8то7о6о7о EоG8=е=8O: 

 
  

 

 
  

 

 

! �4<Oтко9 о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) о7=4ко<ле=(-4) 

 

�одп8EL 74O68телO ______________/____________________ ($�О) 

"__" ____________ 20__ 7. 

 

 е78EтD4F8о==K9 =о<еD             

 

 

 

 

 

�D8ло6е=8е 5 

 

�4<Oтк4 

о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 



длO о7=4ко<ле=8O о5уG4NI8EEO 8 8E Dод8теле9 

(74ко==KE пDедEт468теле9) <11> 

 

-------------------------------- 

<11> �4==4O �4<Oтк4 <о6ет 5KтL D47<еIе=K =4 оD8F84лL=о< E49те о5D47о64телL=о9 
оD74=874F88, оD74=4 <еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONIе7о упD46ле=8е 6 EDеDе 
о5D47о64=8O. !поEо5K о7=4ко<ле=8O <о7ут 5KтL опDеделе=K О��, о5D47о64телL=K<8 
оD74=874F8O<8, оD74=4<8 <еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONI8<8 упD46ле=8е 6 EDеDе 
о5D47о64=8O. 
 

1. �то7о6ое EоG8=е=8е (87ло6е=8е) к4к уEло68е допуEк4 к 7оEуд4DEт6е==о9 8то7о6о9 
4ттеEт4F88 по о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о о5D47о64=8O (д4лее - ���) 
пDо6од8тEO длO о5уG4NI8EEO, MкEтеD=о6. 

2. �7ло6е=8е 6пD46е п8E4тL: 

о5уG4NI8еEO E о7D4=8Gе==K<8 6о7<о6=оEтO<8 7доDо6LO, MкEтеD=K E о7D4=8Gе==K<8 
6о7<о6=оEтO<8 7доDо6LO, о5уG4NI8еEO - дет8-8=64л8дK 8 8=64л8дK, MкEтеD=K - дет8-8=64л8дK 
8 8=64л8дK; 

о5уG4NI8еEO 6 EпеF84лL=KE уGе5=о-6оEп8т4телL=KE уGDе6де=8OE 74кDKто7о т8п4, 4 т4к6е 6 
уGDе6де=8OE, 8Eпол=ONI8E =4к474=8е 6 68де л8Hе=8O E6о5одK; 

л8F4, о5уG4NI8еEO по EоEтоO=8N 7доDо6LO =4 до<у, 6 о5D47о64телL=KE оD74=874F8OE, 6 то< 
G8Eле E4=4тоD=о-куDоDт=KE, 6 котоDKE пDо6одOтEO =ео5Eод8<Kе леGе5=Kе, Dе458л8т4F8о==Kе 8 
о7доDо68телL=Kе <еDопD8Oт8O длO =у6д4NI8EEO 6 дл8телL=о< леGе=88, =4 оE=о64=88 
74клNGе=8O <ед8F8=Eко9 оD74=874F88. 

3. �то7о6ое EоG8=е=8е (87ло6е=8е) пDо6од8тEO 6 пеD6уN EDеду дек45DO поEлед=е7о 7од4 
о5уGе=8O. 

4. О5уG4NI8еEO длO уG4Eт8O 6 8то7о6о< EоG8=е=88 (87ло6е=88) под4Nт 74O6ле=8O =е 
по7д=ее Gе< 74 д6е =едел8 до =4G4л4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 E6оN 
Hколу, MкEтеD=K - 6 о5D47о64телL=Kе оD74=874F88, 6K5D4==Kе MкEтеD=4<8 длO пDоEо6де=8O 
7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 по о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о 
о5D47о64=8O. 

5. �то7о6ое EоG8=е=8е (87ло6е=8е) пDо6од8тEO 6 Hкол4E, 7де о5уG4NтEO уG4Eт=8к8 
8то7о6о7о EоG8=е=8O (87ло6е=8O), 8 (8л8) 6 <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
опDеделе==KE оD74=о< 8Eпол=8телL=о9 6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, 
оEуIеEт6лONI8< 7оEуд4DEт6е==ое упD46ле=8е 6 EDеDе о5D47о64=8O (д4лее - О��). 

6. О�� опDеделOет поDOдок пDо6еде=8O 8 поDOдок пDо6еDк8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) =4 теDD8тоD88 Eу5Jект4  оEE89Eко9 $едеD4F88. 

�о DеHе=8N О�� <еEт4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5оDудуNтEO 
Eт4F8о=4D=K<8 8 (8л8) пеDе=оE=K<8 <ет4лло8Eк4телO<8, EDедEт64<8 68део=45лNде=8O, 
EDедEт64<8 под46ле=8O E87=4ло6 под686=о9 E6O78. 

7. �то7о6ое EоG8=е=8е (87ло6е=8е) =4G8=4етEO 6 10:00 по <еEт=о<у 6Dе<е=8. 

8. �Eл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) опо7д4л, о= допуEк4етEO к =4п8E4=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O), пD8 Mто< 6Dе<O око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), 74D8кE8Dо64==ое =4 доEке (8=DоD<4F8о==о< Eте=де) Gле=4<8 ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е пDодле64етEO. �о6тоD=K9 о5I89 8=EтDукт46 



длO опо7д46H8E уG4Eт=8ко6 =е пDо6од8тEO (74 8EклNGе=8е<, ко7д4 6 уGе5=о< к458=ете =ет дDу78E 
уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 'ле=K ко<8EE88 по пDо6еде=8N EоG8=е=8O 
(87ло6е=8O) 6 о5D47о64телL=KE оD74=874F8OE пDедоEт46лONт =ео5Eод8<уN 8=DоD<4F8N длO 
74пол=е=8O Dе78EтD4F8о==KE поле9 5л4=ко6 EоG8=е=8O (87ло6е=8O).  еко<е=дуе< =е 
оп47дK64тL =4 пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

9. �Eод уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEто пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) =4G8=4етEO E 09:00 по <еEт=о<у 6Dе<е=8. �D8 Eе5е =ео5Eод8<о 8<етL 
доку<е=т, удоEто6еDONI89 л8G=оEтL. 

10.  еко<е=дуетEO 67OтL E Eо5о9 =4 EоG8=е=8е (87ло6е=8е) толLко =ео5Eод8<Kе 6еI8: 

доку<е=т, удоEто6еDONI89 л8G=оEтL; 

DуGк4 (7еле64O 8л8 к4п8ллOD=4O E GеD=8л4<8 GеD=о7о F6ет4); 

лек4DEт64 (пD8 =ео5Eод8<оEт8); 

пDодуктK п8т4=8O длO допол=8телL=о7о пD8е<4 п8I8 (пеDекуE), 5ут8л8Dо64==4O п8тLе64O 
6од4 пD8 уEло688, Gто уп4ко6к4 ук474==KE пDодукто6 п8т4=8O 8 6одK, 4 т4к6е 8E потDе5ле=8е =е 
5удут от6лек4тL дDу78E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) от =4п8E4=8O 8<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) (пD8 =ео5Eод8<оEт8); 

длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E о7D4=8Gе==K<8 6о7<о6=оEтO<8 
7доDо6LO, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 - 

EпеF84лL=Kе теE=8GеEк8е EDедEт64 (пD8 =ео5Eод8<оEт8). 

�=Kе л8G=Kе 6еI8 уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5O74=K оEт468тL 6 
EпеF84лL=о 6Kделе==о< 6 уGе5=о< к458=ете <еEте длO ED4=е=8O л8G=KE 6еIе9 уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O). 

11. �о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6Kд4дут GеD=о68к8, 5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е 
оDDо7D4D8GеEк89 Eло64DL длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (оDDо7D4D8GеEк89 8 толко6K9 
Eло64D8 длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O). 

�=8<4=8е! 'еD=о68к8 =е пDо6еDONтEO 8 74п8E8 6 =8E =е уG8тK64NтEO пD8 пDо6еDке. 

12. &е<K 8то7о6о7о EоG8=е=8O Eт4=о6OтEO о5IедоEтуп=K<8 74 15 <8=ут до =4G4л4 
пDо6еде=8O EоG8=е=8O. &екEтK длO 87ло6е=8O доEт46лONтEO 6 HколK 8 6Kд4NтEO уG4Eт=8к4< 
8то7о6о7о 87ло6е=8O 6 де=L пDо6еде=8O 8то7о6о7о 87ло6е=8O =е D4=ее 10:00 по <еEт=о<у 
6Dе<е=8. 

13. �Dодол68телL=оEтL 6Kпол=е=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет 3 G4E4 55 
<8=ут (235 <8=ут). 

14. �лO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E о7D4=8Gе==K<8 6о7<о6=оEтO<8 
7доDо6LO, о5уG4NI8EEO по EоEтоO=8N 7доDо6LO =4 до<у, 6 <ед8F8=Eк8E оD74=874F8OE (пD8 
пDедJO6ле=88 оD878=4л4 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп88 Dеко<е=д4F89 ���К), 
уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 (пD8 пDедJO6ле=88 
оD878=4л4 8л8 =4дле64I8< о5D47о< 746еDе==о9 коп88 EпD46к8, подт6еD6д4NIе9 
8=64л8д=оEтL) пDодол68телL=оEтL 6Kпол=е=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) у6ел8G864етEO 
=4 1,5 G4E4. �D8 пDодол68телL=оEт8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 5олее GетKDеE G4Eо6 
оD74=87уетEO п8т4=8е уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 поDOдке, опDеделе==о< 
О��. 



15. �лO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E о7D4=8Gе==K<8 6о7<о6=оEтO<8 
7доDо6LO, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 8то7о6ое 
EоG8=е=8е (87ло6е=8е) <о6ет по 8E 6ел4=8N 8 пD8 =4л8G88 Eоот6етEт6уNI8E <ед8F8=Eк8E 
пок474=89 пDо6од8тLEO 6 уEт=о9 DоD<е. 

16. �о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 74пDеI4етEO 8<етL пD8 Eе5е EDедEт64 E6O78, Dото-, 4уд8о- 8 68део4пп4D4туDу, 
EпD46оG=Kе <4теD84лK, п8EL<е==Kе 74<етк8 8 8=Kе EDедEт64 ED4=е=8O 8 пеDед4G8 8=DоD<4F88, 
Eо5Eт6е==Kе оDDо7D4D8GеEк8е 8 (8л8) толко6Kе Eло64D8. 'G4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) т4к6е 74пDеI4етEO полL7о64тLEO текEт4<8 л8теD4туD=о7о <4теD84л4 
(Eудо6еEт6е==Kе пDо876еде=8O, д=е6=8к8, <е<у4DK, пу5л8F8Eт8к4, дDу78е л8теD4туD=Kе 
8EтоG=8к8). 'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), =4DуH86H8е уEт4=о6ле==Kе 
тDе5о64=8O, уд4лONтEO E 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=о< ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=о9 оD74=874F88. � д4==о< EлуG4е оDоD<лOетEO 
Eоот6етEт6уNI89 4кт, =4 оE=о64=88 котоDо7о пед47о78GеEк8< Eо6ето< 5удет пD8=Oто DеHе=8е о 
по6тоD=о< допуEке к =4п8E4=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 допол=8телL=Kе д4тK. 

17. � EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) по EоEтоO=8N 7доDо6LO 8л8 
дDу78< о5Jект86=K< пD8G8=4< =е <о6ет 746еDH8тL =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
о= <о6ет пок8=утL уGе5=K9 к458=ет. � д4==о< EлуG4е оDоD<лOетEO Eоот6етEт6уNI89 4кт, =4 
оE=о64=88 котоDо7о пед47о78GеEк8< Eо6ето< 5удет пD8=Oто DеHе=8е о по6тоD=о< допуEке к 
=4п8E4=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 допол=8телL=Kе д4тK. 

18. 'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), доEDоG=о 746еDH86H8е 6Kпол=е=8е 
8то7о6о7о EоG8=е=8O (87ло6е=8O), Eд4Nт 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 
5л4=к8 74п8E8), GеD=о68к8 8 пок8д4Nт <еEто пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е 
до68д4OEL уEт4=о6ле==о7о 6Dе<е=8 746еDHе=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

19. К =4п8E4=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 допол=8телL=Kе д4тK 6 текуIе< 
уGе5=о< 7оду (6 пеD6уN EDеду Dе6D4лO 8 6тоDуN EDеду 4пDелO) допуEк4NтEO: 

о5уG4NI8еEO 8 MкEтеD=K, полуG86H8е по 8то7о6о<у EоG8=е=8N (87ло6е=8N) 
=еудо6лет6оD8телL=K9 Dе7улLт4т ("=е74Gет"); 

о5уG4NI8еEO 8 MкEтеD=K, уд4ле==Kе E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74 =4DуHе=8е 
тDе5о64=89, уEт4=о6ле==KE подпу=кто< 1 пу=кт4 28 �оDOдк4; 

о5уG4NI8еEO 8 MкEтеD=K, =е O686H8еEO =4 8то7о6ое EоG8=е=8е (87ло6е=8е) по 
у6468телL=K< пD8G8=4< (5оле7=L 8л8 8=Kе о5EтоOтелLEт64), подт6еD6де==K< доку<е=т4лL=о; 

о5уG4NI8еEO 8 MкEтеD=K, =е 746еDH86H8е =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) по 
у6468телL=K< пD8G8=4< (5оле7=L 8л8 8=Kе о5EтоOтелLEт64), подт6еD6де==K< доку<е=т4лL=о. 

20. О5уG4NI8еEO 8 MкEтеD=K, полуG86H8е по 8то7о6о<у EоG8=е=8N (87ло6е=8N) 
=еудо6лет6оD8телL=K9 Dе7улLт4т ("=е74Gет"), допуEк4NтEO к уG4Eт8N 6 8то7о6о< EоG8=е=88 
(87ло6е=88) 6 текуIе< уGе5=о< 7оду, =о =е 5олее д6уE D47 8 толLко 6 допол=8телL=Kе д4тK, 
уEт4=о6ле==Kе �оDOдко<. 

21. � FелOE пDедот6D4Iе=8O ко=Dл8кт4 8=теDеEо6 8 о5еEпеGе=8O о5Jект86=о7о оFе=864=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) о5уG4NI8<EO, MкEтеD=4< пD8 полуGе=88 по6тоD=о7о 
=еудо6лет6оD8телL=о7о Dе7улLт4т4 ("=е74Gет") 74 8то7о6ое EоG8=е=8е (87ло6е=8е) 
пDедоEт46лOетEO пD46о под4тL 6 п8EL<е==о9 DоD<е 74O6ле=8е =4 пDо6еDку =4п8E4==о7о 8<8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) ко<8EE8е9 дDу7о9 о5D47о64телL=о9 оD74=874F88 8л8 
ко<8EE8е9, опDеделе==о9 О��. 

�оDOдок под4G8 т4ко7о 74O6ле=8O 8 оD74=874F88 по6тоD=о9 пDо6еDк8 8то7о6о7о EоG8=е=8O 
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(87ло6е=8O) ук474==о9 к4те7оD88 о5уG4NI8EEO опDеделOет О��. 

22. �то7о6ое EоG8=е=8е (87ло6е=8е) к4к допуEк к ��� де9Eт6ует 5еEEDоG=о. 
 

! пD468л4<8 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) о7=4ко<ле=(-4): 

 

'G4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

 (  ) 

подп8EL  D4EH8DDо6к4 подп8E8  

"__" ___________ 20__ 7.    

 

 од8телL/74ко==K9 пDедEт468телL уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

 (  ) 

подп8EL  D4EH8DDо6к4 подп8E8  

"__" ___________ 20__ 7.    

 

 

 

 

 

�D8ло6е=8е 6 

 

��!& 'К&�/ 

�Л/ &�%��Ч�!КО�О !��&��Л�!&� �О �ОЛ'Ч���. КО��Л�К&О� &�� 

�&О�О�О�О !ОЧ�����/ 

 

Ко<плектK те< 8то7о6о7о EоG8=е=8O 74 15 <8=ут до пDо6еде=8O 8то7о6о7о EоG8=е=8O по 
<еEт=о<у 6Dе<е=8 D47<еI4NтEO =4 поDт4ле по 4дDеEу topic.rustest.ru, EEKлк4 =4 д4==K9 DеEуDE 
т4к6е D47<еI4етEO =4 оD8F84лL=о< E49те $��' "$&&" (http://rustest.ru/). 

�лO полуGе=8O ко<плект4 те< 8то7о6о7о EоG8=е=8O =ео5Eод8<о пеDе9т8 =4 DеEуDE 
topic.rustest.ru, 7де ото5D478тEO 7л46=ое ок=о DеEуDE4. � EDед=е9 о5л4Eт8 7л46=о7о ок=4 
ото5D478тEO пеDеGе=L Eу5Jекто6 6 D47586ке по DедеD4лL=K< окDу74<. 

�лO пDоE<отD4 те< EоG8=е=89 =ео5Eод8<о 6K5D4тL =ео5Eод8<K9 Eу5Jект 8 =464тL 
куDEоDо< <KH8 по е7о =48<е=о64=8N. 

� EлуG4е еEл8 те<K 8то7о6о7о EоG8=е=8O длO 6K5D4==о7о Eу5Jект4 еIе =е опу5л8ко64=K, 
=48<е=о64=8е Eу5Jект4 5удет 6Kделе=о E8=8< F6ето< 8 пD8 пеDеEоде =4 EтD4=8Fу Eу5Jект4 
5удет 6K6еде=о Eоо5Iе=8е "Ко<плект те< 5удет доEтупе= =4G8=4O E 9:45 по <еEт=о<у 6Dе<е=8". 

� EлуG4е еEл8 те<K 8то7о6о7о EоG8=е=8O у6е опу5л8ко64=K, то =48<е=о64=8е Eу5Jект4 
5удет 6Kделе=о кD4E=K< 8 пD8 пеDеEоде =4 EтD4=8Fу Eу5Jект4 5удет 6K6еде= ко<плект те< 
8то7о6о7о EоG8=е=8O. 

�лO то7о Gто5K Eк4G4тL ко<плект те< 8то7о6о7о EоG8=е=8O =ео5Eод8<о =464тL =4 к=опку 
"!к4G4тL". �оEле =464т8O =4 к=опку 5удет пDо876еде=4 747Dу7к4 D49л4 6 DоD<4те *.rtf. � D49ле 
5удет ук474=4 8=EтDукF8O по 6Kпол=е=8N, =48<е=о64=8е Dе78о=4 (D49о=о6) 8 те<K 8то7о6о7о 

https://rustest.ru/


EоG8=е=8O; 

'то5K D4EпеG4т4тL те<K 8то7о6о7о EоG8=е=8O, =ео5Eод8<о 8EполL7о64тL к=опку 
" 4EпеG4т4тL". �оEле =464т8O =4 к=опку " 4EпеG4т4тL" откDоетEO EтD4=8F4, опт8<878Dо64==4O длO 
пеG4т8. 

�лO Eу5Jекто6 !4E4л8=Eк4O о5л4EтL 8  еEпу5л8к4 !4E4 (/кут8O) пD8 =464т88 =4 
=48<е=о64=8е Eу5Jект4 D4EкDK64етEO пеDеGе=L D49о=о6 д4==KE Dе78о=о6. �D8 6K5оDе D49о=4 
пDо8EEод8т пеDеEод =4 EтD4=8Fу D49о=4 E те<4<8 EоG8=е=89. 
 

 

 

 

 

�D8ло6е=8е 7 

 

��!& 'К&�/ 

�Л/ 'Ч�!&��К� �&О�О�О�О !ОЧ�����/ (��ЛО����/), 
��Ч�&/�����/ ЧЛ��О� КО��!!�� �О � О������. �&О�О�О�О 

!ОЧ�����/ (��ЛО����/) � 'Ч���О� К�����&� �� �� ��Ч�ЛО� 

� О������/ �&О�О�О�О !ОЧ�����/ (��ЛО����/) 
 

&екEт, котоDK9 6Kделе= 68D=K< HD8Dто<, дол6е= 5KтL пDоG8т4= уG4Eт=8к4< 
8то7о6о7о EоG8=е=8O (87ло6е=8O) . 1то дел4етEO длO Eт4=д4Dт874F88 
пDоFедуDK пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

Ко<<е=т4D88, от<еGе==Kе куDE86о<, =е G8т4NтEO уG4Eт=8к4<. О=8 д4=K 6 по<оIL 
Gле=у ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). �=EтDукт46 уG4Eт=8ко6 8 
пDоFедуD4 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDо6одOтEO 6 Eпоко9=о9 8 до5Dо6ел4телL=о9 
о5Eт4=о6ке. 

 

Под7ото68телL=Kе <еDопD8Oт8O: 

До 09:45 по <еEт=о<у 6Dе<е=8 оDоD<8тL =4 доEке 6 уGе5=о< к458=ете о5D47еF 
Dе78EтD4F8о==KE поле9 5л4=ко6 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O). �4пол=8тL полO: 
"Код Dе78о=4", "Код о5D47о64телL=о9 оD74=874F88", "�еEто пDо6еде=8O", "�о<еD к458=ет4", 

"Д4т4 пDо6еде=8O", "Код 68д4 D45отK", "�48<е=о64=8е 68д4 D45от". 

ОEт46H8еEO полO - "Кл4EE: =о<еD 8 5ук64", "�о<еD те<K", Ф�О, д4==Kе доку<е=т4, 
удоEто6еDONIе7о л8G=оEтL - уG4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пол=ONт 
E4<оEтоOтелL=о. Поле "Кол8GеEт6о 5л4=ко6 74п8E8" 74пол=OетEO Gле=о< ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) по 746еDHе=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
6 пD8EутEт688 уG4Eт=8к4 (6 ук474==ое поле 6п8EK64етEO то кол8GеEт6о 5л4=ко6 74п8E8, 
6клNG4O допол=8телL=Kе 5л4=к8 74п8E8 (6 EлуG4е еEл8 т4к8е 6Kд464л8EL по 74пDоEу 
уG4Eт=8к4), котоDое 5Kло 6Kд4=о уG4Eт=8ку). 
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слово в слово
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�олO, 74пол=Oе<Kе 
уG4Eт=8ко< по ук474=8N 

Gле=4 ко<8EE88 

'к474=8O по 74пол=е=8N 

Код Dе78о=4 Код Eу5Jект4  оEE89Eко9 $едеD4F88 6 Eоот6етEт688 E 
код8Dо6ко9 DедеD4лL=о7о EпD46оG=8к4 Eу5Jекто6  оEE89Eко9 
$едеD4F88 

Код о5D47о64телL=о9 
оD74=874F88 

Код о5D47о64телL=о9 оD74=874F88, 6 котоDо9 о5уG4етEO 
уG4Eт=8к, 6 Eоот6етEт688 E код8Dо6ко9, пD8=Oто9 6 Eу5Jекте 
 оEE89Eко9 $едеD4F88 (уG4Eт=8к8 8то7о6о7о EоG8=е=8O, 
уG4Eт6уNI8е 6 EоG8=е=88 по 6ел4=8N, 6п8EK64Nт код 
о5D47о64телL=о9 оD74=874F88, 6 котоDо9 т4ко9 уG4Eт=8к 
полуG8л у6едо<ле=8е =4 8то7о6ое EоG8=е=8е) 

Кл4EE: =о<еD, 5ук64 �=DоD<4F8O о кл4EEе, 6 котоDо< о5уG4етEO 6KпуEк=8к 
(уG4Eт=8к8 8то7о6о7о EоG8=е=8O, уG4Eт6уNI8е 6 EоG8=е=88 по 
6ел4=8N, ук474==Kе полO =е 74пол=ONт) 

�еEто пDо6еде=8O Код о5D47о64телL=о9 оD74=874F88, 6 котоDо9 уG4Eт=8к п8Hет 
EоG8=е=8е (87ло6е=8е) 

�о<еD к458=ет4 �о<еD уGе5=о7о к458=ет4, 6 котоDо< пDо6од8тEO EоG8=е=8е 
(87ло6е=8е) 

�4т4 пDо6еде=8O �4т4 пDо6еде=8O EоG8=е=8O (87ло6е=8O) 

Код 68д4 D45отK 20 - EоG8=е=8е, 21 - 87ло6е=8е 

�48<е=о64=8е 68д4 D45отK 'к47K64етEO 68д D45отK (EоG8=е=8е 8л8 87ло6е=8е) 

�о<еD те<K 'к47K64етEO 6 Eоот6етEт688 E 6K5D4==о9 те<о9 

 

�4 8то7о6о< EоG8=е=88 допуEк4етEO 8EполL7о64=8е: 

оDDо7D4D8GеEко7о Eло64DO, 6Kд4==о7о уG4Eт=8ку Gле=о< ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O. 

�4 8то7о6о< 87ло6е=88 допуEк4етEO 8EполL7о64=8е: 

оDDо7D4D8GеEко7о 8 толко6о7о Eло64Dе9, 6Kд4==KE уG4Eт=8ку Gле=о< ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 



�=EтDукF8O длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

ПеD64O G4EтL 8=EтDукт464 (=4G4ло пDо6еде=8O до 10:00 по <еEт=о<у 6Dе<е=8): 

'6464е<Kе уG4Eт=8к8, Eе7од=O 6K уG4Eт6уете 6 =4п8E4=88 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). �DоEлуH49те 8=EтDукF8N о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 

�4по<8=4е<, Gто 6о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 64< 
=ео5Eод8<о Eо5лNд4тL поDOдок пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�о 6Dе<O D45отK 6 уGе5=о< к458=ете 74пDеI4етEO: 

8<етL пD8 Eе5е EDедEт64 E6O78, Dото-, 4уд8о- 8 68део4пп4D4туDу, EпD46оG=Kе <4теD84лK, 
п8EL<е==Kе 74<етк8 8 8=Kе EDедEт64 ED4=е=8O 8 пеDед4G8 8=DоD<4F88; 

полL7о64тLEO текEт4<8 л8теD4туD=о7о <4теD84л4 (Eудо6еEт6е==K<8 пDо876еде=8O<8, 
д=е6=8к4<8, <е<у4D4<8, пу5л8F8Eт8ко9, дDу78<8 л8теD4туD=K<8 8EтоG=8к4<8), 
Eо5Eт6е==K<8 оDDо7D4D8GеEк8<8 8 (8л8) толко6K<8 Eло64DO<8. 

'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), =4DуH86H8е уEт4=о6ле==Kе тDе5о64=8O, 
уд4лONтEO E 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 

О5D4I4е< 64Hе 6=8<4=8е, Gто 6о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
D45оGе< Eтоле по<8<о 5л4=к4 Dе78EтD4F88 8 5л4=ко6 74п8E8, =4EодOтEO: 

DуGк4 (7еле64O 8л8 к4п8ллOD=4O E GеD=8л4<8 GеD=о7о F6ет4); 

доку<е=т, удоEто6еDONI89 л8G=оEтL; 

лек4DEт64 (пD8 =ео5Eод8<оEт8); 

пDодуктK п8т4=8O длO допол=8телL=о7о пD8е<4 п8I8 (пеDекуE), 5ут8л8Dо64==4O 
п8тLе64O 6од4 пD8 уEло688, Gто уп4ко6к4 ук474==KE пDодукто6 п8т4=8O 8 6одK, 4 т4к6е 8E 
потDе5ле=8е =е 5удут от6лек4тL дDу78E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) от 
=4п8E4=8O 8<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) (пD8 =ео5Eод8<оEт8); 

длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O - оDDо7D4D8GеEк89 Eло64DL, 6Kд4==K9 по <еEту 
пDо6еде=8O 8то7о6о7о EоG8=е=8O; длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O - оDDо7D4D8GеEк89 8 
толко6K9 Eло64D8, 6Kд4==Kе по <еEту пDо6еде=8O 8то7о6о7о 87ло6е=8O; 

8=EтDукF8O длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

GеD=о68к8; 

длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E о7D4=8Gе==K<8 6о7<о6=оEтO<8 
7доDо6LO, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9- 8=64л8до6 8 8=64л8до6 - 

EпеF84лL=Kе теE=8GеEк8е EDедEт64 (пD8 =ео5Eод8<оEт8). 

�K <о6ете дел4тL по<етк8 =4 GеD=о68к4E. О5D4I4е< 64Hе 6=8<4=8е =4 то, Gто 74п8E8 6 
GеD=о68к4E =е пDо6еDONтEO. 

�Dодол68телL=оEтL 6Kпол=е=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет 3 G4E4 55 
<8=ут (235 <8=ут). 

О7=4ко<8тLEO E Dе7улLт4т4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6K E<о6ете 6 Hколе 8л8 



6 <еEт4E, 6 котоDKE 5Kл8 74Dе78EтD8Dо64=K =4 уG4Eт8е 6 8то7о6о< EоG8=е=88 (87ло6е=88). 

�о 6Eе< 6опDоE4<, E6O74==K< E поDOдко< пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
6K <о6ете о5D4I4тLEO к =4<. � EлуG4е =ео5Eод8<оEт8 6KEод4 87 к458=ет4 оEт46Lте 64H8 
<4теD84лK 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 GеD=о68к8 =4 E6ое< D45оGе< Eтоле. Чле= 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDо6еD8т ко<плект=оEтL 
оEт46ле==KE 64<8 <4теD84ло6 8 л8Eто6 5у<478 длO GеD=о68ко6, поEле Gе7о 6K E<о6ете 6K9т8 
87 уGе5=о7о к458=ет4. �4 теDD8тоD88 HколK 64E 5удет EопDо6о6д4тL де6уD=K9. 

� EлуG4е плоEо7о E4<оGу6Eт68O =е74<едл8телL=о о5D4I49теEL к =4<. � Hколе 
пD8EутEт6ует <ед8F8=Eк89 D45от=8к. �4по<8=4е<, Gто по EоEтоO=8N 7доDо6LO 8л8 дDу78< 
о5Jект86=K< пD8G8=4< 6K <о6ете доEDоG=о 746еDH8тL =4п8E4=8е 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 8 пD89т8 =4 пеDеEд4Gу. 

ВтоD4O G4EтL 8=EтDукт464 пDо6од8тEO =е D4=ее 10:00 по <еEт=о<у 6Dе<е=8: 

!т4л8 876еEт=K те<K EоG8=е=8O (текEтK длO 87ло6е=8O). 

Чле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74G8тK64Nт 
уG4Eт=8к4< те<K 8то7о6KE EоG8=е=89, 4 т4к6е =4764=8е текEт4 длO 8то7о6о7о 87ло6е=8O 
(текEт длO 87ло6е=8O =е 74G8тK64етEO). 

�D8Eтуп4е< к 74пол=е=8N 5л4=к4 Dе78EтD4F88. 

�4п8EK649те 5ук6K 8 F8DDK 6 Eоот6етEт688 E о5D47Fо< =4 5л4=ке. К46д4O F8DD4, E8<6ол 
74п8EK64етEO 6 отделL=уN клетку, =4G8=4O E пеD6о9 клетк8. 

�4пол=8те Dе78EтD4F8о==Kе полO 6 Eоот6етEт688 E 8=DоD<4F8е9 =4 доEке 
(8=DоD<4F8о==о< Eте=де) 7еле6о9 8л8 к4п8ллOD=о9 DуGко9 E GеD=8л4<8 GеD=о7о F6ет4. �D8 
отEутEт688 т4ко9 DуGк8 о5D4I49теEL к =4<. 

О5D4т8те 6=8<4=8е уG4Eт=8ко6 =4 доEку. 

�4пол=Oе< код Dе78о=4, код о5D47о64телL=о9 оD74=874F88, =о<еD 8 5ук6у кл4EE4, <еEто 
пDо6еде=8O, =о<еD к458=ет4, д4ту пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), код 68д4 
D45от, =48<е=о64=8е 68д4 D45от. 

�4пол=Oе< E6еде=8O о5 уG4Eт=8ке 8то7о6о7о EоG8=е=8O (87ло6е=8O), полO: D4<8л8O, 8<O, 
отGеEт6о, д4==Kе доку<е=т4, удоEто6еDONIе7о л8G=оEтL. 

Сдел4тL п4у7у длO 74пол=е=8O уG4Eт=8к4<8 поле9 5л4=к4 Dе78EтD4F88 

О7=4ко<LтеEL E 8=DоD<4F8е9 6 EDед=е9 G4Eт8 5л4=к4 Dе78EтD4F88 8 поEт46Lте 64Hу 
подп8EL 6 поле "подп8EL уG4Eт=8к4", D4Eполо6е==о< 6 EDед=е9 G4Eт8 5л4=к4 Dе78EтD4F88. 

!лу6е5=Kе полO "�4пол=OетEO от6етEт6е==K<" =е 74пол=O9те. 

�D8Eтуп4е< к 74пол=е=8N Dе78EтD4F8о==KE поле9 5л4=к4 74п8E8. 

 е78EтD4F8о==Kе полO 6 5л4=ке 74п8E8 74пол=ONтEO 6 Eоот6етEт688 E 8=DоD<4F8е9 =4 
доEке 8 5л4=ке Dе78EтD4F88. 

ОD74=874тоDK пDо6еDONт пD468лL=оEтL 74пол=е=8O Dе78EтD4F8о==KE поле9 5л4=ко6 
к46до7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 то< G8Eле =4 коDDект=оEтL 
6п8E4==о7о уG4Eт=8ко< 8то7о6о7о EоG8=е=8O (87ло6е=8O) код4 68д4 D45отK, =48<е=о64=8O 
68д4 D45от, =о<еD4 те<K. 



�=EтDукт46 74ко=Gе=. 

�еDед те<, к4к 6K пD8Eтуп8те к =4п8E4=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6п8H8те 
=о<еD 6K5D4==о9 �4<8 те<K 6 поле "�о<еD те<K" 6 5л4=ке Dе78EтD4F88 8 5л4=к4E 74п8E8, 
пеDеп8H8те те<у EоG8=е=8O (747л468е текEт4 87ло6е=8O) 6 5л4=к8 74п8E8, 6=8<4телL=о 
пDоG8т49те 8=EтDукF8N длO уG4Eт=8к4 8то7о6о7о EоG8=е=8O (8л8 87ло6е=8O), котоD4O ле68т у 
64E =4 D45оGе< Eтоле. 

(Сдел4тL п4у7у) 

�K <о6ете пD8Eтуп4тL к =4п8E4=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�4G4ло =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): (о5JO68тL 6Dе<O) 

Око=G4=8е =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): (ук474тL 6Dе<O) 

�4п8H8те =4 доEке 6Dе<O =4G4л4 8 око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 

ВDе<O, от6еде==ое =4 8=EтDукт46 8 74пол=е=8е Dе78EтD4F8о==KE поле9 5л4=ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 о5Iее 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

. 

ПD8 пDо6еде=88 87ло6е=8O поEле о5JO6ле=8O =4G4л4 пDо6еде=8O 8то7о6о7о 87ло6е=8O 
Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) D475оDG86о G8т4ет текEт длO 
87ло6е=8O тD86дK. �=теD64л <е6ду Gте=8е< EоEт46лOет 2 <8=утK. 

 =9 6>?Nча9BAO



ПD8 пDо6еде=88 87ло6е=8O поEле о5JO6ле=8O =4G4л4 пDо6еде=8O 8то7о6о7о 87ло6е=8O длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O E D4EEтDо9Eт64<8 
4ут8Eт8GеEко7о EпектD4, E =4DуHе=8O<8 опоD=о-д6874телL=о7о 4пп4D4т4, EлепKE, Eл45о68дOI8E, 7луE8E, по7д=оо7лоEH8E 8 Eл45оEлKH4I8E 
уG4Eт=8ко6 8то7о6о7о 87ло6е=8O текEт длO 8то7о6о7о 87ло6е=8O 6Kд4етEO длO Gте=8O 8 пDо6еде=8O под7ото68телL=о9 D45отK =4 40 <8=ут. В 
Mто 6Dе<O уG4Eт=8к8 <о7ут D45от4тL E л8Eт4<8 5у<478 длO GеD=о68ко6, 6Kп8EK64O клNGе6Kе Eло64, EоEт46лOO пл4= 87ло6е=8O 

. По 8EтеGе=88 40 <8=ут Gле= ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 7458D4ет текEт длO 8то7о6о7о 87ло6е=8O, 8 уG4Eт=8к8 пеDеEодOт к =4п8E4=8N 8то7о6о7о 87ло6е=8O. 

(         )?9@9?<AO6аBP B9>AB 8?O <B>7>6>7> <;?>:9=<O 6 ч9@=>6<>< =9 8>?CA>а9BAO



�ел4е< уд4G8! 

�4 30 <8=ут до око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 
о5JO68тL: 

�о око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEт4лоEL 30 <8=ут. �е 
745K649те пеDе=оE8тL 74п8E8 87 л8Eто6 5у<478 длO GеD=о68ко6 6 5л4=к 74п8E8. 

�4 5 <8=ут до око=G4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о о5JO68тL: 

�о око=G4=8O =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEт4лоEL 5 <8=ут. 

По око=G4=88 6Dе<е=8 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5JO68тL: 

�то7о6ое EоG8=е=8е (87ло6е=8е) око=Gе=о. �оло68те =4 кD49 Eтол4 E6о8 5л4=к8 8 
GеD=о68к8. 

Чле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) оEуIеEт6лONт E5оD 
5л4=ко6 уG4Eт=8ко6 6 оD74=87о64==о< поDOдке. 
 

 

 

 

 

�D8ло6е=8е 8 

 

��!& 'К&���/� ��&� ��Л/ 

�Л/ Л�&, � ��Л�К���/% К � О������. �&О�О�О�О 

!ОЧ�����/ (��ЛО����/) 
 

1. �=EтDукF8O длO Dуко6од8телO о5D47о64телL=о9 оD74=874F88 

 

�4 Mт4пе под7ото6к8 к пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

 уко6од8телL дол6е= о7=4ко<8тLEO E =оD<4т86=K<8 пD46о6K<8 доку<е=т4<8, 
Dе7л4<е=т8DуNI8<8 пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

поDOдко< пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 теDD8тоD88 Eу5Jект4  оEE89Eко9 
$едеD4F88, опDеделе==K< О��; 

<етод8GеEк8<8 <4теD84л4<8  оEо5D=4д7оD4, Dеко<е=дуе<K<8 к 8EполL7о64=8N пD8 
оD74=874F88 8 пDо6еде=88 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

8=EтDукF8е9, опDеделONIе9 поDOдок D45отK Dуко6од8телO о5D47о64телL=о9 оD74=874F88, 
4 т4к6е 8=EтDукF8O<8, опDеделONI8<8 поDOдок D45отK л8F, пD86лек4е<KE к пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пD468л4<8 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� FелOE пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =е по7д=ее Gе< 74 д6е =едел8 до 
=4G4л4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телN о5D47о64телL=о9 
оD74=874F88 =ео5Eод8<о: 

оD74=87о64тL Dе78EтD4F8N о5уG4NI8EEO, MкEтеD=о6 длO уG4Eт8O 6 8то7о6о< EоG8=е=88 
(87ло6е=88) 6 Eоот6етEт688 E 8E 74O6ле=8O<8; 



опDедел8тL 87<е=е=8O текуIе7о D4Eп8E4=8O 74=Oт89 о5D47о64телL=о9 оD74=874F88 6 д=8 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

под подп8EL о7=4ко<8тL EпеF84л8Eто6, пD86лек4е<KE к пDо6еде=8N 8 пDо6еDке 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), о поDOдке пDо6еде=8O 8 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 
теDD8тоD88 Eу5Jект4  оEE89Eко9 $едеD4F88, опDеделе==о< О��, 4 т4к6е 87ло6е==о< 6 
<етод8GеEк8E <4теD84л4E  оEо5D=4д7оD4, Dеко<е=дуе<KE к 8EполL7о64=8N пD8 оD74=874F88 8 
пDо6еде=88 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

оD74=87о64тL о7=4ко<ле=8е о5уG4NI8EEO 8 8E Dод8теле9 (74ко==KE пDедEт468теле9) E 
�4<Oтко9 о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. �D8ло6е=8е 5). 

 

�е по7д=ее Gе< 74 де=L до пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

пDо6еEт8 пDо6еDку 7ото6=оEт8 о5D47о64телL=о9 оD74=874F88 к пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O): 

опDедел8тL =ео5Eод8<ое кол8GеEт6о уGе5=KE к458=ето6 6 о5D47о64телL=о9 оD74=874F88 
длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 D4EпDедел8тL <е6ду =8<8 уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 пDо876олL=о< поDOдке (DоD<4 �!-04 "!п8Eок уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 ОО (<еEте пDо6еде=8O)"), пD8 D4EпDеделе=88 уG4Eт=8ко6 
8то7о6о7о 87ло6е=8O =ео5Eод8<о уGеEтL, Gто уG4Eт=8к8, котоDK< текEт длO 87ло6е=8O 6Kд4етEO 
=4 40 <8=ут длO Gте=8O, дол6=K 5KтL D4EпDеделе=K 6 отделL=K9 уGе5=K9 к458=ет длO 
пDо6еде=8O 8то7о6о7о 87ло6е=8O. К4те7оD8GеEк8 =е Dеко<е=дуетEO D4EпDеделOтL уG4Eт=8ко6 
8то7о6о7о 87ло6е=8O, котоDK< текEт длO 87ло6е=8O 6Kд4етEO длO Gте=8O =4 40 <8=ут, 6 од8= 
уGе5=K9 к458=ет 6<еEте E уG4Eт=8к4<8 8то7о6о7о 87ло6е=8O, котоDK< текEт длO 8то7о6о7о 
87ло6е=8O 74G8тK64етEO Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пDо6еD8тL =4л8G8е <еEт4 длO ED4=е=8O л8G=KE 6еIе9 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), котоDое <о6ет 5KтL оD74=87о64=о 6 уGе5=о< к458=ете, 7де пDо6од8тEO 8то7о6ое 
EоG8=е=8е (87ло6е=8е); 

оD74=87о64тL пDо6еDку D45отоEпоEо5=оEт8 теE=8GеEк8E EDедEт6, EDедEт6 68део=45лNде=8O 
6 уGе5=KE к458=ет4E (6 EлуG4е, еEл8 EDедEт64 68део=45лNде=8O уEт4=о6ле=K); 

пDо6еD8тL =4л8G8е G4Eо6, =4EодOI8EEO 6 поле 7Dе=8O уG4Eт=8ко6, 6 к46до< к458=ете, E 
пDо6еде=8е< пDо6еDк8 8E D45отоEпоEо5=оEт8; 

под7ото68тL GеD=о68к8 =4 к46до7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
(<8=8<4лL=ое кол8GеEт6о - д64 л8Eт4), 4 т4к6е допол=8телL=Kе GеD=о68к8; 

под7ото68тL 6 =ео5Eод8<о< кол8GеEт6е 8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), 74G8тK64е<Kе Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
уGе5=о< к458=ете пеDед =4G4ло< пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (од=4 8=EтDукF8O 
=4 од8= уGе5=K9 к458=ет) (E<. �D8ло6е=8е 7); 

под7ото68тL 8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) (=4 к46до7о 
уG4Eт=8к4) (E<. �D8ло6е=8O 1, 2); 

о5еEпеG8тL пеG4тL 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 отGет=KE DоD< длO 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (6 EлуG4е пеG4т8 6 о5D47о64телL=о9 оD74=874F88) 
8л8 полуGе=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 отGет=KE DоD< (6 EлуG4е полуGе=8O 6 
<еEт4E, опDеделе==KE О��); 

оD74=87о64тL о5еEпеGе=8е уG4Eт=8ко6 8то7о6о7о EоG8=е=8O оDDо7D4D8GеEк8<8 Eло64DO<8, 
уG4Eт=8ко6 8то7о6о7о 87ло6е=8O - оDDо7D4D8GеEк8<8 8 толко6K<8 Eло64DO<8; 



о5еEпеG8тL =4л8G8е =ео5Eод8<KE теE=8GеEк8E EDедEт6, по76олONI8E оEуIеEт68тL 
4уд8о74п8EL уEт=KE от6ето6 6 EлуG4е Eд4G8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< 
EоG8=е=8O (87ло6е=8O) 6 уEт=о9 DоD<е (=4пD8<еD, ко<пLNтеD, оE=4Iе==K9 <8кDоDо=о<, 
д8ктоDо=). 
 

� де=L пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телL о5O74=: 

пDо6еD8тL 7ото6=оEтL уGе5=KE к458=ето6 к пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пDо6еEт8 8=EтDукт46 л8F, пD86лек4е<KE к пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
по поDOдку 8 пDоFедуDе пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

D4EпDедел8тL Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) по 
уGе5=K< к458=ет4<; 

о5еEпеG8тL 6Eод уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=уN 
оD74=874F8N =4G8=4O E 09:00 по <еEт=о<у 6Dе<е=8. 

�Kд4тL Gле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 74G8тK64е<Kе Gле=о< 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете пеDед =4G4ло< 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (од=4 8=EтDукF8O =4 од8= к458=ет); 

8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) (=4 к46до7о уG4Eт=8к4 
отделL=о); 

5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

GеD=о68к8 (2 л8Eт4 =4 од=о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

отGет=Kе DоD<K длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

оDDо7D4D8GеEк8е Eло64D8 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (оDDо7D4D8GеEк8е 8 
толко6Kе Eло64D8 длO уG4Eт=8ко6 87ло6е=8O). 

�4тL ук474=8е теE=8GеEко<у EпеF84л8Eту 6 09:45 полуG8тL те<K EоG8=е=8O 6 Eоот6етEт688 E 
8=EтDукF8е9 длO теE=8GеEко7о EпеF84л8Eт4 по полуGе=8N ко<плекто6 те< 8то7о6о7о EоG8=е=8O 
(E<. �D8ло6е=8е 6). 

�4G8=4O E 09:45 по <еEт=о<у 6Dе<е=8 6Kд4тL Gле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) те<K EоG8=е=8O (те<K EоG8=е=8O <о7ут 5KтL D4EпеG4т4=K =4 к46до7о 
уG4Eт=8к4 8л8 D47<еIе=K =4 доEке (8=DоD<4F8о==о< Eте=де), текEтK длO 87ло6е=8O. 
 

�Dо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

�4 Mт4пе пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телL: 

о5еEпеG864ет ко=тDолL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=о9 
оD74=874F88; 

D4EE<4тD864ет 8=DоD<4F8N, полуGе==уN от Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), де6уD=KE 8 8=KE л8F о =4DуHе=8OE, 6KO6ле==KE пD8 пDо6еде=88 
8то7о6о7о EоG8=е=8O (87ло6е=8O), пD8=8<4ет <еDK по пDот86оде9Eт68N =4DуHе=8O< 
уEт4=о6ле==о7о поDOдк4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 то< G8Eле оD74=87ует 
пDо6еде=8е пDо6еDок по D4кт4< =4DуHе=8O уEт4=о6ле==о7о поDOдк4 пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 



6 EлуG4е у7Dо7K 6о7=8к=о6е=8O GDе76KG49=о9 E8ту4F88 пD8=8<4ет DеHе=8е о пеDе=оEе 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 дDу7ое <еEто пDо6еде=8O 8л8 =4 дDу7о9 де=L, 
пDедуE<отDе==K9 D4Eп8E4=8е< пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (по Eо7л4Eо64=8N E 
О��).  уко6од8телL о5D47о64телL=о9 оD74=874F88 опо6еI4ет 6EеE уG4Eт=8ко6 о 6Dе<е=8 8 <еEте 
по6тоD=о7о пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 

�46еDHе=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

�о око=G4=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телL: 

пD8=8<4ет у Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 5л4=к8 
Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 5л4=к8 74п8E8), GеD=о68к8, 4 т4к6е отGет=Kе 
DоD<K длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пеDед4ет теE=8GеEко<у EпеF84л8Eту оD878=4лK 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 74п8E8 
(допол=8телL=KE 5л4=ко6 74п8E8) уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) длO 
оEуIеEт6ле=8O коп8Dо64=8O <12>; 

-------------------------------- 

<12> Коп8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 6 5л4=к 
Dе78EтD4F88 от<етко9 "X" 6 поле "�е 74ко=G8л" ("'д4ле="), подт6еD6де==о9 подп8ELN Gле=4 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е пDо876од8тEO, пDо6еDк4 т4к8E 
EоG8=е=89 (87ло6е=89) =е оEуIеEт6лOетEO. 
 

о5еEпеG864ет =4де6=ое ED4=е=8е оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) до 
<о<е=т4 8E =4пD46ле=8O 6  &О�; 

о5еEпеG864ет уGет 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 от<етко9 6 полO 
"�е 746еDH8л" 8л8 "'д4ле=", подт6еD6де==о9 подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O), 6<еEте E DоD<о9 �!-08 "�кт о доEDоG=о< 746еDHе=88 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< пD8G8=4<" 8л8 DоD<о9 �!-09 "�кт 
о5 уд4ле=88 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O)" длO поEледуNIе7о допуEк4 уG4Eт=8ко6, 
=е 746еDH86H8E =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< пD8G8=4<, 4 
т4к6е уG4Eт=8ко6, уд4ле==KE E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74 =4DуHе=8е тDе5о64=89, к 
по6тоD=о9 Eд4Gе 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 текуIе< уGе5=о< 7оду 6 допол=8телL=Kе 
д4тK. 
 

�4 Mт4пе пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) Dуко6од8телL: 

о5еEпеG864ет =ео5Eод8<K<8 теE=8GеEк8<8 EDедEт64<8 (кEеDокE, Eк4=еD, ко<пLNтеD E 
6о7<о6=оEтLN 6KEод4 6 EетL "�=теD=ет", 4 т4к6е E уEт4=о6ле==K<8 =4 =е7о 
EпеF84л878Dо64==K<8 пDо7D4<<4<8, по76олONI8<8 46то<4т8GеEк8 пDо6еDOтL текEтK =4 
=4л8G8е 748<Eт6о64=89 8 дD.) MкEпеDто6 длO оEуIеEт6ле=8O пDо6еDк8 8 оFе=864=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O); 

пD8=8<4ет DеHе=8е о =ео5Eод8<оEт8 6о7ло6е=8O =4 теE=8GеEко7о EпеF84л8Eт4 
о5O74==оEт8 по оEуIеEт6ле=8N пDо6еDк8 Eо5лNде=8O уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 6 
Eоот6етEт688 E поDOдко<, опDеделе==K< О�� <13>; 

-------------------------------- 

<13> � EлуG4е пD8=Oт8O Eоот6етEт6уNIе7о DеHе=8O к MкEпеDту поEтуп4Nт 8то7о6Kе 
EоG8=е=8O (87ло6е=8O), пDоHедH8е пDо6еDку =4 6Kпол=е=8е тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)". 



 

6 EлуG4е Eд4G8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< EоG8=е=8O (87ло6е=8O) 6 
уEт=о9 DоD<е оEуIеEт6лOет ко=тDолL 6=еEе=8O 6 5л4=к Dе78EтD4F88 ук474==о7о уG4Eт=8к4 
8то7о6о7о EоG8=е=8O (87ло6е=8O) от<етк8 "X" 6 поле "� уEт=о9 DоD<е", подт6еD6де==о9 
подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), длO поEледуNIе9 
коDDект=о9 о5D45отк8 8 пDо6еDк8 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) т4ко7о уG4Eт=8к4; 

о5еEпеG864ет пDо6еDку 8 оFе=864=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 Eоот6етEт688 E 
кD8теD8O<8 оFе=864=8O 6 уEт4=о6ле==Kе EDок8 (пDо6еDк4 дол6=4 746еDH8тLEO 6 EDок8, 
уEт4=о6ле==Kе пу=кто< 29 �оDOдк4); 

о5еEпеG864ет доEт46ку оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==K<8 6 =8E Dе7улLт4т4<8 пDо6еDк8 по кD8теD8O< 
оFе=864=8O 8 оFе=к8 ("74Gет"/"=е74Gет"), 6 то< G8Eле оD878=4лK 5л4=ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) E 6=еEе==о9 от<етко9 "X" 6 полO "�е 74ко=G8л" "'д4ле=", подт6еD6де==о9 подп8ELN 
Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6  &О� длO поEледуNIе9 
о5D45отк8 (74 8EклNGе=8е< о5D47о64телL=KE оD74=874F89, 6 котоDKE пDо6од8тEO Eк4=8Dо64=8е 
оD878=4ло6 5л4=ко6 8то7о6KE EоG8=е=89 (87ло6е=89) поEле пDо6еде=8O пDо6еDк8 8 оFе=864=8O 
MкEпеDт4<8). 

 уко6од8телL о5D47о64телL=о9 оD74=874F88 пD8EутEт6ует пD8 оEуIеEт6ле=88 теE=8GеEк8< 
EпеF84л8Eто< Eк4=8Dо64=8O оD878=4л4 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) поEле 
пDо6еде=8O пDо6еDк8 8 оFе=864=8O MкEпеDт4<8, 6 то< G8Eле оD878=4ло6 5л4=ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 от<етко9 "X" 6 полO "�е 74ко=G8л" 8л8 "'д4ле=", 
подт6еD6де==о9 подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
!к4=8Dо64=8N подле64т 6Eе 6Kд4==Kе уG4Eт=8к4< 5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 
то< G8Eле =е74пол=е==Kе. ОтEк4=8Dо64==Kе 87о5D46е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) пеDед4NтEO 6  &О�, упол=о<оGе==уN оD74=874F8N длO поEледуNIе9 о5D45отк8. 
 

2. �=EтDукF8O длO теE=8GеEко7о EпеF84л8Eт4 пD8 пDо6еде=88 

8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

�е по7д=ее Gе< 74 де=L до =4G4л4 пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
теE=8GеEк89 EпеF84л8Eт о5O74=: 

под7ото68тL 8 пDо876еEт8 пDо6еDку D45отоEпоEо5=оEт8 теE=8GеEк8E EDедEт6 6 6Kделе==о< 
по<еIе=88. 

�4==ое по<еIе=8е дол6=о 5KтL о5оDудо64=о EледуNI8<8 теE=8GеEк8<8 EDедEт64<8: 

телеDо==о9 E6O7LN; пD8=теDо<; 

коп8Dо64лL=K< 4пп4D4то< (Eк4=еDо<); 

пеDEо=4лL=K< ко<пLNтеDо<, подклNGе==K< к Eет8 "�=теD=ет", длO полуGе=8O ко<плекто6 
те< 8то7о6о7о EоG8=е=8O (текEто6 длO 8то7о6о7о 87ло6е=8O). 

ОD74=87о64тL пеG4тL 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 отGет=KE DоD< длO 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (6 EлуG4е пеG4т8 8E 6 о5D47о64телL=о9 
оD74=874F88). 

Коп8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8 =еE64тке D4EпеG4т4==KE 
5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
74пDеIе=о, т4к к4к 6Eе 5л4=к8 8<еNт у=8к4лL=K9 код D45отK 8 D4EпеG4тK64NтEO поEDедEт6о< 
EпеF84л878Dо64==о7о пDо7D4<<=о7о о5еEпеGе=8O. 
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� де=L пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) теE=8GеEко<у EпеF84л8Eту 
=ео5Eод8<о: 

6 09:45 по <еEт=о<у 6Dе<е=8 полуG8тL те<K EоG8=е=8O 6 Eоот6етEт688 E 8=EтDукF8е9 длO 
теE=8GеEко7о EпеF84л8Eт4 по полуGе=8N ко<плекто6 те< 8то7о6о7о EоG8=е=8O (E<. �D8ло6е=8е 
6); 

D47<=о68тL 8E 6 =ео5Eод8<о< кол8GеEт6е 8 пеDед4тL 8E Dуко6од8телN (те<K EоG8=е=8O 
<о7ут 5KтL D4EпеG4т4=K =4 к46до7о уG4Eт=8к4 8л8 D47<еIе=K =4 доEке (8=DоD<4F8о==о< 
Eте=де); 

пеDед4тL текEтK длO 87ло6е=8O, D47<=о686 8E 6 =ео5Eод8<о< кол8GеEт6е <14>; 

-------------------------------- 

<14> �лO уG4Eт=8ко6 87ло6е=8O E О�� (7луE8E, Eл45оEлKH4I8E, уG4Eт=8ко6 E D4EEтDо9Eт64<8 
4ут8Eт8GеEко7о EпектD4) текEт длO 87ло6е=8O пеG4т4етEO =4 к46до7о уG4Eт=8к4 87ло6е=8O 
отделL=о. 
 

ок47K64тL теE=8GеEкуN по<оIL Dуко6од8телN 8 Gле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 
 

�о око=G4=88 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е 6 D4<к4E оD74=874F88 пDо6еDк8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) теE=8GеEк89 EпеF84л8Eт дол6е=: 

под7ото68тL 8 пDо876еEт8 пDо6еDку D45отоEпоEо5=оEт8 теE=8GеEк8E EDедEт6 (кEеDокE, 
Eк4=еD, ко<пLNтеD E 6о7<о6=оEтLN 6KEод4 6 EетL "�=теD=ет", 4 т4к6е E уEт4=о6ле==K<8 =4 =е7о 
EпеF84л878Dо64==K<8 пDо7D4<<4<8, по76олONI8<8 46то<4т8GеEк8 пDо6еDOтL текEтK =4 
=4л8G8е 748<Eт6о64=89 8 дD.); 

пD8=OтL у Dуко6од8телO оD878=4лK 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 74п8E8 (допол=8телL=KE 
5л4=ко6 74п8E8) длO оEуIеEт6ле=8O 8E коп8Dо64=8O <15>; 

-------------------------------- 

<15> Коп8Dо64=8е 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==о9 6 5л4=к 
Dе78EтD4F88 от<етко9 "X" 6 полO "�е 74ко=G8л" 8л8 "'д4ле=", подт6еD6де==о9 подп8ELN Gле=4 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), =е пDо876од8тEO, пDо6еDк4 т4к8E 
EоG8=е=89 (87ло6е=89) =е оEуIеEт6лOетEO. 'к474==Kе 5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
6<еEте E DоD<о9 �!-08 "�кт о доEDоG=о< 746еDHе=88 =4п8E4=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) по у6468телL=K< пD8G8=4<" 8л8 DоD<о9 �!-09 "�кт о5 уд4ле=88 уG4Eт=8к4 
8то7о6о7о EоG8=е=8O (87ло6е=8O)" пеDед4NтEO Dуко6од8телN о5D47о64телL=о9 оD74=874F88 длO 
уGет4, 4 т4к6е длO поEледуNIе7о допуEк4 ук474==KE уG4Eт=8ко6 к по6тоD=о9 Eд4Gе 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 6 текуIе< уGе5=о< 7оду 6 допол=8телL=Kе д4тK. 
 

пDо876еEт8 коп8Dо64=8е 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 74п8E8 (допол=8телL=KE 5л4=ко6 
74п8E8) длO поEледуNIе9 пDо6еDк8. Коп8Dо64=8е 5л4=ко6 пDо876од8тEO E уGето< 74пол=е=8O 
5л4=ко6 E д6уE EтоDо= пD8 д6уEтоDо==е9 пеG4т8 5л4=ко6. Коп8Dо64=8е 5л4=ко6 Dе78EтD4F88 8 
5л4=ко6 74п8E8 пDо876од8тEO поEледо64телL=о, 5л4=к Dе78EтD4F88 8 5л4=к 74п8E8, 
допол=8телL=Kе 5л4=к8 74п8E8 дол6=K 8дт8 дDу7 74 дDу7о<. Коп8Dо64=8е 5л4=ко6 Dе78EтD4F88 8 
5л4=ко6 74п8E8 дол6=о пDо876од8тLEO 6 EоDоHе< к4GеEт6е, 6Eе E8<6олK дол6=K 5KтL 
отпеG4т4=K 8 G8т4е<K длO MкEпеDт4; 

по поDуGе=8N Dуко6од8телO о5D47о64телL=о9 оD74=874F88 оEуIеEт68тL пDо6еDку 
Eо5лNде=8O уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) тDе5о64=8O N 2 "!4<оEтоOтелL=оEтL 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 6 Eоот6етEт688 E поDOдко<, опDеделе==K< О��. 



�оEле коп8Dо64=8O теE=8GеEк89 EпеF84л8Eт пеDед4ет Dуко6од8телN о5D47о64телL=о9 
оD74=874F88 оD878=4лK 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 от6ето6 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
(87ло6е=8O), MкEпеDт4< - коп88 5л4=ко6 Dе78EтD4F88 8 5л4=ко6 от6ето6 уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O). 

� EлуG4е пDо6еде=8O Eк4=8Dо64=8O 6 о5D47о64телL=о9 оD74=874F88 оEуIеEт6лOет 
Eк4=8Dо64=8е оD878=4ло6 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 6=еEе==K<8 6 =8E 
Dе7улLт4т4<8 пDо6еDк8 по кD8теD8O< оFе=864=8O 8 оFе=к8 ("74Gет"/"=е74Gет"). 
 

3. �=EтDукF8O длO Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о 

EоG8=е=8O (87ло6е=8O) 
 

'ле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) до =4G4л4 пDо6еде=88 
8то7о6о7о EоG8=е=8O (87ло6е=8O) о5O74=K о7=4ко<8тLEO E =оD<4т86=K<8 пD46о6K<8 
доку<е=т4<8, Dе7л4<е=т8DуNI8<8 пDо6еде=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O): 

поDOдко< пDо6еде=8O 8 пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 теDD8тоD88 Eу5Jект4 
 оEE89Eко9 $едеD4F88, опDеделе==K< О��; 

<етод8GеEк8<8 <4теD84л4<8  оEо5D=4д7оD4, Dеко<е=дуе<K<8 к 8EполL7о64=8N пD8 
оD74=874F88 8 пDо6еде=88 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

8=EтDукF8е9, опDеделONIе9 поDOдок 8E D45отK; 

пD468л4<8 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 

� де=L пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле= ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е=: 

пDо9т8 8=EтDукт46 у Dуко6од8телO о5D47о64телL=о9 оD74=874F88 по поDOдку 8 пDоFедуDе 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

полуG8тL у Dуко6од8телO о5D47о64телL=о9 оD74=874F88 8=DоD<4F8N о D4EпDеделе=88 
Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) по уGе5=K< к458=ет4<; 

полуG8тL у Dуко6од8телO о5D47о64телL=о9 оD74=874F88 EледуNI8е <4теD84лK: 

8=EтDукF8N длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 74G8тK64е<уN Gле=о< 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете пеDед =4G4ло< 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) (од=4 8=EтDукF8O =4 од8= уGе5=K9 к458=ет) (E<. 
�D8ло6е=8е 7); 

8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) (=4 к46до7о уG4Eт=8к4) (E<. 
�D8ло6е=8O 1, 2); 

5л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

GеD=о68к8 (2 л8Eт4 =4 од=о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

отGет=Kе DоD<K длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�Dо9т8 6 E6о9 уGе5=K9 к458=ет, пDо6еD8тL е7о 7ото6=оEтL к пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 8 пD8Eтуп8тL к 6Kпол=е=8N E6о8E о5O74==оEте9: 

D47д4тL =4 D45оG8е <еEт4 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) GеD=о68к8 (=е 
<е=ее д6уE л8Eто6), 8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 к46до7о 



уG4Eт=8к4; 

пDо6еD8тL =4л8G8е оDDо7D4D8GеEк8E Eло64Dе9 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O, 
оDDо7D4D8GеEк8E 8 толко6KE Eло64Dе9 - длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O; 

под7ото68тL =4 доEке (8=DоD<4F8о==о< Eте=де) =ео5Eод8<уN 8=DоD<4F8N длO 
74пол=е=8O 5л4=ко6 Dе78EтD4F88; 

о5еEпеG8тL оD74=87о64==K9 6Eод уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=K9 
к458=ет. 

'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) D4EE46864NтEO 74 D45оG8е EтолK 6 к458=ете 6 
пDо876олL=о< поDOдке (по од=о<у Gело6еку 74 D45оG89 Eтол). 

�о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 D45оGе< Eтоле уG4Eт=8к4, 
по<8<о 5л4=ко6, л8Eто6 5у<478 длO GеD=о68ко6 =4EодOтEO: 

DуGк4 (7еле64O 8л8 к4п8ллOD=4O E GеD=8л4<8 GеD=о7о F6ет4); доку<е=т, удоEто6еDONI89 
л8G=оEтL; 

длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O - оDDо7D4D8GеEк89 Eло64DL, 6Kд4==K9 по <еEту 
пDо6еде=8O 8то7о6о7о EоG8=е=8O; длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O - оDDо7D4D8GеEк89 8 
толко6K9 Eло64D8, 6Kд4==Kе по <еEту пDо6еде=8O 8то7о6о7о 87ло6е=8O; 

8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E о7D4=8Gе==K<8 6о7<о6=оEтO<8 
7доDо6LO, уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) - дете9-8=64л8до6 8 8=64л8до6 - 

EпеF84лL=Kе теE=8GеEк8е EDедEт64 (пD8 =ео5Eод8<оEт8); 

лек4DEт64 (пD8 =ео5Eод8<оEт8); 

пDодуктK п8т4=8O длO допол=8телL=о7о пD8е<4 п8I8 (пеDекуE), 5ут8л8Dо64==4O п8тLе64O 
6од4 пD8 уEло688, Gто уп4ко6к4 ук474==KE пDодукто6 п8т4=8O 8 6одK, 4 т4к6е 8E потDе5ле=8е =е 
5удут от6лек4тL дDу78E уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) от =4п8E4=8O 8<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) (пD8 =ео5Eод8<оEт8). 

�4G8=4O E 09:45 по <еEт=о<у 6Dе<е=8 полуG8тL от Dуко6од8телO те<K EоG8=е=8O (текEтK 
длO 8то7о6о7о 87ло6е=8O). &е<K EоG8=е=8O <о7ут 5KтL D4EпеG4т4=K =4 к46до7о уG4Eт=8к4 8л8 
D47<еIе=K =4 доEке (8=DоD<4F8о==о< Eте=де) - 6 д4==о< EлуG4е Gле= ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) под7от46л864ет =4 доEке (8=DоD<4F8о==о< Eте=де) те<K 
EоG8=е=8O. 

&екEт длO 87ло6е=8O D4EпеG4тK64етEO длO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O E 
D4EEтDо9Eт64<8 4ут8Eт8GеEко7о EпектD4, E =4DуHе=8O<8 опоD=о-д6874телL=о7о 4пп4D4т4, EлепKE, 
Eл45о68дOI8E, 7луE8E, по7д=оо7лоEH8E 8 Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O <16>. 

-------------------------------- 

<16> &екEт длO 8то7о6о7о 87ло6е=8O 6Kд4етEO уG4Eт=8к4< длO Gте=8O 8 пDо6еде=8O 
под7ото68телL=о9 D45отK =4 40 <8=ут. � Mто 6Dе<O уG4Eт=8к8 <о7ут D45от4тL E GеD=о68к4<8, 
6Kп8EK64O клNGе6Kе Eло64, EоEт46лOO пл4= 87ло6е=8O (пеDеп8EK64тL текEт длO 8то7о6о7о 
87ло6е=8O 6 GеD=о68к8 74пDеIе=о). �о 8EтеGе=88 40 <8=ут Gле= ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 7458D4ет текEт длO 8то7о6о7о 87ло6е=8O, 8 уG4Eт=8к8 
пD8Eтуп4Nт к =4п8E4=8N 8то7о6о7о 87ло6е=8O. 

�лO 7луE8E, по7д=оо7лоEH8E 8 Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O пD8 



=ео5Eод8<оEт8 (6<еEто 6Kд4G8 текEт4 длO 8то7о6о7о 87ло6е=8O =4 40 <8=ут) <о6ет 5KтL 
оEуIеEт6ле= EуDдопеDе6од текEт4 длO 8то7о6о7о 87ло6е=8O (о =ео5Eод8<оEт8 о5еEпеGе=8O 
EуDдопеDе6од4 текEт4 длO 8то7о6о7о 87ло6е=8O Eоо5I4етEO 6о 6Dе<O под4G8 74O6ле=8O =4 
уG4Eт8е 6 8то7о6о< 87ло6е=88). 
 

�о =4G4л4 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) дол6е=: 

пDо6еEт8 8=EтDукт46 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), котоDK9 EоEто8т 87 д6уE 
G4Eте9. �еD64O G4EтL 8=EтDукт464 пDо6од8тEO до 10:00 по <еEт=о<у 6Dе<е=8 8 6клNG4ет 6 Eе5O 
8=DоD<8Dо64=8е уG4Eт=8ко6 о поDOдке пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 то< 
G8Eле о EлуG4OE уд4ле=8O E 8то7о6о7о EоG8=е=8O (87ло6е=8O), пDодол68телL=оEт8 =4п8E4=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O), о 6Dе<е=8 8 <еEте о7=4ко<ле=8O E Dе7улLт4т4<8 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), 4 т4к6е о то<, Gто 74п8E8 =4 GеD=о68к4E =е о5D454тK64NтEO 8 =е 
пDо6еDONтEO; 

6Kд4тL уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8, 
GеD=о68к8, оDDо7D4D8GеEк8е Eло64D8 (оDDо7D4D8GеEк8е 8 толко6Kе Eло64D8 длO уG4Eт=8ко6 
8то7о6о7о 87ло6е=8O), 8=EтDукF88 длO уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

пDо6еEт8 6тоDуN G4EтL 8=EтDукт464, котоD4O =4G8=4етEO =е D4=ее 10:00 по <еEт=о<у 
6Dе<е=8; 

о7=4ко<8тL уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E те<4<8 8то7о6о7о EоG8=е=8O 
(=4764=8е< текEт4 длO 87ло6е=8O) (EодеD64телL=ое ко<<е=т8Dо64=8е те< 8то7о6о7о EоG8=е=8O 8 
текEто6 длO 8то7о6о7о 87ло6е=8O 74пDеIе=о); 

поEле о7=4ко<ле=8O д4тL ук474=8е уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8Eтуп8тL 
к 74пол=е=8N Dе78EтD4F8о==KE поле9 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), ук474тL =о<еD 
те<K 8то7о6о7о EоG8=е=8O (текEт4 длO 87ло6е=8O); 

д4тL ук474=8е уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) 74п8E4тL 6 5л4=к 74п8E8 
=4764=8е 6K5D4==о9 8<8 те<K EоG8=е=8O (текEт4 длO 87ло6е=8O); 

пDо6еD8тL пD468лL=оEтL 74пол=е=8O уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
Dе78EтD4F8о==KE поле9 5л4=ко6, 6 то< G8Eле пDо6еD8тL 5л4=к Dе78EтD4F88 8 5л4=к8 74п8E8 
к46до7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 коDDект=оEтL 6п8E4==о7о уG4Eт=8ко< 
8то7о6о7о EоG8=е=8O (87ло6е=8O) код4 68д4 D45отK, =48<е=о64=8O 68д4 D45от, =о<еD4 те<K; 

о5JO68тL =4G4ло, пDодол68телL=оEтL <17> 8 6Dе<O око=G4=8O 6Kпол=е=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 8 74D8кE8Dо64тL 8E =4 доEке (8=DоD<4F8о==о< Eте=де). 

-------------------------------- 

<17> � пDодол68телL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =е 6клNG4етEO 
6Dе<O, 6Kделе==ое =4 под7ото68телL=Kе <еDопD8Oт8O (8=EтDукт46 уG4Eт=8ко6 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), 74пол=е=8е 8<8 Dе78EтD4F8о==KE поле9 5л4=ко6 8 дD.), 4 т4к6е =4 
пеDе=оE 4EE8Eте=то< 6 Eт4=д4Dт=Kе 5л4=к8 74п8E8 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
6Kпол=е==о7о EлепK<8 8 Eл45о68дOI8<8 уG4Eт=8к4<8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 
EпеF84лL=о пDедуE<отDе==KE тетD4дOE, 6Kпол=е==о7о 6 5л4=к4E 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) у6ел8Gе==о7о D47<еD4, 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6Kпол=е==о7о =4 
ко<пLNтеDе, уEт=KE 8то7о6KE EоG8=е=89 (87ло6е=89) 87 4уд8о74п8Eе9. 
 

�Dо6еде=8е 8то7о6о7о 87ло6е=8O 

�D8 пDо6еде=88 87ло6е=8O текEт длO 87ло6е=8O 74G8тK64етEO уG4Eт=8к4< 8то7о6о7о 



87ло6е=8O 6EлуE тD86дK поEле о5JO6ле=8O =4G4л4 пDо6еде=8O 87ло6е=8O. �=теD64л <е6ду 
Gте=8е< EоEт46лOет 2 <8=утK. 

�лO уG4Eт=8ко6 8то7о6о7о 87ло6е=8O E D4EEтDо9Eт64<8 4ут8Eт8GеEко7о EпектD4, E 
=4DуHе=8O<8 опоD=о-д6874телL=о7о 4пп4D4т4, EлепKE, Eл45о68дOI8E, 7луE8E, по7д=оо7лоEH8E 8 
Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O текEт длO 8то7о6о7о 87ло6е=8O 6Kд4етEO длO 
Gте=8O 8 пDо6еде=8O под7ото68телL=о9 D45отK =4 40 <8=ут поEле о5JO6ле=8O =4G4л4 пDо6еде=8O 
87ло6е=8O. � Mто 6Dе<O уG4Eт=8к8 <о7ут D45от4тL E GеD=о68к4<8, 6Kп8EK64O клNGе6Kе Eло64, 
EоEт46лOO пл4= 87ло6е=8O (пеDеп8EK64тL текEт длO 8то7о6о7о 87ло6е=8O 6 GеD=о68к8 
74пDеIе=о). �о 8EтеGе=88 40 <8=ут Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 7458D4ет текEт длO 8то7о6о7о 87ло6е=8O, 8 уG4Eт=8к8 пD8Eтуп4Nт к =4п8E4=8N 
8то7о6о7о 87ло6е=8O. 

�лO 7луE8E, по7д=оо7лоEH8E 8 Eл45оEлKH4I8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O пD8 
=ео5Eод8<оEт8 (6<еEто 6Kд4G8 текEт4 длO 8то7о6о7о 87ло6е=8O =4 40 <8=ут) <о6ет 5KтL 
оEуIеEт6ле= EуDдопеDе6од текEт4 длO 8то7о6о7о 87ло6е=8O (о =ео5Eод8<оEт8 о5еEпеGе=8O 
EуDдопеDе6од4 текEт4 длO 8то7о6о7о 87ло6е=8O Eоо5I4етEO 6о 6Dе<O под4G8 74O6ле=8O =4 
уG4Eт8е 6 8то7о6о< 87ло6е=88). 

�лO EлепKE 8 Eл45о68дOI8E уG4Eт=8ко6 8то7о6о7о 87ло6е=8O пD8 =ео5Eод8<оEт8 <о6ет 
5KтL оEуIеEт6ле= пеDе6од текEт4 длO 8то7о6о7о 87ло6е=8O =4 DелLеD=о-тоGеG=K9 HD8Dт �D49лO 
(о =ео5Eод8<оEт8 о5еEпеGе=8O пеDе6од4 текEт4 длO 8то7о6о7о 87ло6е=8O Eоо5I4етEO 6о 6Dе<O 
под4G8 74O6ле=8O =4 уG4Eт8е 6 8то7о6о< 87ло6е=88). 

�о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 74пDеIе=о 8<етL пD8 Eе5е EDедEт64 E6O78, Dото-, 4уд8о- 8 68део4пп4D4туDу, 
EпD46оG=Kе <4теD84лK, п8EL<е==Kе 74<етк8 8 8=Kе EDедEт64 ED4=е=8O 8 пеDед4G8 8=DоD<4F88, 
Eо5Eт6е==Kе оDDо7D4D8GеEк8е 8 (8л8) толко6Kе Eло64D8. 'G4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) т4к6е 74пDеI4етEO полL7о64тLEO текEт4<8 л8теD4туD=о7о <4теD84л4 
(Eудо6еEт6е==Kе пDо876еде=8O, д=е6=8к8, <е<у4DK, пу5л8F8Eт8к4, дDу78е л8теD4туD=Kе 
8EтоG=8к8). 

�о 6Dе<O пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=4< ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пDеIе=о 8<етL пD8 Eе5е EDедEт64 E6O78, Dото-, 4уд8о- 8 
68део4пп4D4туDу, EпD46оG=Kе <4теD84лK, п8EL<е==Kе 74<етк8 8 8=Kе EDедEт64 ED4=е=8O 8 
пеDед4G8 8=DоD<4F88, ок47K64тL Eоде9Eт68е уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� EлуG4е =еE64тк8 <еEт4 6 5л4=ке 74п8E8 длO 6Kпол=е=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
по 74пDоEу уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) 6Kд4Nт е<у еIе од8= 5л4=к 74п8E8 допол=8телL=о (д4лее - 

допол=8телL=K9 5л4=к 74п8E8). � поле "Л8Eт N" Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) пD8 6Kд4Gе допол=8телL=о7о 5л4=к4 74п8E8 6=оE8т поDOдко6K9 =о<еD 
л8Eт4 D45отK уG4Eт=8к4 (пD8 Mто< л8Eто< N 1 O6лOетEO оE=о6=о9 5л4=к 74п8E8), 4 т4к6е пеDе=оE8т 
6 допол=8телL=K9 5л4=к 74п8E8 8то7о6о7о EоG8=е=8O (87ло6е=8O) код D45от (код D45отK дол6е= 
Eо6п4д4тL E кодо< D45отK =4 5л4=ке Dе78EтD4F88). 

�о <еDе =ео5Eод8<оEт8 уG4Eт=8к4< 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6Kд4NтEO GеD=о68к8. 

� EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) по EоEтоO=8N 7доDо6LO 8л8 дDу78< 
о5Jект86=K< пD8G8=4< =е <о6ет 746еDH8тL =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O), о= 
<о6ет пок8=утL <еEто пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 'ле=K ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лONт "�кт о доEDоG=о< 746еDHе=88 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< пD8G8=4<" (DоD<4 �!-08), 6=оEOт 
Eоот6етEт6уNIуN от<етку 6 DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6 уGе5=о< к458=ете ОО (<еEте пDо6еде=8O)" (уG4Eт=8к 8то7о6о7о EоG8=е=8O 



(87ло6е=8O) дол6е= поEт468тL E6оN подп8EL 6 ук474==о9 DоD<е). � 5л4=ке Dе78EтD4F88 
ук474==о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 поле "�е 74ко=G8л" =ео5Eод8<о 6=еEт8 
от<етку "X" длO уGет4 пD8 оD74=874F88 пDо6еDк8. �=еEе=8е от<етк8 6 поле "�е 74ко=G8л" 
подт6еD6д4етEO подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4DуH8л уEт4=о6ле==Kе 
тDе5о64=8O, о= уд4лOетEO E 8то7о6о7о EоG8=е=8O (87ло6е=8O). 'ле= ко<8EE88 по пDо6еде=8N 
8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет "�кт о5 уд4ле=88 уG4Eт=8к4 8то7о6о7о EоG8=е=8O 
(87ло6е=8O)" (DоD<4 �!-09), 6=оE8т Eоот6етEт6уNIуN от<етку 6 DоD<у �!-05 "�едо<оEтL 
пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете ОО (<еEте пDо6еде=8O)" 
(уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е= поEт468тL E6оN подп8EL 6 ук474==о9 DоD<е). 

� 5л4=ке Dе78EтD4F88 ук474==о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6=еEт8 
от<етку "X" 6 поле "'д4ле=". �=еEе=8е от<етк8 6 поле "'д4ле=" подт6еD6д4етEO подп8ELN Gле=4 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� EлуG4е Eд4G8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< EоG8=е=8O (87ло6е=8O) 6 
уEт=о9 DоD<е Gле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6=оE8т 6 5л4=к 
Dе78EтD4F88 ук474==о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) Eоот6етEт6уNIуN от<етку 
"X" 6 поле "� уEт=о9 DоD<е" 8 746еDOет E6ое9 подп8ELN 6=еEе=8е ук474==о9 от<етк8 6 
EпеF84лL=о от6еде==о< поле длO поEледуNIе9 коDDект=о9 пDо6еDк8 8 о5D45отк8 5л4=ко6 
8то7о6о7о EоG8=е=8O (87ло6е=8O) т4ко7о уG4Eт=8к4. � DоD<у �!-05 "�едо<оEтL пDо6еде=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете о5D47о64телL=о9 оD74=874F88 (<еEте 
пDо6еде=8O)" =ео5Eод8<о т4к6е 6=еEт8 от<етку 6 поле "!д464л 6 уEт=о9 DоD<е (О��)". 
 

�46еDHе=8е пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

�4 30 <8=ут 8 74 5 <8=ут до око=G4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) Eоо5I4Nт уG4Eт=8к4< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) о EкоDо< 746еDHе=88 =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 о 
=ео5Eод8<оEт8 пеDе=еEт8 =4п8E4==Kе EоG8=е=8O (87ло6е=8O) 87 GеD=о68ко6 6 5л4=к8 74п8E8 (6 
то< G8Eле 6 допол=8телL=Kе 5л4=к8 74п8E8). 

'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O), доEDоG=о 746еDH86H8е 6Kпол=е=8е 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), Eд4Nт 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8, допол=8телL=Kе 5л4=к8 
74п8E8, GеD=о68к8 8 пок8д4Nт о5D47о64телL=уN оD74=874F8N (<еEто пDо6еде=8O 8то7о6о7о 
EоG8=е=8O (87ло6е=8O), =е до68д4OEL уEт4=о6ле==о7о 6Dе<е=8 746еDHе=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 

�о 8EтеGе=88 уEт4=о6ле==о7о 6Dе<е=8 746еDHе=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) о5JO6лONт о5 око=G4=88 6Kпол=е=88 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 8 Eо58D4Nт у уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 5л4=к8 74п8E8), GеD=о68к8. 

'ле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) Eт468т "Z" 6 о5л4Eт8 
5л4=к4 74п8E8 (8л8 допол=8телL=о7о 5л4=к4 74п8E8), оEт46Hе9EO =е74пол=е==о9. 

� 5л4=к4E Dе78EтD4F88 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 74пол=8тL 
поле "Кол8GеEт6о 5л4=ко6 74п8E8". � ук474==ое поле 6п8EK64етEO то кол8GеEт6о 5л4=ко6 74п8E8, 
6клNG4O допол=8телL=Kе 5л4=к8 74п8E8 (6 EлуG4е еEл8 т4к8е 6Kд464л8EL по 74пDоEу уG4Eт=8к4), 
котоDое 5Kло 6Kд4=о уG4Eт=8ку. 

�4пол=ONт Eоот6етEт6уNI8е отGет=Kе DоD<K. � E6оN оGеDедL, уG4Eт=8к пDо6еDOет д4==Kе, 
6=еEе==Kе 6 DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< 
к458=ете ОО (<еEте пDо6еде=8O)", подт6еD6д4O 8E л8G=о9 подп8ELN. 



!о5D4==Kе 5л4=к8 Dе78EтD4F88, 5л4=к8 74п8E8 (допол=8телL=Kе 5л4=к8 74п8E8), 
GеD=о68к8, 4 т4к6е отGет=Kе DоD<K длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) Gле=K 
ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) пеDед4Nт Dуко6од8телN 
о5D47о64телL=о9 оD74=874F88. 
 

 

 

 

 

�D8ло6е=8е 9 

 

К �&� �� О&�������/ �&О�О�О�О !ОЧ�����/ (��ЛО����/) 
 

1. КD8теD88 оFе=864=8O 8то7о6о7о EоG8=е=8O оD74=874F8O<8, Dе4л87уNI8<8 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O 

К пDо6еDке по кD8теD8O< оFе=864=8O допуEк4NтEO 8то7о6Kе EоG8=е=8O, Eоот6етEт6уNI8е 
уEт4=о6ле==K< тDе5о64=8O<. 
 

&Dе5о64=8е N 1. "О5Jе< 8то7о6о7о EоG8=е=8O" <18> 

-------------------------------- 

<18> �D8 подEGете Eло6 6 EоG8=е=88 уG8тK64NтEO к4к E4<оEтоOтелL=Kе, т4к 8 Eлу6е5=Kе 
G4Eт8 DеG8. �одEG8тK64етEO лN54O поEледо64телL=оEтL Eло6, =4п8E4==KE 5е7 пDо5ел4 (=4пD8<еD, 
"6Eе-т4к8" - од=о Eло6о, "6Eе 6е" - д64 Eло64). �=8F84лK E D4<8л8е9 EG8т4NтEO од=8< Eло6о< 
(=4пD8<еD, "�... ЛеD<о=то6" - од=о Eло6о). ЛN5Kе дDу78е E8<6олK, 6 G4Eт=оEт8 F8DDK, пD8 
подEGете =е уG8тK64NтEO (=4пD8<еD, "5 лет" - од=о Eло6о, "пOтL лет" - д64 Eло64). 
 

 еко<е=дуе<ое кол8GеEт6о Eло6 - от 350. 

�4кE8<4лL=ое кол8GеEт6о Eло6 6 EоG8=е=88 =е уEт4=46л864етEO. �Eл8 6 EоG8=е=88 <е=ее 
250 Eло6 (6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле Eлу6е5=Kе), то 6KEт46лOетEO "=е74Gет" 74 
=е6Kпол=е=8е тDе5о64=8O N 1 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 8то7о6ое EоG8=е=8е =е 
пDо6еDOетEO по тDе5о64=8N N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O" 8 кD8теD8O< 
оFе=864=8O). 
 

&Dе5о64=8е N 2. "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O" 

�то7о6ое EоG8=е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е EоG8=е=8O 
(DD47<е=то6 EоG8=е=8O) 87 к4ко7о-л85о 8EтоG=8к4 8л8 6оEпDо876еде=8е по п4<Oт8 Gу6о7о текEт4 
(D45от4 дDу7о7о уG4Eт=8к4, текEт, опу5л8ко64==K9 6 5у<46=о< 8 (8л8) MлектDо==о< 68де, 8 дD.). 

�опуEк4етEO пDO<ое 8л8 коE6е==ое F8т8Dо64=8е E о5O74телL=о9 EEKлко9 =4 8EтоG=8к 
(EEKлк4 д4етEO 6 E6о5од=о9 DоD<е). О5Jе< F8т8Dо64=8O =е дол6е= пDе6KH4тL о5Jе< 
Eо5Eт6е==о7о текEт4 уG4Eт=8к4. 

�Eл8 EоG8=е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е 
тDе5о64=8O N 2 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое EоG8=е=8е =е пDо6еDOетEO по кD8теD8O< 
оFе=864=8O). 

�то7о6ое EоG8=е=8е, Eоот6етEт6уNIее уEт4=о6ле==K< тDе5о64=8O<, оFе=864етEO по 
кD8теD8O<: 

1. "!оот6етEт68е те<е"; 



2. "�D7у<е=т4F8O. �D86леGе=8е л8теD4туD=о7о <4теD84л4"; 

3. "Ко<по78F8O 8 ло78к4 D4EEу6де=8O"; 

4. "К4GеEт6о п8EL<е==о9 DеG8"; 

5. "�D4<от=оEтL". 

КD8теD88 N 1 8 N 2 O6лONтEO оE=о6=K<8. 

�лO полуGе=8O "74Gет4" 74 8то7о6ое EоG8=е=8е =ео5Eод8<о полуG8тL "74Gет" по кD8теD8O< 
N 1 8 N 2 (6KEт46ле=8е "=е74Gет4" по од=о<у 87 Mт8E кD8теD8е6 46то<4т8GеEк8 6едет к "=е74Gету" 
74 D45оту 6 Fело<), 4 т4к6е допол=8телL=о "74Gет" по од=о<у 87 дDу78E кD8теD8е6. 
 

КD8теD89 N 1 "!оот6етEт68е те<е" 

�4==K9 кD8теD89 =4Fел864ет =4 пDо6еDку EодеD64=8O EоG8=е=8O. 

'G4Eт=8к дол6е= D4EEу6д4тL =4 пDедло6е==уN те<у, 6K5D46 путL ее D4EкDKт8O (=4пD8<еD, 
от6еG4ет =4 6опDоE, поEт46ле==K9 6 те<е, 8л8 D47<KHлOет =4д пDедло6е==о9 пDо5ле<о9 8 т.п.). 

"�е74Gет" Eт468тEO толLко 6 EлуG4е, еEл8 EоG8=е=8е =е Eоот6етEт6ует те<е, 6 =е< =ет от6ет4 
=4 6опDоE, поEт46ле==K9 6 те<е, 8л8 6 EоG8=е=88 =е пDоEле6864етEO ко=кDет=о9 Fел8 
6KEк47K64=8O. �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO "74Gет". 
 

КD8теD89 N 2 "�D7у<е=т4F8O. �D86леGе=8е л8теD4туD=о7о <4теD84л4" 

�4==K9 кD8теD89 =4Fел864ет =4 пDо6еDку у<е=8O EтDо8тL D4EEу6де=8е, док47K64тL E6оN 
по78F8N, DоD<ул8DуO 4D7у<е=тK 8 подкDеплOO 8E пD8<еD4<8 87 опу5л8ко64==KE л8теD4туD=KE 
пDо876еде=89. �о6=о пD86лек4тL пDо876еде=8O уEт=о7о =4Dод=о7о т6оDGеEт64 (74 8EклNGе=8е< 
<4лKE 64=Dо6), Eудо6еEт6е==уN, доку<е=т4лL=уN, <е<у4D=уN, пу5л8F8Eт8GеEкуN, =4уG=уN 8 
=4уG=о-популOD=уN л8теD4туDу (6 то< G8Eле D8лоEоDEкуN, пE8Eоло78GеEкуN, 
л8теD4туDо6едGеEкуN, 8EкуEEт6о6едGеEкуN), д=е6=8к8, оGеDк8, л8теD4туD=уN кD8т8ку 8 дDу78е 
пDо876еде=8O отеGеEт6е==о9 8 <8Dо6о9 л8теD4туDK (доEт4тоG=о опоDK =4 од8= текEт). 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 EоG8=е=8е =е EодеD68т 4D7у<е=т4F88, =4п8E4=о 5е7 
опоDK =4 л8теD4туD=K9 <4теD84л, 8л8 6 =е< EуIеEт6е==о 8Eк46е=о EодеD64=8е 6K5D4==о7о 
текEт4, 8л8 л8теD4туD=K9 <4теD84л л8HL упо<8=4етEO 6 D45оте (4D7у<е=тK пD8<еD4<8 =е 
подкDеплONтEO). �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO "74Gет". 
 

КD8теD89 N 3 "Ко<по78F8O 8 ло78к4 D4EEу6де=8O" 

�4==K9 кD8теD89 =4Fел864ет =4 пDо6еDку у<е=8O ло78G=о 6KEтD4864тL D4EEу6де=8е =4 
пDедло6е==уN те<у. 'G4Eт=8к дол6е= 6KдеD6864тL Eоот=оHе=8е <е6ду те78Eо< 8 
док474телLEт64<8. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 7Dу5Kе ло78GеEк8е =4DуHе=8O <еH4Nт по=8<4=8N 
E<KEл4 Eк474==о7о 8л8 отEутEт6ует те78E=о-док474телL=4O G4EтL. �о 6EеE оEт4лL=KE EлуG4OE 
6KEт46лOетEO "74Gет". 
 

КD8теD89 N 4 "К4GеEт6о п8EL<е==о9 DеG8" 

�4==K9 кD8теD89 =4Fел864ет =4 пDо6еDку DеGе6о7о оDоD<ле=8O текEт4 EоG8=е=8O. 

'G4Eт=8к дол6е= тоG=о 6KD464тL <KEл8, 8EполL7уO D47=оо5D47=уN лекE8ку 8 D47л8G=Kе 
7D4<<4т8GеEк8е ко=EтDукF88, пD8 =ео5Eод8<оEт8 у<еEт=о употDе5лOтL теD<8=K. 



"�е74Gет" Eт468тEO пD8 уEло688, еEл8 =87кое к4GеEт6о DеG8 (6 то< G8Eле DеGе6Kе оH85к8) 
EуIеEт6е==о 74тDуд=Oет по=8<4=8е E<KEл4 EоG8=е=8O. �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO 
"74Gет". 
 

КD8теD89 N 5 "�D4<от=оEтL" <19> 

-------------------------------- 

<19> �то7о6ое EоG8=е=8е длO л8F E О��, дете9-8=64л8до6 8 8=64л8до6 <о6ет по 8E 
6ел4=8N 8 пD8 =4л8G88 Eоот6етEт6уNI8E <ед8F8=Eк8E пок474=89 пDо6од8тLEO 6 уEт=о9 DоD<е. 
ОFе=864=8е 8то7о6о7о EоG8=е=8O ук474==о9 к4те7оD88 уG4Eт=8ко6 8то7о6о7о EоG8=е=8O 
пDо6од8тEO по д6у< уEт4=о6ле==K< тDе5о64=8O< "О5Jе< 8то7о6о7о EоG8=е=8O" 8 
"!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O". �то7о6ое EоG8=е=8е, Eоот6етEт6уNIее 
уEт4=о6ле==K< тDе5о64=8O<, оFе=864етEO по кD8теD8O<. �лO полуGе=8O "74Gет4" 74 8то7о6ое 
EоG8=е=8е =ео5Eод8<о полуG8тL "74Gет" по кD8теD8O< N 1 8 N 2, 4 т4к6е допол=8телL=о "74Gет" 
по од=о<у 87 кD8теD8е6 N 3 8л8 N 4. �то7о6ое EоG8=е=8е 6 уEт=о9 DоD<е по кD8теD8N N 5 =е 
пDо6еDOетEO. 
 

�4==K9 кD8теD89 по76олOет оFе=8тL 7D4<от=оEтL 6KпуEк=8к4. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 =4 100 Eло6 6 EDед=е< пD8Eод8тEO 6 Eу<<е 5олее пOт8 
оH85ок: 7D4<<4т8GеEк8E, оDDо7D4D8GеEк8E, пу=кту4F8о==KE <20>. 

-------------------------------- 

<20> �4 оFе=ку EоG8=е=8O по КD8теD8N N 5 D4EпDоEтD4=ONтEO поло6е=8O о =е7Dу5KE, 
по6тоDONI8EEO 8 од=от8п=KE оH85к4E. �D8 подEGете оH85ок =е7Dу5Kе оH85к8 =е уG8тK64NтEO. 
 

2. КD8теD88 оFе=864=8O 8то7о6о7о 87ло6е=8O оD74=874F8O<8, Dе4л87уNI8<8 
о5D47о64телL=Kе пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O 

�то7о6ое 87ло6е=8е п8HетEO подDо5=о. 

К пDо6еDке по кD8теD8O< оFе=864=8O допуEк4NтEO 8то7о6Kе 87ло6е=8O, Eоот6етEт6уNI8е 
уEт4=о6ле==K< тDе5о64=8O<: 
 

&Dе5о64=8е N 1. "О5Jе< 8то7о6о7о 87ло6е=8O" <21> 

-------------------------------- 

<21> �D8 подEGете Eло6 6 87ло6е=88 уG8тK64NтEO к4к E4<оEтоOтелL=Kе, т4к 8 Eлу6е5=Kе 
G4Eт8 DеG8. �одEG8тK64етEO лN54O поEледо64телL=оEтL Eло6, =4п8E4==KE 5е7 пDо5ел4 (=4пD8<еD, 
"6Eе-т4к8" - од=о Eло6о, "6Eе 6е" - д64 Eло64). �=8F84лK E D4<8л8е9 EG8т4NтEO од=8< Eло6о< 
(=4пD8<еD, "�... ЛеD<о=то6" - од=о Eло6о). ЛN5Kе дDу78е E8<6олK, 6 G4Eт=оEт8 F8DDK, пD8 
подEGете =е уG8тK64NтEO (=4пD8<еD, "5 лет" - од=о Eло6о, "пOтL лет" - д64 Eло64). 
 

 еко<е=дуе<ое кол8GеEт6о Eло6 - 200. 

�4кE8<4лL=ое кол8GеEт6о Eло6 6 87ло6е=88 =е уEт4=46л864етEO: уG4Eт=8к дол6е= 8EEод8тL 
87 EодеD64=8O 8EEод=о7о текEт4. 

�Eл8 6 87ло6е=88 <е=ее 150 Eло6 (6 подEGет 6клNG4NтEO 6Eе Eло64, 6 то< G8Eле Eлу6е5=Kе), 
то 6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 1 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 
8то7о6ое 87ло6е=8е =е пDо6еDOетEO по тDе5о64=8N N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о 
87ло6е=8O" 8 кD8теD8O< оFе=864=8O). 
 



&Dе5о64=8е N 2. "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о 87ло6е=8O" 

�то7о6ое 87ло6е=8е 6Kпол=OетEO E4<оEтоOтелL=о. �е допуEк4етEO Eп8EK64=8е 87ло6е=8O 
87 к4ко7о-л85о 8EтоG=8к4 (D45от4 дDу7о7о уG4Eт=8к4, 8EEод=K9 текEт 8 дD.). 

�Eл8 87ло6е=8е пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е 
тDе5о64=8O N 2 8 "=е74Gет" 74 D45оту 6 Fело< (т4кое 87ло6е=8е =е пDо6еDOетEO по кD8теD8O< 
оFе=864=8O). 

�то7о6ое 87ло6е=8е (подDо5=ое), Eоот6етEт6уNIее уEт4=о6ле==K< тDе5о64=8O<, 
оFе=864етEO по кD8теD8O<: 

1. "!одеD64=8е 87ло6е=8O"; 

2. "Ло78G=оEтL 87ло6е=8O"; 

3. "�EполL7о64=8е Mле<е=то6 Eт8лO 8EEод=о7о текEт4"; 

4. "К4GеEт6о п8EL<е==о9 DеG8"; 

5. "�D4<от=оEтL". 

КD8теD88 N 1 8 N 2 O6лONтEO оE=о6=K<8. 

�лO полуGе=8O "74Gет4" 74 8то7о6ое 87ло6е=8е =ео5Eод8<о полуG8тL "74Gет" по кD8теD8O< 
N 1 8 N 2 (6KEт46ле=8е "=е74Gет4" по од=о<у 87 Mт8E кD8теD8е6 46то<4т8GеEк8 6едет к "=е74Gету" 
74 D45оту 6 Fело<), 4 т4к6е допол=8телL=о "74Gет" по од=о<у 87 дDу78E кD8теD8е6. 
 

КD8теD89 N 1 "!одеD64=8е 87ло6е=8O" 

�Dо6еDOетEO у<е=8е уG4Eт=8к4 пеDед4тL EодеD64=8е 8EEод=о7о текEт4. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 уG4Eт=8к EуIеEт6е==о 8Eк478л EодеD64=8е 8EEод=о7о 
текEт4 8л8 =е пеDед4л е7о EодеD64=8O. �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO "74Gет". 
 

КD8теD89 N 2 "Ло78G=оEтL 87ло6е=8O" 

�Dо6еDOетEO у<е=8е уG4Eт=8к4 ло78G=о, поEледо64телL=о 87л474тL EодеD64=8е 8EEод=о7о 
текEт4, 875е74тL =еопD46д4==KE по6тоDо6 8 =4DуHе=89 поEледо64телL=оEт8 6=утD8 E<KEло6KE 
G4Eте9 87ло6е=8O. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 7Dу5Kе ло78GеEк8е =4DуHе=8O <еH4Nт по=8<4=8N 
E<KEл4 87ло6е==о7о. �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO "74Gет". 
 

КD8теD89 N 3 "�EполL7о64=8е Mле<е=то6 Eт8лO 8EEод=о7о текEт4" 

�Dо6еDOетEO у<е=8е уG4Eт=8к4 EоED4=8тL 6 87ло6е=88 отделL=Kе Mле<е=тK Eт8лO 
8EEод=о7о текEт4. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 6 87ло6е=88 пол=оEтLN отEутEт6уNт Mле<е=тK Eт8лO 
8EEод=о7о текEт4. �о 6EеE оEт4лL=KE EлуG4OE 6KEт46лOетEO "74Gет". 
 

КD8теD89 N 4 "К4GеEт6о п8EL<е==о9 DеG8" 

�Dо6еDOетEO у<е=8е уG4Eт=8к4 6KD464тL <KEл8, 8EполL7уO D47=оо5D47=уN лекE8ку 8 
D47л8G=Kе DеGе6Kе ко=EтDукF88. 



"�е74Gет" Eт468тEO пD8 уEло688, еEл8 =87кое к4GеEт6о DеG8 (6 то< G8Eле 7Dу5Kе DеGе6Kе 
оH85к8) EуIеEт6е==о 74тDуд=Oет по=8<4=8е E<KEл4 87ло6е=8O. �о 6EеE оEт4лL=KE EлуG4OE 
6KEт46лOетEO "74Gет". 
 

КD8теD89 N 5 "�D4<от=оEтL" <22> 

-------------------------------- 

<22> �то7о6ое 87ло6е=8е длO л8F E О��, дете9-8=64л8до6 8 8=64л8до6 <о6ет по 8E 
6ел4=8N 8 пD8 =4л8G88 Eоот6етEт6уNI8E <ед8F8=Eк8E пок474=89 пDо6од8тLEO 6 уEт=о9 DоD<е. 
ОFе=864=8е 8то7о6о7о 87ло6е=8O ук474==о9 к4те7оD88 уG4Eт=8ко6 8то7о6о7о 87ло6е=8O 
пDо6од8тEO по д6у< уEт4=о6ле==K< тDе5о64=8O< "О5Jе< 8то7о6о7о 87ло6е=8O" 8 
"!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о 87ло6е=8O". �то7о6ое 87ло6е=8е, Eоот6етEт6уNIее 
уEт4=о6ле==K< тDе5о64=8O<, оFе=864етEO по кD8теD8O<. �лO полуGе=8O "74Gет4" 74 8то7о6ое 
87ло6е=8е =ео5Eод8<о полуG8тL "74Gет" по кD8теD8O< N 1 8 N 2, 4 т4к6е допол=8телL=о "74Gет" 
по од=о<у 87 кD8теD8е6 N 3 8л8 N 4. �то7о6ое 87ло6е=8е 6 уEт=о9 DоD<е по КD8теD8N N 5 =е 
пDо6еDOетEO. 
 

�Dо6еDOетEO 7D4<от=оEтL уG4Eт=8к4. 

"�е74Gет" Eт468тEO пD8 уEло688, еEл8 =4 100 Eло6 6 EDед=е< пD8Eод8тEO 6 Eу<<е 5олее 
деEOт8 оH85ок: 7D4<<4т8GеEк8E, оDDо7D4D8GеEк8E, пу=кту4F8о==KE. <23> 

-------------------------------- 

<23> �4 оFе=ку 87ло6е=8O по кD8теD8N N 5 D4EпDоEтD4=OетEO поло6е=8е о =е7Dу5KE, 
по6тоDONI8EEO 8 од=от8п=KE оH85к4E. �D8 подEGете оH85ок =е7Dу5Kе оH85к8 =е уG8тK64NтEO. 
�D8 оFе=ке 7D4<от=оEт8 Eледует уG8тK64тL EпеF8D8ку п8EL<е==о9 DеG8 7луE8E 8 Eл45оEлKH4I8E 
о5уG4NI8EEO, пDоO6лONIуNEO 6 "47D4<<4т87<4E", котоDKе дол6=K D4EE<4тD864тLEO к4к 
од=от8п=Kе оH85к8. 
 

3.  еко<е=дуе<Kе кD8теD88 оFе=864=8O 8то7о6о7о EоG8=е=8O оD74=874F8O<8, 
Dе4л87уNI8<8 о5D47о64телL=Kе пDо7D4<<K 6KEHе7о о5D47о64=8O 

�4==Kе кD8теD88 =оEOт Dеко<е=д4телL=K9 E4D4ктеD. О5D47о64телL=4O оD74=874F8O 
6KEHе7о о5D47о64=8O 6пD46е D47D45от4тL Eо5Eт6е==Kе кD8теD88 оFе=864=8O 8то7о6о7о 
EоG8=е=8O, 6 то< G8Eле =4 оE=о6е пDедло6е==KE. 

!оG8=е=8е оFе=864етEO по деEOт8 кD8теD8O< 8 E уGето< е7о о5Jе<4 8 E4<оEтоOтелL=оEт8. 

КD8теD88 N 1 8 N 2 O6лONтEO оE=о6=K<8. 

�Eл8 пD8 пDо6еDке EоG8=е=8O по кD8теD8N N 1 8л8 N 2 поEт46ле=о 0 54лло6, то EоG8=е=8е 
д4лLHе =е пDо6еDOетEO: по 6Eе< оEт4лL=K< кD8теD8O< 6KEт46лOетEO 0 54лло6. 
 

КD8теD88 оFе=864=8O �4ллK 

К1. !оот6етEт68е те<е 

'G4Eт=8к D4EкDK64ет те<у EоG8=е=8O 8л8 6 то9 8л8 8=о9 DоD<е D4EEу6д4ет 
=4 пDедло6е==уN те<у, 6K5D46 у5ед8телL=K9 путL ее D4EкDKт8O (D47<KHлOO 
=4д пDедло6е==о9 те<о9, D4EкDK64ет D47=Kе ее 4EпектK 6 8E 6748<оE6O78), 
ко<<у=8к4т86=K9 74<KEел EоG8=е=8O 6KD46е= OE=о 

2 

'G4Eт=8к по6еDE=оEт=о D4EEу6д4ет =4 пDедло6е==уN те<у 8л8 D4EEу6д4ет 1 



=4 те<у, 5л87куN к пDедло6е==о9, ко<<у=8к4т86=K9 74<KEел EоG8=е=8O 
пDоEле6864етEO 

!оG8=е=8е =е Eоот6етEт6ует те<е, 8/8л8 ко<<у=8к4т86=K9 74<KEел 
EоG8=е=8O =е пDоEле6864етEO 

0 

К2. �D7у<е=т4F8O. �D86леGе=8е л8теD4туD=о7о <4теD84л4 

'G4Eт=8к пD8 D4EкDKт88 те<K EоG8=е=8O док47K64ет E6оN по78F8N, 
DоD<ул8DуO 4D7у<е=тK 8 подкDеплOO 8E пD8<еD4<8 87 опу5л8ко64==KE 
л8теD4туD=KE пDо876еде=89. �о6=о пD86лек4тL пDо876еде=8O уEт=о7о 
=4Dод=о7о т6оDGеEт64 (74 8EклNGе=8е< <4лKE 64=Dо6), Eудо6еEт6е==уN, 
доку<е=т4лL=уN, <е<у4D=уN, пу5л8F8Eт8GеEкуN, =4уG=уN 8 =4уG=о-

популOD=уN л8теD4туDу (6 то< G8Eле D8лоEоDEкуN, пE8Eоло78GеEкуN, 
л8теD4туDо6едGеEкуN, 8EкуEEт6о6едGеEкуN), д=е6=8к8, оGеDк8, л8теD4туD=уN 
кD8т8ку 8 дDу78е пDо876еде=8O отеGеEт6е==о9 8 <8Dо6о9 л8теD4туDK 
(доEт4тоG=о опоDK =4 од8= текEт); 

6K5оD л8теD4туD=о7о пDо876еде=8O 8 4EпектK е7о 4=4л874 Eоот6етEт6уNт 
DоD<ул8Dо6ке те<K, ко=Fепту4лL=K< те78E4< EоG8=е=8O; 

пD8 пD86леGе=88 д6уE 8 5олее л8теD4туD=KE пDо876еде=89 оEуIеEт6лOет 
EопоEт46ле=8е <е6ду =8<8 EотO 5K по од=о9 по78F88; 

допуIе=о =е 5олее 1 D4кт8GеEко9 оH85к8, E6O74==о9 Eо 7=4=8е< 
л8теD4туD=о7о <4теD84л4 (оH85к4 6 =4п8E4=88 D4<8л88, 8<е=8, отGеEт64 
46тоD4 8 =4764=8O пDо876еде=8O, 8<е= пеDEо=46е9 8 топо=8<о6 
пDо876еде=8O, 6 87ло6е=88 EN6ет=о9 л8=88, л8теD4туD=KE 8 8EтоD8GеEк8E 
D4кто6 8 т.п.) 

2 

'G4Eт=8к EтDо8т D4EEу6де=8е, док47K64ет E6оN по78F8N, подкDеплOO 
4D7у<е=тK пD8<еD4<8 87 л8теD4туD=о7о <4теD84л4, =о о7D4=8G864етEO 
о5I8<8 6KEк47K64=8O<8 по по6оду пD86леGе==о7о текEт4(о6), пD8 
пD86леGе=88 д6уE 8 5олее л8теD4туD=KE пDо876еде=89 =е оEуIеEт6лOет 
EопоEт46ле=8O <е6ду =8<8, 

8/8л8 пD86лек4ет л8теD4туD=K9 <4теD84л =е 6пол=е у<еEт=о E тоGк8 7Dе=8O 
6K5D4==о9 те<K, 

8/8л8 о7D4=8G864етEO пDоEтK< пеDеEк47о< пDо876еде=8O, 
8/8л8 допуIе=K 2 - 4 D4кт8GеEк8е оH85к8, E6O74==Kе Eо 7=4=8е< 

л8теD4туD=о7о <4теD84л4 

1 

!оG8=е=8е =4п8E4=о 5е7 опоDK =4 л8теD4туD=K9 <4теD84л 8л8 6 EоG8=е=88 
EуIеEт6е==о 8Eк46е=о EодеD64=8е 6K5D4==о7о текEт4, 

8л8 л8теD4туD=K9 <4теD84л л8HL упо<8=4етEO 6 D45оте (4D7у<е=тK =е 
подкDеплONтEO пD8<еD4<8 87 текEт4, =е Eт4=о6OтEO опоDо9 длO D4EEу6де=8O), 

8/8л8 EоG8=е=8е EодеD68т 5 8 5олее D4кт8GеEк8E оH85ок, E6O74==KE Eо 
7=4=8е< л8теD4туD=о7о <4теD84л4 

0 

К3. Ко<по78F8O  

!оG8=е=8е отл8G4етEO ко<по78F8о==о9 FелL=оEтLN, ло78G=оEтLN 
87ло6е=8O <KEле9 8 EоD47<еD=оEтLN G4Eте9, 6=утD8 E<KEло6KE G4Eте9 =ет 
=4DуHе=89 поEледо64телL=оEт8 8 =ео5оE=о64==KE по6тоDо6 <KEл8 

2 

!оG8=е=8е отл8G4етEO ко<по78F8о==о9 FелL=оEтLN, е7о G4Eт8 ло78GеEк8 
E6O74=K <е6ду Eо5о9, =о 6=утD8 E<KEло6KE G4Eте9 еEтL =е 5олее 2 =4DуHе=89 
поEледо64телL=оEт8 8 =ео5оE=о64==Kе по6тоDK <KEл8, 

8/8л8 6 EоG8=е=88 пDоEле6864етEO ко<по78F8о==K9 74<KEел, =о еEтL =е 

1 



5олее 2 =4DуHе=89 ко<по78F8о==о9 E6O78 <е6ду E<KEло6K<8 G4EтO<8, 
8/8л8 <KEлL =е D476864етEO 

Ло78GеEк8е =4DуHе=8O <еH4Nт по=8<4=8N E<KEл4 =4п8E4==о7о, 8л8 
отEутEт6ует те78E=о-док474телL=4O G4EтL 

0 

К4. К4GеEт6о DеG8  

!оG8=е=8е E4D4ктеD87уетEO тоG=оEтLN 6KD46е=8O <KEл8, Eт8л8Eт8GеEко9 
FелоEт=оEтLN, 8EполL7о64=8е< D47=оо5D47=о9 лекE8к8 8 D47л8G=KE 
7D4<<4т8GеEк8E ко=EтDукF89, у<еEт=K< употDе5ле=8е< теD<8=о6, отEутEт68е< 
=еопD46д4==KE DеGе6KE Hт4<по6, к4=FелOD87<о6 

2 

!оG8=е=8е E4D4ктеD87уетEO тоG=оEтLN 6KD46е=8O <KEл8, =о 8<еNтEO 
=4DуHе=8O Eт8л8Eт8GеEко9 FелоEт=оEт8, =еопD46д4==Kе DеGе6Kе Hт4<пK, 
к4=FелOD87<K, от<еG4етEO од=оо5D478е 7D4<<4т8GеEко7о EтDоO DеG8 

1 

�87кое к4GеEт6о DеG8 EуIеEт6е==о 74тDуд=Oет по=8<4=8е E<KEл4 8/ 8л8 
EоG8=е=8е отл8G4етEO 5ед=оEтLN Eло64DO 8 од=оо5D478е< 7D4<<4т8GеEко7о 
EтDоO DеG8 

0 

К5. ОD878=4лL=оEтL EоG8=е=8O  

!оG8=е=8е E4D4ктеD87уетEO т6оDGеEк8<, =еEт4=д4Dт=K< подEодо< к 
D4EкDKт8N те<K (пD8EутEт6уNт E4<оEтоOтелL=Kе =еH45ло==Kе <KEл8, 8л8 
=ео68д4==Kе 8 6<еEте E те< у5ед8телL=Kе 4D7у<е=тK E пD86леGе=8е< 
=етD8684лL=о7о л8теD4туD=о7о <4теD84л4, 8л8 оD878=4лL=Kе =45лNде=8O, 8л8 
8=теDеE=4O ло78к4 D4EEу6де=8O 8 пDоG.) 8л8 ODкоEтLN Eт8лO 

1 

� EоG8=е=88 =е пDоде<о=EтD8Dо64= т6оDGеEк89, =еEт4=д4Dт=K9 подEод, 
оD878=4лL=оEтL Eт8лO 

0 

К6.  еGе6Kе =оD<K  

 еGе6KE оH85ок =ет, 8л8 допуIе=о 1 - 2 DеGе6Kе оH85к8 2 

�опуIе=о 3 - 4 DеGе6Kе оH85к8 1 

�опуIе=о 5 8 5олее DеGе6KE оH85ок 0 

К7. ОDDо7D4D8GеEк8е =оD<K  

ОDDо7D4D8GеEк8E оH85ок =ет, 8л8 допуIе=4 1 оH85к4 3 

�опуIе=о 2 - 3 оDDо7D4D8GеEк8е оH85к8 2 

�опуIе=о 4 - 5 оDDо7D4D8GеEк8E оH85ок 1 

�опуIе=о 5олее 5 оDDо7D4D8GеEк8E оH85ок 0 

К8. �у=кту4F8о==Kе =оD<K  

�у=кту4F8о==KE оH85ок =ет, 8л8 допуIе=4 1 оH85к4 3 

�опуIе=о 2 - 3 пу=кту4F8о==Kе оH85к8 2 

�опуIе=о 4 - 5 пу=кту4F8о==KE оH85ок 1 



�опуIе=о 5олее 5 пу=кту4F8о==KE оH85ок 0 

К9. �D4<<4т8GеEк8е =оD<K  

�D4<<4т8GеEк8E оH85ок =ет, 8л8 допуIе=4 1 7D4<<4т8GеEк4O оH85к4 2 

�опуIе=о 2 - 3 7D4<<4т8GеEк8е оH85к8 1 

�опуIе=о 4 8 5олее 7D4<<4т8GеEк8E оH85ок 0 

К10. $4кт8GеEк4O тоG=оEтL 6 Dо=о6о< (=е л8теD4туD=о<) <4теD84ле 

$4кт8GеEк8е оH85к8 отEутEт6уNт 1 

�опуIе=K D4кт8GеEк8е оH85к8 (1 8 5олее) 6 Dо=о6о< <4теD84ле 0 

��К!���Л0�/� ��ЛЛ 20 

 

 еко<е=д4F88 по пеDе6оду 54лло6 6 10-54ллL=уN Hк4лу 

 

От<етк4 по 
деEOт854ллL=о9 
E8Eте<е 

0 1 2 3 4 5 6 7 8 9 10 

�еD68G=K9 54лл 0 - 4 5 - 6 7 - 8 9 - 10 11 - 12 13 - 14 15 - 16 17 18 19 20 

 

 

 

 

 

�D8ло6е=8е 10 

 

 �КО�����&�� 

�О &�%��Ч�!КО�' О��!��Ч���. О ������&�� � � О������/ 

�&О�О�О�О !ОЧ�����/ (��ЛО����/) 
 

�4EтоOI8е Dеко<е=д4F88 по теE=8GеEко<у о5еEпеGе=8N под7ото6к8 8 пDо6еде=8O 
8то7о6о7о EоG8=е=8O (87ло6е=8O) EодеD64т оп8E4=8е: 

тDе5о64=89 к пDо7D4<<=о-4пп4D4т=о<у о5еEпеGе=8N =4 Dе78о=4лL=о<, <у=8F8п4лL=о< 
уDо6=OE 8 =4 уDо6=е о5D47о64телL=KE оD74=874F89; 

4DE8тектуDK 8 EоEт464 пDо7D4<<=о7о о5еEпеGе=8O =4 Dе78о=4лL=о<, <у=8F8п4лL=о< 
уDо6=OE 8 =4 уDо6=е о5D47о64телL=KE оD74=874F89; 

<4теD84лL=о-теE=8GеEко7о оE=4Iе=8O =4 Dе78о=4лL=о<, <у=8F8п4лL=о< уDо6=OE 8 уDо6=е 
о5D47о64телL=KE оD74=874F89. 
 

�еDеGе=L EокD4Iе=89 8 уEло6=KE о5о7=4Gе=89 

� EледуNIе9 т45л8Fе пD86еде= пеDеGе=L 8EполL7уе<KE 6 доку<е=те EокD4Iе=89 8 
уEло6=KE о5о7=4Gе=89. 
 

!окD4Iе=8е,  4EH8DDо6к4 EокD4Iе=8O, уEло6=о7о о5о7=4Gе=8O 



уEло6=ое 
о5о7=4Gе=8е 

�� �474 д4==KE 

��� 
�оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O по о5D47о64телL=K< пDо7D4<<4< 
EDед=е7о о5Iе7о о5D47о64=8O 

�!' 
ОD74= <еEт=о7о E4<оупD46ле=8O, оEуIеEт6лONI89 упD46ле=8е 6 EDеDе 
о5D47о64=8O 

О�� 
ОD74= 8Eпол=8телL=о9 6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, 
оEуIеEт6лONI89 7оEуд4DEт6е==ое упD46ле=8е 6 EDеDе о5D47о64=8O 

ОО О5D47о64телL=4O оD74=874F8O 

�О �Dо7D4<<=ое о5еEпеGе=8е 

 �! 

 е78о=4лL=Kе 8=DоD<4F8о==Kе E8Eте<K о5еEпеGе=8O пDо6еде=8O ��� 
о5уG4NI8EEO, оE6о86H8E оE=о6=Kе о5D47о64телL=Kе пDо7D4<<K оE=о6=о7о 
о5Iе7о 8 EDед=е7о о5Iе7о о5D47о64=8O 

 '  е78о=4лL=K9 уDо6е=L 

 &О�  е78о=4лL=K9 Fе=тD о5D45отк8 8=DоD<4F88 Eу5Jект4  оEE89Eко9 $едеD4F88 

$�! 

$едеD4лL=4O 8=DоD<4F8о==4O E8Eте<4 о5еEпеGе=8O пDо6еде=8O ��� 
о5уG4NI8EEO, оE6о86H8E оE=о6=Kе о5D47о64телL=Kе пDо7D4<<K оE=о6=о7о 
о5Iе7о 8 EDед=е7о о5Iе7о о5D47о64=8O, 8 пD8е<4 7D46д4= 6 
о5D47о64телL=Kе оD74=874F88 длO полуGе=8O EDед=е7о пDоDеEE8о=4лL=о7о 8 
6KEHе7о о5D47о64=8O 

$' $едеD4лL=K9 уDо6е=L 

 

1. �DE8тектуD4 8 EоEт46 пDо7D4<<=о7о о5еEпеGе=8O 

 



 

 

 8Eу=ок 1. �DE8тектуD4 8 EоEт46 �О 

 

!Eе<4 �О, 8EполL7уе<о7о длO пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O), пD86еде=4 =4 
D8Eу=ке (E<.  8Eу=ок 1). 

 

&Dе5о64=8O к теE=8GеEко<у 8 пDо7D4<<=о<у оE=4Iе=8N 

D45оG8E Eт4=F89 

 

 е78о=4лL=K9 уDо6е=L 

 

� &45л8Fе 1 пD86еде=K тDе5о64=8O к о5оDудо64=8N, котоDое дол6=о 6Eод8тL 6 EоEт46 
D45оGе9 Eт4=F88 =4 Dе78о=4лL=о< уDо6=е. 
 



&45л8F4 1 

 

Ко<по=е=т Ко=D87уD4F8O 

 45оG4O Eт4=F8O 6 
 &О� 

�4л8G8е Eт458лL=о7о к4=4л4 E6O78 E 6KEодо< 6 EетL "�=теD=ет" (длO 
Eт4=F88 46тоD874F88). 
 45оG4O Eт4=F8O дол6=4 8<етL уEтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O; 
6=еH=89 8=теDDе9E: USB 2.0. 
�опол=8телL=KE EпеF84лL=KE тDе5о64=89 к D45оGе9 Eт4=F88 =е 
пDедJO6лOетEO. 

Л47еD=K9 пD8=теD $оD<4т: A4. 
!коDоEтL GеD=о-5ело9 пеG4т8 (о5KG=K9 Dе68<, A4): 30 EтD./<8=. 
К4GеEт6о GеD=о-5ело9 пеG4т8 (Dе68< =48луGHе7о к4GеEт64): =е <е=ее 
600 x 600 тоGек =4 дN9< 

&еE=оло78O пеG4т8: л47еD=4O 

!к4=еD TWAIN-Eо6<еEт8<K9 Eк4=еD О5л4EтL Eк4=8Dо64=8O: A4 

!к4=8Dо64=8е E D47DеHе=8е< 300 dpi 

КEеDокE !пеF84лL=Kе тDе5о64=8O =е пDедJO6лONтEO 

 

� &45л8Fе 2 пD86еде=K тDе5о64=8O к 4пп4D4т=о<у о5еEпеGе=8N D45оGе9 Eт4=F88 =4 
Dе78о=4лL=о< уDо6=е. 
 

&45л8F4 2 

 

Ко<по=е=т Ко=D87уD4F8O 

&е=тD4лL=K9 
пDоFеEEоD 

�е =86е Intel Pentium 4 2,4 ��F, =о =е <е=ее Dеко<е=дуе<о7о длO 
уEт4=о6ле==о9 О! 

ОпеD4т86=4O п4<OтL От 2 Gb 

�8Eко64O подE8Eте<4 !6о5од=ое <еEто =е <е=ее 10 Gb 

�=еH=8е 8=теDDе9EK 
8 =4коп8тел8 

'EтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O: ATAPI CD-RW 

�=еH=89 8=теDDе9E: USB 2.0 

�8део4д4птеD �EтDое= 6 G8пEет <4теD8=Eко9 пл4тK, пDо876од8телL=оEтL =е <е=ее 
Dеко<е=дуе<о9 длO уEт4=о6ле==о9 О! 

Кл4684туD4 �D8EутEт6ует 

�KHL �D8EутEт6ует 

�о=8тоD SVGA D47DеHе=8е =е <е=ее 1024 px по 7оD87о=т4л8 

 еко<е=дуе<ое D47DеHе=8е: 1280 x 1024 

!ете64O пл4т4 Ethernet 10/100 �58т 

 

� &45л8Fе 3 пD86еде=K тDе5о64=8O к ко=D87уD4F88 пDо7D4<<=о7о о5еEпеGе=8O D45оGе9 
Eт4=F88 =4 Dе78о=4лL=о< уDо6=е. 
 

&45л8F4 3 



 

Ко<по=е=т Ко=D87уD4F8O 

!еD6еD=4O 
опеD4F8о==4O 
E8Eте<4 

!еD6еD=4O О! Eе<е9Eт64 Windows =е =86е Server 2008 

!'�� !'�� "SQL Server 2008 R2" E п4кето< о5=о6ле=8O 3 (SP3) - "SQL Server 

2014" 

ОпеD4F8о==4O 
E8Eте<4 

Windows 7 8 6KHе 

�опол=8телL=ое �О Microsoft.NET Framework 3.5 8 6KHе 

�=теD=ет 5D4у7еD ЛN5о9 87 5D4у7еDо6: 
- Mozilla Firefox, 6еDE8O =е =86е 3, 
- Google Chrome, 6еDE8O =е =86е 18, 
- Opera, 6еDE8O =е =86е 12, 
- Microsoft Internet Explorer, 6еDE8O =е =86е 8 

�О длO Eк4=8Dо64=8O !пеF84л878Dо64==ое �О, о5еEпеG864NIее Eк4=8Dо64=8е 5л4=ко6 
8то7о6KE EоG8=е=89 

�О длO 
D4Eпо7=464=8O 

!пеF84л878Dо64==ое �О, о5еEпеG864NIее D4Eпо7=464=8е 
87о5D46е=89 5л4=ко6 8то7о6KE EоG8=е=89 

�О длO 6еD8D8к4F88 !пеF84л878Dо64==ое �О длO пDо6еDк8 8 коDDекF88 Dе7улLт4то6 
D4Eпо7=464=8O 87о5D46е=89 5л4=ко6 8то7о6KE EоG8=е=89 

 

�у=8F8п4лL=K9 уDо6е=L 

 

� &45л8Fе 4 пD86еде=K тDе5о64=8O к о5оDудо64=8N, котоDое дол6=о 6Eод8тL 6 EоEт46 
D45оGе9 Eт4=F88 =4 <у=8F8п4лL=о< уDо6=е 

 

&45л8F4 4 

 

Ко<по=е=т Ко=D87уD4F8O 

 45оG4O Eт4=F8O =4 
<у=8F8п4лL=о< 
уDо6=е 

�4л8G8е Eт458лL=о7о к4=4л4 E6O78 E 6KEодо< 6 EетL "�=теD=ет" (кDо<е 
Eт4=F88 о5D45отк8 5л4=ко6). 
 45оG4O Eт4=F8O дол6=4 8<етL уEтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O; 
6=еH=89 8=теDDе9E: USB 2.0. 
�опол=8телL=KE EпеF84лL=KE тDе5о64=89 к D45оGе9 Eт4=F88 =е 
пDедJO6лOетEO 

Л47еD=K9 пD8=теD $оD<4т: A4. 
!коDоEтL GеD=о-5ело9 пеG4т8 (о5KG=K9 Dе68<, A4): 30 EтD./<8=. 
К4GеEт6о GеD=о-5ело9 пеG4т8 (Dе68< =48луGHе7о к4GеEт64): =е <е=ее 
600 x 600 тоGек =4 дN9< 

&еE=оло78O пеG4т8: л47еD=4O 

!к4=еD TWAIN-Eо6<еEт8<K9 Eк4=еD О5л4EтL 

Eк4=8Dо64=8O: A4 



!к4=8Dо64=8е E D47DеHе=8е< 300 dpi 

КEеDокE !пеF84лL=Kе тDе5о64=8O =е пDедJO6лONтEO 

 

� &45л8Fе 5 пD86еде=K тDе5о64=8O к 4пп4D4т=о<у о5еEпеGе=8N =4 <у=8F8п4лL=о< уDо6=е. 
 

&45л8F4 5 

 

Ко<по=е=т Ко=D87уD4F8O 

&е=тD4лL=K9 
пDоFеEEоD 

�е =86е Intel Pentium 4 2,4 ��F, =о =е <е=ее Dеко<е=дуе<о7о длO 
уEт4=о6ле==о9 О! 

ОпеD4т86=4O п4<OтL От 2 Gb 

�8Eко64O подE8Eте<4 !6о5од=ое <еEто =е <е=ее 1 Gb 

�=еH=8е 8=теDDе9EK 
8 =4коп8тел8 

'EтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O: ATAPI CD-RW 

�=еH=89 8=теDDе9E: USB 2.0 

�8део4д4птеD �EтDое= 6 G8пEет <4теD8=Eко9 пл4тK пDо876од8телL=оEтL =е <е=ее 
Dеко<е=дуе<о9 длO уEт4=о6ле==о9 О! 

Кл4684туD4 �D8EутEт6ует 

�KHL �D8EутEт6ует 

�о=8тоD SVGA D47DеHе=8е =е <е=ее 1024 px по 7оD87о=т4л8. 
 еко<е=дуе<ое D47DеHе=8е: 1280 x 1024 

!ете64O пл4т4 Ethernet 10/100 �58т 

 

� &45л8Fе 6 пD86еде=K тDе5о64=8O к ко=D87уD4F88 пDо7D4<<=о7о о5еEпеGе=8O D45оGе9 
Eт4=F88 =4 <у=8F8п4лL=о< уDо6=е. 
 

&45л8F4 6 

 

Ко<по=е=т Ко=D87уD4F8O 

ОпеD4F8о==4O 
E8Eте<4 

Windows 7 8 6KHе 

�опол=8телL=ое �О Microsoft.NET Framework 3.5 8 6KHе 

�=теD=ет 5D4у7еD ЛN5о9 87 5D4у7еDо6: 
- Mozilla Firefox, 6еDE8O =е =86е 3, 
- Google Chrome, 6еDE8O =е =86е 18, 
- Opera, 6еDE8O =е =86е 12, 
- Microsoft Internet Explorer, 6еDE8O =е =86е 8 

�О длO Eк4=8Dо64=8O !пеF84л878Dо64==ое �О, о5еEпеG864NIее Eк4=8Dо64=8е 5л4=ко6 

8то7о6KE EоG8=е=89 

 

'Dо6е=L о5D47о64телL=KE оD74=874F89 



 

� &45л8Fе 7 пD86еде=K тDе5о64=8O к о5оDудо64=8N, котоDое дол6=о 6Eод8тL 6 EоEт46 
D45оGе9 Eт4=F88 =4 уDо6=е о5D47о64телL=KE оD74=874F89. 
 

&45л8F4 7 

 

Ко<по=е=т Ко=D87уD4F8O 

 45оG4O Eт4=F8O =4 
уDо6=е 

о5D47о64телL=KE 
оD74=874F89 

�4л8G8е Eт458лL=о7о к4=4л4 E6O78 E 6KEодо< 6 EетL "�=теD=ет". 
 45оG4O Eт4=F8O дол6=4 8<етL уEтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O; 
6=еH=89 8=теDDе9E: USB 2.0. 
�опол=8телL=KE EпеF84лL=KE тDе5о64=89 к D45оGе9 Eт4=F88 =е 
пDедJO6лOетEO 

Л47еD=K9 пD8=теD $оD<4т: A4. 
!коDоEтL GеD=о-5ело9 пеG4т8 (о5KG=K9 Dе68<, A4): 30 EтD./<8=. 
К4GеEт6о GеD=о-5ело9 пеG4т8 (Dе68< =48луGHе7о к4GеEт64): =е <е=ее 
600 x 600 тоGек =4 дN9< 

&еE=оло78O пеG4т8: л47еD=4O 

!к4=еD TWAIN-Eо6<еEт8<K9 Eк4=еD О5л4EтL 

Eк4=8Dо64=8O: A4 

!к4=8Dо64=8е E D47DеHе=8е< 300 dpi 

КEеDокE !пеF84лL=KE тDе5о64=89 =е пDедJO6лOетEO 

 

� &45л8Fе 8 пD86еде=K тDе5о64=8O к 4пп4D4т=о<у о5еEпеGе=8N D45оGе9 Eт4=F88 =4 уDо6=е 
о5D47о64телL=KE оD74=874F89. 
 

&45л8F4 8 

 

Ко<по=е=т Ко=D87уD4F8O 

&е=тD4лL=K9 
пDоFеEEоD 

 еко<е=дуетEO Intel Pentium 4 2,4 ��F, =о =е <е=ее Dеко<е=дуе<о7о 
длO уEт4=о6ле==о9 О! 

ОпеD4т86=4O п4<OтL �8=8<4лL=4O: 4 Gb 

�8Eко64O подE8Eте<4 !6о5од=ое <еEто =е <е=ее 1 Gb 

�=еH=8е 8=теDDе9EK 
8 =4коп8тел8 

'EтDо9Eт6о Dе7еD6=о7о коп8Dо64=8O: ATAPI CD-RW 

�=еH=89 8=теDDе9E: USB 2.0 

�8део4д4птеD �EтDое= 6 G8пEет <4теD8=Eко9 пл4тK пDо876од8телL=оEтL =е <е=ее 
Dеко<е=дуе<о9 длO уEт4=о6ле==о9 О! 

Кл4684туD4 �D8EутEт6ует 

�KHL �D8EутEт6ует 

�о=8тоD SVGA D47DеHе=8е =е <е=ее 1024 px по 7оD87о=т4л8. 
 еко<е=дуе<ое D47DеHе=8е: 1280 x 1024 

!ете64O пл4т4 Ethernet 10/100 �58т 



!8Eте<4 
5еEпеDе5о9=о7о 
п8т4=8O 
(Dеко<е=дуетEO) 

�KEод=4O <оI=оEтL, Eоот6етEт6уNI4O потDе5лOе<о9 <оI=оEт8 
подклNGе==о9 D45оGе9 Eт4=F88. 
�Dе<O D45отK пD8 пол=о9 =47Dу7ке: =е <е=ее 15 <8=. 

 

� &45л8Fе 9 пD86еде=K тDе5о64=8O к ко=D87уD4F88 пDо7D4<<=о7о о5еEпеGе=8O =4 уDо6=е 
о5D47о64телL=KE оD74=874F89. 
 

&45л8F4 9 

 

Ко<по=е=т Ко=D87уD4F8O 

ОпеD4F8о==4O 
E8Eте<4 

Windows 7 8 6KHе 

�опол=8телL=ое �О Microsoft.NET Framework 3.5 8 6KHе 

�=теD=ет 5D4у7еD ЛN5о9 87 5D4у7еDо6: 
- Mozilla Firefox, 6еDE8O =е =86е 3, 
- Google Chrome, 6еDE8O =е =86е 18, 
- Opera, 6еDE8O =е =86е 12, 
- Microsoft Internet Explorer, 6еDE8O =е =86е 8 

�О длO Eк4=8Dо64=8O !пеF84л878Dо64==ое �О, о5еEпеG864NIее Eк4=8Dо64=8е 5л4=ко6 
8то7о6KE EоG8=е=89 

 

&Dе5о64=8O к теE=8GеEко<у 8 пDо7D4<<=о<у оE=4Iе=8N EеD6еD4 

пу5л8к4F88 5л4=ко6 

 

� д4==о< D47деле ук474=K тDе5о64=8O к теE=8GеEко<у 8 пDо7D4<<=о<у оE=4Iе=8N EеD6еD4 
пу5л8к4F88 5л4=ко6 E уGето< D47<еIе=8O =4 EеD6еDK 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
4 т4к6е 5л4=ко6 ��1. 

ОE=о6=K< п4D4<етDо<, котоDK9 опDеделOет тDе5о64=8O к EеD6еDу, O6лOетEO кол8GеEт6о 
уG4Eт=8ко6 6 Dе78о=е. 

ОE=о6=K<8 кD8т8G=K<8 D4ктоD4<8 O6лONтEO: 

пDопуEк=4O EпоEо5=оEтL к4=4л4; 

EкоDоEтL D45отK д8Eко6о9 E8Eте<K EеD6еD4. 

� &45л8Fе 10 пD86еде=K тDе5о64=8O к ко=D87уD4F88 EеD6еD4 8EEодO 87 кол8GеEт64 
уG4Eт=8ко6 Mк74<е=о6 6 Dе78о=е. 
 

Кол8GеEт6о уG4Eт=8ко6, тKE. Gел. 10 20 50 

 �4D4<етDK 

�DоFеEEоD 4 OдD4 от 2 �7F 8 OдеD от 2 �7F 

RAM от 8 �5 от 16 �5 

�DопуEк=4O EпоEо5=оEтL к4=4л4 100 �58т/E 200 �58т/E 500 �58т/E 



�еEтк89 д8Eк: 

 еко<е=до64==K9 RAID 
RAID-0 

4 д8Eк4 

RAID-0 

8 д8Eко6 

RAID-0 

10 д8Eко6 

О5Jе< д4==KE, �� 200 400 1 000 

 

� &45л8Fе 11 пD86еде=K тDе5о64=8O к E8Eте<=о<у пDо7D4<<=о<у о5еEпеGе=8N EеD6еD4 8 
=4EтDо9ке EеD6еD4. 
 

&45л8F4 11 

 

�4D4<етD �=4Gе=8е 

ОпеD4F8о==4O E8Eте<4 Windows 2008 Server E поEлед=8<8 
О5=о6ле=8O<8 

�4D4<етD �=4Gе=8е 

Web EеD6еD IIS 6.0+ 

�оддеD6864е<Kе пDотоколK http 

�оддеD6к4 https =е тDе5уетEO 

�оддеD6к4 ftp =е тDе5уетEO 

�уте=т8D8к4F8O 8 46тоD874F8O 
полL7о64теле9 

=ет 

�=о=8<=K9 доEтуп д4 

�=еH=89 Eт4т8GеEк89 IP 4дDеE д4 

!еD6еD !'�� =ет 

 

&Dе5о64=8O к <4теD84лL=о<у оE=4Iе=8N 

 

�4 Dе78о=4лL=о<, <у=8F8п4лL=о< уDо6=OE 8 уDо6=е о5D47о64телL=KE оD74=874F89 дол6=о 
5KтL под7ото6ле=о =ео5Eод8<ое кол8GеEт6о 5у<478 DоD<4т4 A4, опDеделOе<ое 87 D4EGет4 =е 
<е=ее 4 л8Eто6 =4 к46до7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) (пD8 Mто< кол8GеEт6о 
л8Eто6 =ео5Eод8<о у6ел8G8тL 6 2 D474, еEл8 =4 пD8=теDе 6о7<о6=4 толLко од=оEтоDо==OO пеG4тL) 
8 =е <е=ее 3 л8Eто6 длO коп8Dо64=8O 5л4=к4 Dе78EтD4F88 8 5л4=ко6 74п8E8 (длO оEуIеEт6ле=8O 
пDо6еDк8 8 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). &4к6е =ео5Eод8<о пDедуE<отDетL 
Dе7еD6=ое кол8GеEт6о л8Eто6 =4 EлуG49 поDG8 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е 
=4 EлуG49 6Kд4G8 еIе од=о7о 5л4=к4 74п8E8 допол=8телL=о (д4лее - допол=8телL=K9 5л4=к 
74п8E8) по 74пDоEу уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

Коп8Dо64=8е 5л4=ко6 74п8E8 8то7о6о7о EоG8=е=8O (87ло6е=8O) пD8 =еE64тке D4EпеG4т4==KE 
5л4=ко6 74п8E8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 <еEт4E пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 74пDеIе=о, т4к к4к 6Eе 5л4=к8 8<еNт у=8к4лL=K9 код D45отK 8 D4EпеG4тK64NтEO 
поEDедEт6о< EпеF84л878Dо64==о7о пDо7D4<<=о7о о5еEпеGе=8O. 

� FелOE оEуIеEт6ле=8O пDо6еDк8 8 оFе=864=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) ко<8EE88 
по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=KE оD74=874F8OE о5еEпеG864NтEO 



=ео5Eод8<K<8 теE=8GеEк8<8 EDедEт64<8 (кEеDокE, Eк4=еD, ко<пLNтеD E 6о7<о6=оEтLN 6KEод4 6 
EетL "�=теD=ет" 8 дD.). 
 

 

 

 

 

�D8ло6е=8е N 2 

к п8EL<у  оEо5D=4д7оD4 

от 14.10.2024 N 04-323 

 

� ���Л� 

���ОЛ����/ �Л��КО� �&О�О�О�О !ОЧ�����/ (��ЛО����/) 
� 2024/25 'Ч���О� �О�' 

 

1. О5I4O G4EтL 

 

�4EтоOI8е пD468л4 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) пDед=47=4Gе=K 
длO: 

уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=KE 
оD74=874F8OE 8 (8л8) Gле=о6 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
опDеделе==о9 оD74=4<8 8Eпол=8телL=о9 6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88, 
оEуIеEт6лONI8<8 7оEуд4DEт6е==ое упD46ле=8е 6 EDеDе о5D47о64=8O (О��) (д4лее 6<еEте - 

ко<8EE8O по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

MкEпеDто6 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 о5D47о64телL=KE 
оD74=874F8OE 8 (8л8) MкEпеDто6 ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O), 
опDеделе==о9 О�� (д4лее 6<еEте - ко<8EE8O по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�л4=к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEтоOт 87 GеD=о-5елKE 5л4=ко6 Dе78EтD4F88, 
5л4=ко6 74п8E8, допол=8телL=KE 5л4=ко6 74п8E8 DоD<4т4 A4. 

'G4Eт=8к8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6Kпол=ONт 8то7о6ое EоG8=е=8е (87ло6е=8е) =4 
5л4=к4E 74п8E8 8 допол=8телL=KE 5л4=к4E 74п8E8 DоD<4т4 A4. 

�D8 74пол=е=88 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о тоG=о Eо5лNд4тL 
=4EтоOI8е пD468л4, т4к к4к 8=DоD<4F8O, 6=еEе==4O 6 5л4=к8, Eк4=8DуетEO 8 о5D454тK64етEO E 
8EполL7о64=8е< EпеF84л878Dо64==KE 4пп4D4т=о-пDо7D4<<=KE EDедEт6. 
 

2. ОE=о6=Kе пD468л4 74пол=е=8O 5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

�Eе 5л4=к8 EоG8=е=8O (87ло6е=8O) 74пол=ONтEO 7еле6K<8 8л8 к4п8ллOD=K<8 DуGк4<8 E 
GеD=8л4<8 GеD=о7о F6ет4. 

'G4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е= 87о5D464тL к46дуN F8DDу 8 5ук6у 6о 
6EеE 74пол=Oе<KE полOE 5л4=к4 Dе78EтD4F88 8 6еDE=е9 G4Eт8 5л4=к4 74п8E8 (допол=8телL=о7о 
5л4=к4 74п8E8), тI4телL=о коп8DуO о5D47еF ее =4п8E4=8O 87 EтDок8 E о5D47F4<8 =4п8E4=8O 
E8<6оло6, D4Eполо6е==о9 6 6еDE=е9 G4Eт8 5л4=к4 Dе78EтD4F88. �е5Dе6=ое =4п8E4=8е E8<6оло6 
<о6ет пD86еEт8 к то<у, Gто пD8 46то<4т878Dо64==о9 о5D45отке E8<6ол <о6ет 5KтL D4Eпо7=4= 
=епD468лL=о. 

К46дое поле 6 5л4=к4E 74пол=OетEO, =4G8=4O E пеD6о9 по78F88 (6 то< G8Eле 8 полO длO 



74=еEе=8O D4<8л88, 8<е=8 8 отGеEт64 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�Eл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) =е 8<еет 8=DоD<4F88 длO 74пол=е=8O 
к4ко7о-то ко=кDет=о7о полO, о= дол6е= оEт468тL Mто поле пуEтK< (=е дел4тL пDоGеDко6). 

К4те7оD8GеEк8 74пDеI4етEO: 

дел4тL 6 полOE 5л4=ко6, 6=е поле9 5л4=ко6 к4к8е-л85о 74п8E8 8 (8л8) по<етк8, =е 
от=оEOI8еEO к EодеD64=8N поле9 5л4=ко6; 

8EполL7о64тL длO 74пол=е=8O 5л4=ко6 F6ет=Kе DуGк8 6<еEто 7еле6о9 8л8 к4п8ллOD=о9 
DуGк8 E GеD=8л4<8 GеD=о7о F6ет4, к4D4=д4H (д46е длO GеD=о6KE 74п8Eе9 =4 5л4=к4E), EDедEт64 
длO 8EпD46ле=8O 6=еEе==о9 6 5л4=к8 8=DоD<4F88 (коDDект8DуNIуN 68дкоEтL, л4Eт8к 8 дD.). 
 

3. �4пол=е=8е 5л4=к4 Dе78EтD4F88 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

 

 

 8E. 1. �л4=к Dе78EтD4F88 

 

�л4=к Dе78EтD4F88 (D8E. 1) EоEто8т 87 тDеE G4Eте9: 6еDE=е9, EDед=е9 8 =86=е9. 
 



 

 

 8E. 2. �еDE=OO G4EтL 5л4=к4 Dе78EтD4F88 

 

� 6еDE=е9 G4Eт8 5л4=к4 Dе78EтD4F88 (D8E. 2) D4Eполо6е=K: 

6еDт8к4лL=K9 8 7оD87о=т4лL=K9 HтD8E-кодK; 

полO длO Dукоп8E=о7о 74=еEе=8O 8=DоD<4F88; 

EтDок4 E о5D47F4<8 =4п8E4=8O E8<6оло6. 

�о ук474=8N Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8ко< 
8то7о6о7о EоG8=е=8O (87ло6е=8O) 74пол=ONтEO 6Eе полO 6еDE=е9 G4Eт8 5л4=к4 Dе78EтD4F88 (E<. 
т45л. 1). 

�оле "Кол8GеEт6о 5л4=ко6 74п8E8" 74пол=OетEO Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) по 746еDHе=88 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 пD8EутEт688 уG4Eт=8к4 
8то7о6о7о EоG8=е=8O (87ло6е=8O) (6 ук474==ое поле 6п8EK64етEO то кол8GеEт6о 5л4=ко6 74п8E8, 
6клNG4O допол=8телL=Kе 5л4=к8 74п8E8 (6 EлуG4е еEл8 т4к8е 6Kд464л8EL по 74пDоEу уG4Eт=8к4), 
котоDое 5Kло 6Kд4=о уG4Eт=8ку 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 

�олO, 74пол=Oе<Kе 
уG4Eт=8ко< 

'к474=8O по 74пол=е=8N 

Код Dе78о=4 

Код Eу5Jект4  оEE89Eко9 $едеD4F88 6 Eоот6етEт688 E 
код8Dо6ко9 DедеD4лL=о7о EпD46оG=8к4 Eу5Jекто6  оEE89Eко9 
$едеD4F88 

Код о5D47о64телL=о9 
оD74=874F88 

Код о5D47о64телL=о9 оD74=874F88, 6 котоDо9 о5уG4етEO 
уG4Eт=8к, 6 Eоот6етEт688 E код8Dо6ко9, пD8=Oто9 6 Eу5Jекте 
 оEE89Eко9 $едеD4F88 (уG4Eт=8к8 8то7о6о7о EоG8=е=8O, 
уG4Eт6уNI8е 6 EоG8=е=88 по 6ел4=8N, 6п8EK64Nт код 
о5D47о64телL=о9 оD74=874F88, 6 котоDо9 т4ко9 уG4Eт=8к 
полуG8л у6едо<ле=8е =4 8то7о6ое EоG8=е=8е) 

Кл4EE: =о<еD, 5ук64 

�=DоD<4F8O о кл4EEе, 6 котоDо< о5уG4етEO 6KпуEк=8к 
(уG4Eт=8к8 8то7о6о7о EоG8=е=8O, уG4Eт6уNI8е 6 EоG8=е=88 по 
6ел4=8N, ук474==Kе полO =е 74пол=ONт) 

�еEто пDо6еде=8O 
Код о5D47о64телL=о9 оD74=874F88, 6 котоDо9 уG4Eт=8к п8Hет 
8то7о6ое EоG8=е=8е (87ло6е=8е) 

�о<еD к458=ет4 �о<еD уGе5=о7о к458=ет4, 6 котоDо< пDоEод8т 8то7о6ое 



EоG8=е=8е (87ло6е=8е) 

�4т4 пDо6еде=8O �4т4 пDо6еде=8O EоG8=е=8O (87ло6е=8O) 

Код 68д4 D45отK 20 - EоG8=е=8е, 21 - 87ло6е=8е 

�48<е=о64=8е 68д4 D45отK 'к47K64етEO 68д D45отK (EоG8=е=8е 8л8 87ло6е=8е) 

�о<еD те<K 'к47K64етEO 6 Eоот6етEт688 E 6K5D4==о9 те<о9 

 

&45л8F4 1. 'к474=8е по 74пол=е=8N поле9 6еDE=е9 G4Eт8 

5л4=к4 Dе78EтD4F88 

 

�оле "Код D45отK" 74пол=OетEO 46то<4т878Dо64==о (кDо<е допол=8телL=KE 5л4=ко6 
74п8E8). 

� EDед=е9 G4Eт8 5л4=к4 Dе78EтD4F88 (D8E. 3) D4Eполо6е=K полO длO 74п8E8 E6еде=89 о5 
уG4Eт=8ке 8то7о6о7о EоG8=е=8O (87ло6е=8O). 
 

 

 

 8E. 3. !6еде=8O о5 уG4Eт=8ке 

 

�олO EDед=е9 G4Eт8 5л4=к4 Dе78EтD4F88 74пол=ONтEO уG4Eт=8ко< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) E4<оEтоOтелL=о (E<. т45л. 2). 
 

�олO, E4<оEтоOтелL=о 
74пол=Oе<Kе уG4Eт=8ко< 

'к474=8O по 74пол=е=8N 

$4<8л8O 
�=оE8тEO 8=DоD<4F8O 87 доку<е=т4, удоEто6еDONIе7о 
л8G=оEтL уG4Eт=8к4, 6 Eоот6етEт688 E 74ко=од4телLEт6о< 
 оEE89Eко9 $едеD4F88 

�<O 

ОтGеEт6о 

�оку<е=т 

!еD8O 

�ук6е==Kе 8 F8DDо6Kе 7=4Gе=8O ук47K64NтEO EтDо7о 6 
Eоот6етEт688 E д4==K<8, ук474==K<8 6 доку<е=те, 
удоEто6еDONIе< л8G=оEтL 

�о<еD 

�ук6е==Kе 8 F8DDо6Kе 7=4Gе=8O ук47K64NтEO EтDо7о 6 
Eоот6етEт688 E д4==K<8, ук474==K<8 6 доку<е=те, 
удоEто6еDONIе< л8G=оEтL 

 

&45л8F4 2. 'к474=8O по 74пол=е=8N поле9 "!6еде=8O 



о5 уG4Eт=8ке" 
 

� EDед=е9 G4Eт8 5л4=к4 Dе78EтD4F88 т4к6е D4Eполо6е=4 кD4тк4O 8=EтDукF8O (D8E. 4) по 
74пол=е=8N 5л4=ко6 8 6Kпол=е=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O), 4 т4к6е поле длO подп8E8 
уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O). 'G4Eт=8ку 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
=ео5Eод8<о о7=4ко<8тLEO E Mто9 8=EтDукF8е9 8 поEт468тL E6оN подп8EL 6 Eоот6етEт6уNIе< поле. 
 

 

 

 8E. 4. КD4тк4O 8=EтDукF8O по 74пол=е=8N 5л4=ко6 

 

4. �4пол=е=8е 5л4=ко6 74п8E8 

 

 

 



 8E. 5. Л8Fе64O EтоDо=4 д6уEтоDо==е7о 5л4=к4 74п8E8 

 

 

 

 8E. 6. О5оDот=4O EтоDо=4 д6уEтоDо==е7о 5л4=к4 74п8E8 

 



 

 

 8E. 7. Л8Fе64O EтоDо=4 од=оEтоDо==е7о 5л4=к4 74п8E8 

 

�л4=к8 74п8E8, 6 то< G8Eле 5л4=к8 74п8E8, 6Kд4==Kе допол=8телL=о (допол=8телL=Kе 
5л4=к8 74п8E8), пDед=47=4Gе=K длO =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

�о7<о6=K д64 64D84=т4 пеG4т8 5л4=ко6 74п8E8: од=оEтоDо==89 8 д6уEтоDо==89. 

Ко<плект уG4Eт=8к4 EодеD68т од8= д6уEтоDо==89 5л4=к 74п8E8 пD8 д6уEтоDо==е9 пеG4т8 
8л8 д64 од=оEтоDо==8E 5л4=к4 74п8E8 пD8 од=оEтоDо==е9 пеG4т8. �опуEк4NтEO 8 
GетKDеEEтD4=8G=Kе ко<плектK 5л4=ко6. �о у<олG4=8N 6 пDо7D4<<=о< о5еEпеGе=88 пеG4т4NтEO 
ко<плектK, EодеD64I8е д64 д6уEEтоDо==8E 8л8 GетKDе од=оEтоDо==8E 5л4=к4. 

� 6еDE=е9 G4Eт8 5л4=к4 74п8E8 (D8E. 5) D4Eполо6е=K: 

6еDт8к4лL=K9 8 7оD87о=т4лL=K9 HтD8E-кодK; 

полO длO 74пол=е=8O уG4Eт=8ко< 8то7о6о7о EоG8=е=8O (87ло6е=8O); 

поле "Л8Eт N" 74пол=OетEO Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O); 

поле "Код D45отK" 74пол=OетEO Gле=о< ко<8EE88 =4 допол=8телL=KE 5л4=к4E 74п8E8 (код 



D45отK дол6е= Eо6п4д4тL E кодо< D45отK =4 5л4=ке Dе78EтD4F88). 

�=DоD<4F8O длO 74пол=е=8O поле9 о коде Dе78о=4, коде 68д4 D45отK 8 =48<е=о64=88 68д4 
D45отK, 4 т4к6е =о<еDе те<K дол6=4 5KтL пDоду5л8Dо64=4 E 5л4=к4 Dе78EтD4F88. �оле "$�О 
уG4Eт=8к4" 74пол=OетEO пDоп8ELN. � поле "$�О уG4Eт=8к4" пD8 =еE64тке <еEт4 уG4Eт=8к <о6ет 
6=еEт8 толLко D4<8л8N 8 8=8F84лK. 

� EлуG4е 8EполL7о64=8O д6уEтоDо==е7о 5л4=к4 74п8E8 пD8 =едоEт4тке <еEт4 длO 
оDоD<ле=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 л8Fе6о9 EтоDо=е 5л4=к4 74п8E8 уG4Eт=8к 
8то7о6о7о EоG8=е=8O (87ло6е=8O) <о6ет пDодол68тL 74п8E8 =4 о5оDот=о9 EтоDо=е 5л4=к4 (D8E. 
6), Eдел46 6=87у л8Fе6о9 EтоDо=K 74п8EL "E<отD8 =4 о5оDоте". 

�лO удо5Eт64 6Eе EтD4=8FK 5л4=к4 74п8E8 пDо=у<еDо64=K 8 D47л8=о64=K пу=кт8D=K<8 
л8=8O<8. 

�D8 =едоEт4тке <еEт4 длO оDоD<ле=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 оE=о6=о< 
5л4=ке 74п8E8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) <о6ет пDодол68тL 74п8E8 =4 
допол=8телL=о< 5л4=ке 74п8E8, 6Kд464е<о< Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) по 74пDоEу уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O), 6 EлуG4е, ко7д4 =4 
оE=о6=о< 5л4=ке 74п8E8 (6клNG4O е7о о5оDот=Kе EтоDо=K - 6 EлуG4е д6уEтоDо==е9 пеG4т8 5л4=к4) 
=е оEт4лоEL <еEт4. � EлуG4е 8EполL7о64=8O од=оEтоDо==е7о 5л4=к4 74п8E8 (D8E. 7) пD8 =едоEт4тке 
<еEт4 длO оDоD<ле=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4 5л4=ке 74п8E8 уG4Eт=8к 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) <о6ет пDодол68тL 74п8E8 =4 EледуNIе< 5л4=ке 74п8E8 87 ко<плект4, 4 
пD8 е7о 74пол=е=88 - =4 допол=8телL=о< 5л4=ке 74п8E8. 

�опол=8телL=K9 5л4=к 74п8E8 6Kд4етEO Gле=о< ко<8EE88 по пDо6еде=8N 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) по 74пDоEу уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 EлуG4е =еE64тк8 
<еEт4. 'ле=4< ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6п8E4тL 
код D45отK 6 допол=8телL=K9 5л4=к 74п8E8 (код D45отK дол6е= Eо6п4д4тL E кодо< D45отK =4 
5л4=ке Dе78EтD4F88 8 5л4=ке 74п8E8) 8 74пол=8тL поле "Л8Eт N" (пеD6K<8 л8Eт4<8 O6лONтEO 
л8EтK 87 ко<плект4 5л4=ко6, 6Kд4==KE уG4Eт=8ку). 
 

5. �4пол=е=8е 5л4=к4 Dе78EтD4F88 пD8 пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) 
 

1. �D468л4 74пол=е=8O MкEпеDто< (теE=8GеEк8< EпеF84л8Eто<) =86=е9 G4Eт8 коп88 
(оD878=4л4) 5л4=к4 Dе78EтD4F88 

�86=OO G4EтL 5л4=к4 Dе78EтD4F88 74пол=OетEO 7еле6о9 8л8 к4п8ллOD=о9 DуGко9 E 
GеD=8л4<8 GеD=о7о F6ет4. 

� 5л4=ке Dе78EтD4F88 от<еG4NтEO 7=4ко< "X" клетк8, Eоот6етEт6уNI8е Dе7улLт4т4< 
оFе=864=8O D45отK. �=4к "X" дол6е= 5KтL поEт46ле= Gетко 6=утD8 к64дD4т4. �е5Dе6=ое 
=4п8E4=8е E8<6оло6 <о6ет пD86еEт8 к то<у, Gто пD8 46то<4т878Dо64==о9 о5D45отке E8<6ол 
<о6ет 5KтL =е D4Eпо7=4= 8л8 D4Eпо7=4= =епD468лL=о. 
 

2. �4пол=е=8е полO "&Dе5о64=8е к EоG8=е=8N (87ло6е=8N)" 

�лO к46до7о тDе5о64=8O дол6=о 5KтL 74пол=е=о толLко од=о поле: л85о "74Gет", л85о 
"=е74Gет". 
 

&Dе5о64=8е N 1. "О5Jе< 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 

�Eл8 6 EоG8=е=88 <е=ее 250 Eло6, 4 6 87ло6е=88 <е=ее 150 Eло6 (6 подEGет 6клNG4NтEO 6Eе 
Eло64, 6 то< G8Eле 8 Eлу6е5=Kе), то 6KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 1 8 
"=е74Gет" 74 6EN D45оту 6 Fело< (т4к8е 8то7о6Kе EоG8=е=8O (87ло6е=8O) =е пDо6еDONтEO по 



тDе5о64=8N N 2 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 8 кD8теD8O< 
оFе=864=8O). 

� клетк8 по 6Eе< тDе5о64=8O< (N 1 8 N 2) 8 кD8теD8O< оFе=864=8O 6KEт46лOетEO "=е74Gет". � 
поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO "=е74Gет" (E<. D8E. 8). 

 

&Dе5о64=8е N 2. "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)" 

�то7о6ое EоG8=е=8е (87ло6е=8е) 6Kпол=OетEO E4<оEтоOтелL=о. 

�то7о6ое EоG8=е=8е: =е допуEк4етEO Eп8EK64=8е EоG8=е=8O (DD47<е=то6 EоG8=е=8O) 87 
к4ко7о-л85о 8EтоG=8к4 8л8 6оEпDо876еде=8е по п4<Oт8 Gу6о7о текEт4 (D45от4 дDу7о7о уG4Eт=8к4, 
Gу6о9 текEт, опу5л8ко64==K9 6 5у<46=о< 8 (8л8) MлектDо==о< 68де, 8 дD.). �опуEк4етEO пDO<ое 
8л8 коE6е==ое F8т8Dо64=8е E о5O74телL=о9 EEKлко9 =4 8EтоG=8к (EEKлк4 д4етEO 6 E6о5од=о9 
DоD<е). О5Jе< F8т8Dо64=8O =е дол6е= пDе6KH4тL о5Jе< Eо5Eт6е==о7о текEт4 уG4Eт=8к4. 

�то7о6ое 87ло6е=8е: =е допуEк4етEO Eп8EK64=8е 87ло6е=8O 87 к4ко7о-л85о 8EтоG=8к4 
(D45от4 дDу7о7о уG4Eт=8к4, 8EEод=K9 текEт 8 дD.). 

�Eл8 8то7о6ое EоG8=е=8е (87ло6е=8е) пD87=4=о =еE4<оEтоOтелL=K<, то 6KEт46лOетEO 
"=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 2 8 "=е74Gет" 74 6EN D45оту 6 Fело< (т4к8е 8то7о6Kе 
EоG8=е=8O (87ло6е=8O) =е пDо6еDONтEO по кD8теD8O< оFе=864=8O). 

�KEт46лOетEO "=е74Gет" 74 =е6Kпол=е=8е тDе5о64=8O N 2. � клетк8 по 6Eе< кD8теD8O< 
оFе=864=8O 6KEт46лOетEO "=е74Gет". � поле " е7улLт4т пDо6еDк8 EоG8=е=8O (87ло6е=8O)" Eт468тEO 
"=е74Gет" (E<. D8E. 9). 

 

 

 

 8E. 8. О5л4EтL длO оFе=к8 D45отK 

 



 

 

 8E. 9. О5л4EтL длO оFе=к8 D45отK 

 

�Eл8 8то7о6ое EоG8=е=8е (87ло6е=8е) Eоот6етEт6ует тDе5о64=8N N 1 8 тDе5о64=8N N 2, то 
6KEт46лOетEO "74Gет" 74 6Kпол=е=8е тDе5о64=8O N 1 8 тDе5о64=8O N 2. 'к474==Kе EоG8=е=8O 
(87ло6е=8O) д4лее оFе=864NтEO по кD8теD8O<. 
 

3. �4пол=е=8е полO " е7улLт4тK оFе=864=8O EоG8=е=8O (87ло6е=8O)" 

�лO к46до7о кD8теD8O дол6=о 5KтL 74пол=е=о толLко од=о поле: л85о "74Gет", л85о 
"=е74Gет" (74 8EклNGе=8е< 74пол=е=8O полO " е7улLт4тK оFе=864=8O EоG8=е=8O (87ло6е=8O)" 6 
EлуG4е пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к4, Eд4646Hе7о 8то7о6ое EоG8=е=8е 
(87ло6е=8е) 6 уEт=о9 DоD<е). 

1. �Eл8 74 8то7о6ое EоG8=е=8е (87ло6е=8е) по кD8теD8N N 1 6KEт46ле= "=е74Gет", то 
8то7о6ое EоG8=е=8е (87ло6е=8е) по кD8теD8O< NN 2 - 5 =е пDо6еDOетEO. � клетк8 по 6Eе< 
кD8теD8O< оFе=864=8O 6KEт46лOетEO "=е74Gет". 

2. �Eл8 74 8то7о6ое EоG8=е=8е (87ло6е=8е) по кD8теD8N N 1 6KEт46ле= "74Gет", 4 по 
кD8теD8N N 2 6KEт46ле= "=е74Gет", то 8то7о6ое EоG8=е=8е по кD8теD8O< NN 3 - 5 =е пDо6еDOетEO. 
� клетк8 по кD8теD8O< оFе=864=8O NN 3 - 5 6KEт46лOетEO "=е74Gет". 

3. �о 6EеE оEт4лL=KE EлуG4OE 8то7о6ое EоG8=е=8е (87ло6е=8е) пDо6еDOетEO по 6Eе< пOт8 
кD8теD8O< 8 оFе=864етEO по E8Eте<е "74Gет"/"=е74Gет". 
 



 

 

 8E. 10. О5л4EтL длO оFе=к8 D45отK 

 

�оEле око=G4=8O 74пол=е=8O 5л4=к4 Dе78EтD4F88 от6етEт6е==ое л8Fо Eт468т E6оN подп8EL 6 
EпеF84лL=о от6еде==о< длO Mто7о поле. 
 

6. �4пол=е=8е полO " е7улLт4тK оFе=864=8O EоG8=е=8O (87ло6е=8O)" 6 EлуG4е пDо6еDк8 
8то7о6о7о EоG8=е=8O (87ло6е=8O) уG4Eт=8к4, Eд4646Hе7о 8то7о6ое EоG8=е=8е (87ло6е=8е) 6 
уEт=о9 DоD<е 

 

�то7о6ое EоG8=е=8е (87ло6е=8е) длO л8F E о7D4=8Gе==K<8 6о7<о6=оEтO<8 7доDо6LO, 
дете9-8=64л8до6 8 8=64л8до6 <о6ет по 8E 6ел4=8N 8 пD8 =4л8G88 Eоот6етEт6уNI8E 
<ед8F8=Eк8E пок474=89 пDо6од8тLEO 6 уEт=о9 DоD<е. 

К MкEпеDту ко<8EE88 по пDо6еDке 8то7о6о7о EоG8=е=8O (87ло6е=8O) поEтуп4Nт коп88 
5л4=ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) от уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) E 
6=еEе==о9 6 5л4=к Dе78EтD4F88 от<етко9 "X" 6 поле "� уEт=о9 DоD<е", подт6еD6де==о9 подп8ELN 
Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O). 

� т4ко< EлуG4е оFе=864=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) ук474==о9 к4те7оD88 
уG4Eт=8ко6 пDо6од8тEO по д6у< уEт4=о6ле==K< тDе5о64=8O< "О5Jе< 8то7о6о7о EоG8=е=8O 
(87ло6е=8O)" 8 "!4<оEтоOтелL=оEтL =4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O)". �то7о6ое 
EоG8=е=8е (87ло6е=8е), Eоот6етEт6уNIее уEт4=о6ле==K< тDе5о64=8O<, оFе=864етEO по 
кD8теD8O<. �лO полуGе=8O "74Gет4" 74 8то7о6ое EоG8=е=8е (87ло6е=8е) =ео5Eод8<о полуG8тL 
"74Gет" по кD8теD8O< N 1 8 N 2, 4 т4к6е допол=8телL=о "74Gет" по од=о<у 87 кD8теD8е6 NN 3 - 4. 

�то7о6ое EоG8=е=8е (87ло6е=8е) 6 уEт=о9 DоD<е по кD8теD8N N 5 =е пDо6еDOетEO 8 от<етк8 6 
Eоот6етEт6уNIее поле "КD8теD89 5" =е 6=оEOтEO (оEт4NтEO пуEтK<8) (E<. D8E. 11). 

�оEле око=G4=8O 74пол=е=8O 5л4=к4 Dе78EтD4F88 от6етEт6е==ое л8Fо Eт468т E6оN подп8EL 6 
EпеF84лL=о от6еде==о< длO Mто7о поле. 
 



 

 

 8E. 11. О5л4EтL длO оFе=к8 D45отK EоG8=е=8O (87ло6е=8O) 
6 уEт=о9 DоD<е 

 

7. �4пол=е=8е поле9 5л4=к4 Dе78EтD4F88, 6 EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) по EоEтоO=8N 7доDо6LO 8л8 дDу78< о5Jект86=K< пD8G8=4< =е <о6ет 746еDH8тL 
=4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

 

� EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) по EоEтоO=8N 7доDо6LO 8л8 дDу78< 
о5Jект86=K< пD8G8=4< =е <о6ет 746еDH8тL =4п8E4=8е 8то7о6о7о EоG8=е=8O (87ло6е=8O), о= 
<о6ет пок8=утL <еEто пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O). 'ле=K ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лONт "�кт о доEDоG=о< 746еDHе=88 
=4п8E4=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) по у6468телL=K< пD8G8=4<" (DоD<4 �!-08), 6=оEOт 
Eоот6етEт6уNIуN от<етку 6 DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) 6 уGе5=о< к458=ете ОО (<еEте пDо6еде=8O)" (уG4Eт=8к 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) дол6е= поEт468тL E6оN подп8EL 6 ук474==о9 DоD<е). � 5л4=ке Dе78EтD4F88 
ук474==о7о уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6=еEт8 от<етку "X" 6 поле 

"�е 74ко=G8л" длO уGет4 пD8 оD74=874F88 пDо6еDк8, 4 т4к6е длO поEледуNIе7о допуEк4 
ук474==KE уG4Eт=8ко6 к по6тоD=о9 Eд4Gе 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 допол=8телL=Kе 
EDок8. �=еEе=8е от<етк8 6 поле "�е 74ко=G8л" подт6еD6д4етEO подп8ELN Gле=4 ко<8EE88 по 
пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) (E<. D8E. 12). 
 



 

 

 8E. 12. �4пол=е=8е поле9 =86=е9 G4Eт8 5л4=к4 Dе78EтD4F88 

(уG4Eт=8к =е 74ко=G8л =4п8E4=8е EоG8=е=8O (87ло6е=8O) 
по у6468телL=K< пD8G8=4<) 

 

8. �4пол=е=8е поле9 5л4=к4 Dе78EтD4F88, 6 EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) уд4ле= E 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

 

� EлуG4е еEл8 уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) =4DуH8л уEт4=о6ле==Kе 
тDе5о64=8O, 87ло6е==Kе 6 пу=кте 28 �оDOдк4 пDо6еде=8O 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 
по о5D47о64телL=K< пDо7D4<<4< EDед=е7о о5Iе7о о5D47о64=8O (пD8к47 �8=пDоE6еIе=8O 
 оEE88 8  оEо5D=4д7оD4 от 4 4пDелO 2023 7. N 232/551), о= уд4лOетEO E 8то7о6о7о EоG8=е=8O 
(87ло6е=8O). 'ле= ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O (87ло6е=8O) EоEт46лOет "�кт о5 
уд4ле=88 уG4Eт=8к4 8то7о6о7о EоG8=е=8O (87ло6е=8O)" (DоD<4 �!-09), 6=оE8т Eоот6етEт6уNIуN 
от<етку 6 DоD<у �!-05 "�едо<оEтL пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< 
к458=ете ОО (<еEте пDо6еде=8O)" (уG4Eт=8к 8то7о6о7о EоG8=е=8O (87ло6е=8O) дол6е= поEт468тL 
E6оN подп8EL 6 ук474==о9 DоD<е). � 5л4=ке Dе78EтD4F88 ук474==о7о уG4Eт=8к4 8то7о6о7о 
EоG8=е=8O (87ло6е=8O) =ео5Eод8<о 6=еEт8 от<етку "X" 6 поле "'д4ле=". �=еEе=8е от<етк8 6 поле 

"'д4ле=" подт6еD6д4етEO подп8ELN Gле=4 ко<8EE88 по пDо6еде=8N 8то7о6о7о EоG8=е=8O 
(87ло6е=8O) (E<. D8E. 13). 
 

https://login.consultant.ru/link/?req=doc&base=LAW&n=447000&dst=100192


 

 

 8E. 13. �4пол=е=8е поле9 =86=е9 G4Eт8 5л4=к4 Dе78EтD4F88 

(уд4ле=8е E Mк74<е=4) 
 

 

 

 

 

!п8Eк8 D4EпDеделе=8O уG4Eт=8ко6 

по ОО (<еEт4< пDо6еде=8O) Код DоD<K: �!-01 

 

1т4п: 

�4т4 пDо6еде=8O: 

�8д D45отK: 

ОтGет EDоD<8Dо64=: 
 

$�О уG4Eт=8к4 Кл4EE Код ОО 
(<еEт4 

пDо6еде=8O) 

�48<е=о64=8е ОО 
(<еEт4 пDо6еде=8O) 

�дDеE ОО (<еEт4 
пDо6еде=8O) 

1 2 3 4 5 

     

     

     

     

     

     



     

     

     

     

     

     

     

     

     

     

     

 

 

 

 

 

�D8кDепле=8е ОО Dе78EтD4F88 к ОО пDо6еде=8O 

(<еEту пDо6еде=8O) Код DоD<K: �!-02 

 

1т4п: 

�4т4 пDо6еде=8O: 

�8д D45отK: 

ОтGет EDоD<8Dо64=: 
 

I. �D8кDепле==Kе ОО 

 

Код �!' 

ОО пDо6еде=8O 

(<еEт4 пDо6еде=8O) 
ОО Dе78EтD4F88 

�48<е=о64=8е <*> �4Dе7
8EтD8
Dо64
=о 

уG4Eт
=8ко
6 

 4EпD
едел
е=о 
уG4Eт
=8ко
6 

 4EпDеде
ле=о 6 
дDу78е 
ОО 

пDо6еде=
8O (<еEт4 
пDо6еде=
8O) <**> 

1 2 3 4 5 

Код �!' �48<е=о64=8е �!' 

Код ОО пDо6еде=8O �48<е=о64=8е ОО пDо6еде=8O    

Код ОО Dе78EтD4F88 1 �48<е=о64=8е ОО Dе78EтD4F88 1    



Код ОО Dе78EтD4F88 2 �48<е=о64=8е ОО Dе78EтD4F88 2    

 8 т.д.    

�то7о по ОО пDо6еде=8O (<еEто пDо6еде=8O):    

�то7о по �!':    

 

-------------------------------- 

<*> 6 отGете 6K6одOтEO ОО пDо6еде=8O (<еEто пDо6еде=8O), подG8=е==Kе �!'/�&� 8 ОО, 
уG4Eт=8к8 котоDKE D4EпDеделе=K 6 Mт8 ОО пDо6еде=8O (<еEт4 пDо6еде=8O). � о5Iе< EлуG4е о=8 
<о7ут 5KтL 87 дDу7о7о �!'/�&�; 

<**> кол8GеEт6о уG4Eт=8ко6, D4EпDеделе==KE 6 дDу78е ОО пDо6еде=8O (<еEт4 пDо6еде=8O), 
=е Eо6п4д4NI8е E "6KHеEтоOI8<" 6 отGете ОО пDо6еде=8O (<еEт4 пDо6еде=8O). 
 

 

 

 

 

(Dе78
о=) 

 (код 
�!') 

 (код ОО (<еEт4 
пDо6еде=8O) 

 68д D45отK (д4т4 пDо6.: G8Eло-

<еEOF-7од) 

                         

 

!п8Eок 

уG4Eт=8ко6 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 ОО (<еEте пDо6еде=8O) 
�!- 04 

(код DоD<K) 

(=48<е=о64=8е DоD<K)  

 

(68д D45отK 8 д4т4 пDо6еде=8O) 

 

(код-=48<е=о64=8е ОО Dе78EтD4F88) 

 

(код-=48<е=о64=8е ОО пDо6еде=8O (<еEт4 пDо6еде=8O) 

 

N п/п $�О уG4Eт=8к4 �о<еD 
уGе5=о7о 
к458=ет4 

КЛ�!!: 11� 

1   

2   



3   

4   

5   

6   

КЛ�!!: 11� 

1   

2   

3   

4   

КЛ�!!: 11� 

1   

2   

3   

4   

5   

�то7о уG4Eт=8ко6 6 ОО (<еEте пDо6еде=8O): 15 

 

 уко6од8телL ОО (��!)     

 / $�О /  

(подп8EL)  ($�О)   

 

 

 

 

 

(Dе78
о=) 

 (код 
�!') 

 (код ОО (<еEт4 
пDо6еде=8O) 

 (68д D45отK) (д4т4 пDо6.: G8Eло-

<еEOF-7од) 

                         

 

�едо<оEтL 

пDо6еде=8O 8то7о6о7о EоG8=е=8O (87ло6е=8O) 6 уGе5=о< к458=ете ОО 
(<еEте пDо6еде=8O) 

�!- 05 

(код DоD<K) 

(=48<е=о64=8е отGет4)  

 



N 

п/п 

'G4Eт=8к8 6 уGе5=о< к458=ете ОО (<еEте 
пDо6еде=8O) 

'д4ле= 
E 

8то7о6о
7о 

EоG8=е=
8O 

(87ло6е
=8O) 

�е 74ко=G8л 
=4п8E4=8е 
8то7о6о7о 
EоG8=е=8O 
(87ло6е=8O) 

�4теD84лK, 
полуGе==Kе от 

уG4Eт=8к4 

�о<еD 
те<K 
(текEт4) 
8то7о6о7

о 
EоG8=е=

8O 
(87ло6е
=8O) 

�одп8
EL 

уG4Eт=
8к4 

�л4=к 
Dе78Eт
D4F88 

�л4=к8 
74п8E8 

$4<8л8O �<O 
ОтGеEт6о 

�оку<е=т Кл4E
E 

!д464л 
6 

уEт=о9 
DоD<е 
(О��) 

!еD
8O 

�о<
еD 

1 2 3 4 5 6 7 8 9 10 11 12 

1            

2            

3            

4            

5            

6            

7            

8            

9            

10            

11            

12            



13            

14            

15            

16            

17            

18            

19            

20            

21            

22            

23            

24            

25            

26            

27            

28            

29            

30            

31            



32            

33            

34            

35            

�то7о уG4Eт=8ко6 6 
уGе5=о< к458=ете:  

 

 
 +?9AO �B@<EE<< "" (@9EF4 CDB6989A<O) 
 
____________________/______________/ 
 
____________________/______________/ 
        ((�")          (#B8C<EP) 



 

 

 

 

 

(Dе78
о=) 

 (код 
�!') 

 (код ОО (<еEт4 
пDо6еде=8O) 

 68д D45отK (д4т4 пDо6.: G8Eло-

<еEOF-7од) 

                         

 

�Dотокол пDо6еDк8 8то7о6о7о EоG8=е=8O (87ло6е=8O) 

�!- 06 

(код DоD<K) 
(=48<е=о64=8е DоD<K) 

 



N 

п/п 

$�О 
уG4Eт=8

к4 

!еD8O 
доку<е
=т4 

�о<еD 
доку<е
=т4 

Кл4EE !д464л 
6 

уEт=о9 
DоD<е 

<*> 

&Dе5о64=8O к 
EоG8=е=8N 

(87ло6е=8N) <**> 

 е7улLт4тK оFе=864=8O <***>  е7улLт4тK 
пDо6еDк8 

1 2 3 4 5 6 7 8 9 

1    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

2    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

3    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

4    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

5    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      



6    

   1 2 КD8теD88 1 2 4 5 6 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

7    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

8    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

9    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 

  �4Gет   �4Gет      
  

  �е74Gет   �е74Gет      

10    

   1 2 КD8теD88 1 2 3 4 5 �4Gет �е74Gет 
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